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BFoPUBTERSSERN USB. LAN 5 GPIB i50, H44 NI-VISA FIiZ2FiES, mfeissl
258, EF LAN 50, SDG ¥ VXI-11. Sockets #1 Telnet @SN . AP NB T U@L SDG

RINRHERB LA ERNUENZBEERE, BENENEERETESR,

1.1 BINiEE

1.1.1 NI-VISA iR%

EHRZH, EWRIERZE NI-VISA REHI R,

NI-VISA AT EN5REZ EEEOEEE, NREEHHER VISA E6: REIRIIE
1731%45 (Run-Time Engine). 2EEREE NI &EIEENA NI MAX TE, Htb NI MAX 2B F 4
RENAPRE. SR NIMAX SBEEH, ERLENRAFERES. E731%MK (Run-Time

Engine) B2— MURERENIXMY, EEXEATIZREH.

{REJLATE NI EM_E T EH&HE NI-VISA BIT5|ZSHZER. SINZRSBEREE,
BRETILSELZE NI-VISA (7RHIER NI-VISAS.4 ZEAR):
a. THEERAN NI-VISA (EFZE1T512R)

b. W5 visa540 full.exe, BHEIHEEMT:

¥WinZip Self-Extractor — visabd0 full... [X|

Ta unzip all fles in vizab40_full exe to the specified

! Unzi
folder prazz the Unzip buttan. =

Fun Winip

Unzip to folder:

ruments D ownloadsiMI A 5445. ¢ Browse... ] Cloze

Owenarite files without prompting About
YWhen done unzipping opern:

Azehip exe Help

c. mii Unzip BEXH, SBETKE, REEFBENNT, HROHTENFTERRNET
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Frameworkd, NELREISIESEHIIZZ NET Framework4,

Y NI-¥ISA 5.4

ni.com/visa

NI-VISA'

National Instruments VISA Software

Exit all applications before running this installer
Dizzbling wirus scanning applications may improve installation speed.
This program is subject to the accompanying License Agreements).

Matiznal Instruments Corparation is an authorized distributar of Microsoft Silveright,

yNATIONAL

13952013 Mational Instruments. All rights reserved. INSTRUMENTS

T [ Lancel

d. NI-VISA ZEXEEN LE/R, KR Next FIRREKERE,

WY FI-VISA 5.1

Destination Directory NATIONAL
Selectthe primary installation directory. wusrlwmmr

Mational Inslruments sottware will be installed n & subtolder of the following, | o install into &
different folder, click the Browse button and select another.

Destination Directary

C-\Progran Files\Hational Instrumentst | [ Browse... ]

<<Back || New>> H Cancel ]

e. IRBEBLERRE, BIAKRA“C:\Program Files\National Instruments\”, {Rt T LB L2

2. =i Next, XIEEN TEFAR.

10
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Y NI-¥ISA 5.4

Features
Select the features to install.

== v| NI-+54 5.4

= ~| Run Time Support

=1 ~| Configuration Suppart

=l =| Development Suppart

=) ~| Remote Server

¥ _+| Real-Time Support

¥+ Windows Mobile/CE Support
#_ | NI natrument /0 Assistant 2.8.2
1= ~| NI System Configuration 5.5.0

= =| NI ieasurement & Automation Explarer 5.5
= =| MI-1588 Configuration 1.2.0

< | >
Directory for MI-W155 5.4

Mational Instruments 4154 driver version 5.4, VIS4
provides an AP| for contralling V=1, GPIB, Serial, PX1

and olher types of instruments.

0 ap <p

Thiz feature will be instaled on te local hard drive.

C:hProgram Files\IVI FoundationhVISAY

| [ Browse

Restore Feature Defau\ts] [Qisk Cost] [

<<Back | Nes>> | [ Lancel

J

A Next FR, TEVFOIHMNITIERET, %324 accept the above 2 License Agreement(s).”

F = Next, MIFEMTEER:

WY FI-VISA 6.1

Start Installation
Fieview the following summary before continuing.

NATIONAL
WNSI'III.IMENTS'

Adding or Changing
+ HIVISA G 4
Fiun Time Support
Configuration Support
Development Support
Fiemate Server
# MI System Corfiguration 5.5.0
+ NI Measurement & Automation Explorer 5.5
= MI-1588 Configuration 1.3.0

Click the Mext buttcn ta begin installation. Click the Back button to change the installation settirgs.

Save File... ] [

<¢Back | Nemt»» | [ Cancel

i Next FHIAR KR

11
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Y NI-¥ISA 5.4

Installation Complete

Installation complete! You might be prompted te reboot your machime.

The best way to explore the new features is to use the VISA Interactive Control to spen

sessions to the new resource types and look at available operations, everts, an
atiributes.

You can use Measurement and Autsmation Explorer to configure the settings for NI-VISA

<{ Back

Finizh

1.1.2 EENB

RIFRAESRINE, RE/ERBAEREBEY USB. LAN inO5; GPIB (ikf) #&OE

R8N,
£/ USB B REMERRF L4258 USB Device i ORI HHEHLE) USBHost i [HEERER,

BIFRNHENELRD, FIFESEE, SEEEREE "RELEK" RE, HEDNLRKEEER, W0
TEFR:

Installing device...
Please wait while Setup installs necessary files on your system, This may take
0" several minutes,

FHRRTM, REHTT—F.
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SDG R4 F M

1.2 iEEEHeIsEl

1.2.1 HBAPEEXERF
AP ThEIHENL L SCPI B TMAERMSHERENAER, HXNS, 550 "FET

B1” PR,

1.2.2 i&iF NI-MAX k3% SCPI ®©%
NI-MAX 2/ NI ASRIZM4FHEF. B VXI. LAN, USB. GPIB fl&{T@ESI2MtE Ay

iEREEREIEO. AP TLUEE NI-MAX k1% SCPI G2z ZFIE SR,

1.2.3 j&id Telnet &i%X SCPI &%

Telnet $2{t—PiET LAN BO5ESREBMEMNA. Telnet MM ENEIESELE
SCPI &<, ZAREMTEY USB 5ESRERS. RENESERSREN: —RRERE—1
<, Windows IRERZERS T THHREOER Telnet TP,

TBINT:

1. EHENEE, SEFEREER-IEG R

2. EHUIVFIHED, HA Telnet

3. I®RT Enter#, EH¥H Telnet ERE

e+ Command Prompt - telnet

Yelcome to Microsoft Telnet Glient
Ezcape Character iz ' CIRL+1

Microsoft Telnet

4. 7E Telnet ®5S1T, #A:
open XXX. XXX.XXX. XXX 5024
Hop XXX XXX XXX XXX 2518 &H IP #iik; 5024 RixO, BERNERESERFTEEM
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B A -

Welcome to the SCPI instrument *Siglent SDG2122%°

8=
B

5. f& ">>" RRFE, WA SCPI %L IDN?, ZHmIBREATE. NRES. FIS
MEHRAS .

eI
B

ogies,$DG2122X, SDG2AAAR201701 .2 .81 .81 . 23R1

6. [EBRT Ctrl+] #48EBH SCPI &iF.,

7. BEEERFEEAN quit X Telnet B Ok X AIREHIEEFIR Y Telnet,

1.2.4 &3 Socket &ix SCPI

Socket £ T UIEAZZEMENE R TEE LAN is042%] SDG RF=m. B LU HFHE

MERE.

SOCKET i#tafit IP itbit+iw OIS
IP stk SDG IP #tahit

i M5 5025

HEXRNE, BERE 52T “Sockets NARAE" .
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2 SCPIEBESEN

21 HBHXTSNEN

ABF AR BRI NTREHSONENES. A6 SNEENTUERERTRRE
THAT.

AXRNENMLAEBENREMERNG LT AL — LT, £ "GLiEE" f &l
R P, AXBETZHSHEBINEHEE. SCPIHLANTANERHS. EHAHONE

i), GIiR#E SCPI & LEEEIBERS (? ) KRHEIERE, HIMRBER,

2.2 &R
ERR DL THTH AN EERE, ETREGONERIEANETR, HPHSLMERA/N

EFHFMMNAEFHIRELRNEEFN, EEANBERT, EREEUEBNIERLT,

2.3 H%

AFMHI L GHSIEG ] LAATE SDGxxxx RIINRE/MERRFELESE L,

24 @wmeEs
THESRESLTHGS:

< AESEIATAMNNZER, HbhHoAmipER: SR ENaS55.

SEHRESFS, EATHROMUMANSUFNER, SUFNHERZERTERGSP

]]Il:l

ST SHEEEAEE,
{} TESIEToIHERNSH, ELERE—ISH
[1 FRSEE8TIER,

BRSEREEZMMNANTIUESE SR
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25 SHPREHFXR

7L B FRGR DLIERNER
*IDN *IDN 2% FRENRE id
OPC OPC _ REFRMEMRESEFFSE (ESR)
&y OPC {i,
*RST *RST 25 BRBINRE,
CHDR COMM_HEADER 55 REFIREGHHE
OUTP OUTPUT 55 REFIREE BT,
BSWV BASIC_WAVE =5 REIRRENEFSH,
MDWV MODULATEWAVE 5] REWREBH S,
SWWV SWEEPWAVE 55 RESIRIAMSEH,
BTWV BURSTWAVE 55 REFIREEK T BINEESH
PACP PARACOPY &5 REHMNBESFIR S —
ARWV ARBWAVE 6 REETIREER
SYNC SYNC 55 BEFRDELSES
NBFM NUMBER_FORMAT AR REFIREEHEE T
LAGG LANGUAGE AR RESKRNES
SCFG SYS_CFG 25 R B IRE LRSS
BUZZ BUZZER AR REWIRIE GRS
SCsV SCREEN_SAVE AR RENRMEFSFRIPRES
ROSC ROSCILLATOR =5 & B o RE T RARES
FCNT FREQCOUNTER (5] RENRBURR TS
INVT INVERT (5] RE IR AT E fR
COuUP COUPLING =5 REFIRMBERSSH
VOLTPRT VOLTPRT AR REFRBIEFRIPERS
STL STORELIST 55 H R B F IR T
WVDT WVDT =5 8 B HIRBUE RO #UiR
VKEY VIRTUALKEY 245 REENE
SYST.COMM:LAN: | SYSTEM:COMMUNICA | .. BENEIURE IP Mt

IPAD

TE:LAN:IPADDRESS
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y 5L i iR FES w/EANER
SYST:COMM:LAN: | SYSTEM:COMMUNICA N———
SMAS TE:LAN:SMASK A% IREAIREURE T W88
SYST:COMM:LAN: | SYSTEM:COMMUNICA N———
GAT TE:LAN:GATEWAY A% IREIRAULE MK
RE W IREUCEEGR, (NEXRBT
SRATE SAMPLERATE =5
(TrueArb) B ™EHR,

HARM HARMonic =5 BREFHREUERER
CMBN CoMBiNe =5 BEHREEFEEHER
MODE MODE == ’REHREUE BB AAER
IQ:CENT IQ:CENTerfreq s REIIREL 1/Q B H B O
IQ:SAMP IQ:SAMPlerate =5 8B I/Q FHER
IQ:SYMB IQ:SYMBolrate =5 BEIQ/FER
IQ:AMPL IQ:AMPLitude F5 BEIQIE
IQ:IQAD:GAIN gA‘IﬁADJ“Stme”t =2 EEBEARS TR 15 Q

. . IQ:IQADjustment: - VA | v v e o
IQ:IQAD:IOFF IOF Fset By BAE I EENRE

. . IQ:IQADjustment - VE S Y Y e (i
IQ:IQAD:QOFF - QOFFset =5 BE QEENRE
IQ:IQAD:QSK IQ:IQADjustment: s BT AR/ Q ML RIS

' ' QSKew X2 | HEKE QZENEMNA
IQ:TRIG:SOUR IQ:TRIGger:SOURce =5 RE 1/Q AR
IQ:WAVE:BUIL |Q:WAVEIload:BUILtin == MABRYRIER 1/Q K

_ , IQ:WAVEload: - P 2 1A ST
IQ:WAVE:USER USERstored =5 MAPRERERIIFRERE 1/Q K
:1Q: Frequency :IQ:Frequency S srmE st ST RESR
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3 Be5EE

3.1 |EEE488.2 @G ONE

IEEE tREEXHEABLER TERRENERAEEMATEREME, XERSEEMN ™ F

AURBOULRTREN 3T,

3.1.1 *IDN

i

EREE

i A& =X

=l

“IND?ZATERREN d, WNES &, &, FIS. RERARHN
R,

*IDN?

8 1: *IDN, <R id>, <HlB>, <FIS>, <RERA>,
<BEHRRA>.

B 2: <REH>, <HE>, <FIIS>, <RERAK>, <EHRA>.

<% id>: =“SDG” HATFIRBINES.
<i®%ZM®>: = “Siglent Technologies”.

<HE>: = NFES
<FAIS>: = BAEREHCHRS, LEFISHEERIE—IL,
RUERA>: = SRERAEREXNES

<BHIA>: = BHRTRUZOAFETERENTRENER. it
EREAEENASMETIRARED,

EEURAER.

*IDN?

RENE:

Siglent Technologies,SDG6052X, SDG6XBAX1R0034,
6.01.01.28 (B MRATIEERRE)
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&iE:
1. TEREREBMESRERINGSoTHPNERER,
BHIBS SDG SDG SDG SDG SDG SDG SDG
= 800 1000 2000X 5000 1000X 6000X/X-E 7000A
IR RZA 0 B 1 B 1 B2 B 1 B2 B2 2
2. <WEHIMRA>HEIL: valuel-value2-value3-value4d-valueb.
value1: PCB hZ;
value2: TEHIRA;
value3: TBEHIEITIR;
value4: FPGA JRA;
value5: CPLD hRZN.
3.1.2 *OPC
R *OPC (1El ) Sh IR BEEINESHIRASFESE [ESR] B9 OPC £ (fi
0), W SIEERIELEMT M, RANERELERT F—RIRESE
WigazE, AHRBIMEERET TS,
*OPC?EHHELERIRME ASCI B8 1, AATER— NS ELRT2T
SEREZFAMAZEEGS.,
wEE "OPC
i iEE *OPC?
0 SZAG = ¥z 1: *OPC 1
B 2:1
&1 TERERENMESRAINHSUHNNEERR
BHIES SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X/X-E 7000A
o)z B 1 B 1 #®h2 1 B2 B2 =2

19




SDG R4 F

3.1.3 *RST
1235 *RST QBN EEHBRRINRE.
wEE *RST
Bl ZhFRESREFEEMRINRE:
*RST
3.2 ERLEH
1::3% IS ATFREEAGNRERR, “SHORT" SHREIFEEH .
“LONG"” Z#UREKER . “"OFF” RREMEAIREA,
L iEE CHDR(Comm_HeaDeR)<&#§>
<parameter>:= {SHORT, LONG, OFF}
<B¥>= R, KuW, X H)
EfEE Comm_HeaDeR?
I Rz A& =X CHDR <parameter>
Bl REFHGIEANKE:
CHDR LONG
ERERGIMEN:
CHDR?
REME:

COMM_HEADER LONG

& TRETREBMESERIINGLHIAMN

SH/E SDG SDG SDG SDG SDG SDG SDG
R 800 1000 2000X 5000 1000X 6000X/X-E 7000A
CHDR E=) =] I =] T I T

20
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EMEE

O RA& =

Bl

JE RAMZERIBIER M Al EHR[OUTPUTHE O 8%t .
FifERIKE “ON”, “OFF”, LOAD #1 PLRT 2%,

Y

<J@E>:

Az N

<\@iE>:
<tAg>:
<tRME>:

<|@E>:

<iBiE>:

$TF CH1:

OUTPut?

C1:0UTP ON
EEX CH1 B RS

C1:0UTP?
REME:

C1:0UTP ON,LOAD,HZ,PLRT,NOR

1% & CH1 B9% &R 500hm:
C1:0UTP LOAD,50

RE CH1 AR ASHE:

C1:0UTP LOAD,HZ

RE CH1 fiRENIER:

C1:0UTP PLRT,NOR

#&iE: TRETE SDGC RIS AM

OUTP ON|OFF, LOAD, <fi#>, PLRT, <tkit>

OUTPutON|OFF, LOAD, <fa#i>, PLRT, <#kit>
={C1, C2}.
= (W&} BINRALA ohm,
={NOR, INVT}, HEtf NOR REIEE, INVT KEKRH.

SRS SDG SDG SDG SDG SDG SDG SDG
= 800 1000 2000X 5000 1000X 6000X/X-E 7000A
<channel> % B =1 =) =) =) =)
LOAD 50 50~10000 50~100000 50 50~100000 50~100000 50~100000
HZ HZ HZ HZ ,HZ ,HZ HZ

*HZREBE,
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R 3 B 1% &’ E 895 HAR TS
SoEE OUT_BOTHCH <STATE>

<STATE>: ={ON, OFF}.

i Rz A& =0

=B REEIT
OUT _BOTHCH ON

#E: TRERE SDGC RIS Hn A

ERIES SDG SDG SDG SDG SDG SDG SDG
r 800 1000 2000X 5000 1000X 6000X/X-E 7000A
x =] B =) B B =)

D% FREFSEM, HAMEEFRLmBERNES

WEE <i@i&>: OUTPutON|OFF, LOAD, <fa#;>, PLRT, <tkit>
<\@&>: NOISE_ADD STATE, ON|OFF, RATIO, <{&>
g

<iBj&>: NOISE_ADD STATE, ON|OFF, RATIO_DB, <{&(dB)>

<j@E>: ={C1, C2}.
BIRLLNEIFE D EUEF M

EHEE <i®i&>: NOISE_ADD?
0 Rz AE =X <i@i&>: NOISE_ADD STATE, ON|OFF, RATIO, <{&>
1

<JBJ&>: NOISE_ADD STATE, ON|OFF, RATIO_DB, <fE(dB)>

Zy'] THBE—REEMARERFERLLH 120:
C1:NOISE_ADD STATE,ON,RATIO, 120
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giE: TRERWSHEARRE SDG RFAIo] At

BHIBS SDG SDG SDG SDG SDG SDG SDG
SR 800 1000 2000X 5000 1000X 6000X/X-E 7000A
x x x x x =) =)
3.5 IEEMRHIH
Ei::p% REBERKEER
WEE <\@&>: BaSic WaVe<s#>, <{@>
<j@E>: ={C1, C2}.
<8#>: = MAX_OUTPUT_AMP
<{B>: = {JEHEFRERASHENEICEE).
B REBEE 1 xARHIEER 10V:
C1:BSWV MAX_OUTPUT _AMP.10
&3 TRERSTAGOERR SDG RFIMTTAY
BHIES SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X/X-E 7000A
vl B - B B a a s s

3.6 EXERSH

Eiip% REFERNERKESH,
HEiEk <j@iE>: BaSic_WaVe <&#> <E>

-

<i@&>: ={C1, C2}.
<B#>: = MAX_OUTPUT_AMP
<B>: = {(BXS¥HNE].
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24

|

R

WVTP

<type>

:={SINE, SQUARE, RAMP, PULSE, NOISE,
ARB, DC, PRBS, 1Q}, IR HGELRIREENFEI
2R, WVPT BINRE A HENE .

FRQ

<frequency>

=R, BAEME "Hz", TIESIREFMERSH
ENEREE. 3 WVTP AIEEMER, ZEXK.

PERI

<period>

=FH, BUER "s". UEHEFHRERSHEN
BYEE. 3 WVTP AIREMER, ZELY.

AMP

<amplitude>

=iE{E, BURRE, BEE"Vep'. tTESUEFR
ERASHENEYEE, 3 WVTP ARBHMER,
ZSH TR,

OFST

<offset>

=RE. BUERE V', TEREFRERSH
ENERCEE. 3 WVTP AIERE, ZELK.

COM_OFST

<common
offset>

={-1 £ 1}, HRRELE, BARKRE "V'. XH
BEENHHAESTIRE,

SYM

<symmetry>

={0 & 100}, =ZAFENNRE, BUE “%". X
HWVTP A=REAREIZSH.

DUTY

<duty>

={0 £ 100}, A=k, BUR "%". ZSHHNE
BURFHIZR, XY WVTP 25T A8 E1Z

PHSE

<phase>

={0 F 360}, BAIE "o, ¥ WVTP 2ES. Bk
K. EREN, ZSHER.

STDEV

<stdev>

=RENREES. BURRE V7, TTESEFR
ERSHENBRCER. XS WVTP ZIEFE, 7

REIRE.

MEAN

<mean>

=RENE. BURRE V. JESEFHRE
FSHENEYEE,. = WVTP Z2IESE, 78
REZSH,

WIDTH

<width>

=IEBKE . BAURW “s”, JEHEFNERSHE
NEXCEE. X% WVTP ZBiiRE, Fa8REZ

24,

RISE

<rise>

= EFHESE (10%~90%). BAIRF “s”, TJEHIRE
FHERNSHENERCER. X2 WVTP 2K
B, AREIREZSH.
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=T EEESE (10%~90%), BAIE® “s”. TEHIE

FALL <fall> FHRERFNSHENEGREE., X WVTP 2R
B, FREIREZSE.
DLY <delay> =EFEIR, N oI E IR FEME RS HENEXCER
. =EBF, BUEREF "V, HWVTP JIRE, iZ
HLEV <high level> N
B,
=REBF, BUERE "V, HWVTP JIRE, iZ
LLEV <low level> N
BEM.
: :={ON (¥T7F), OFF (Xif) }. & WVTP AlIE7E,
BANDSTATE <bandwidth { ) e
switch> ZESHAIRE
=IEEWR, BAUAKE "HZ", slEHEFHER
BANDWIDTH | “endWidih | supiammarssm, % WVTP RIBSEY, F 8
BiZBH,
= {3~32), PRBS fREE=25E 1, X% WVTP
LENGTH <prbs length> {3-32) SRR =S
= PRBS Y, A8EIREIZEH,
= PRBS By EFH/ T E, BA2F “s”, tI7E#
EDGE <prbs rise/fall> | IEFEMEFHSEHENBROCE, XH WVTP 2
PRBS BY, F8EREIZEH,
<output :={DIFF, SINGLE}, i¥BBEENHBIHEPiH
FORMAT
format> W
<prbs :={ON (#T#), OFF (X)) }. PRBS Z5HiH1&E
DIFFSTATE differential " M e o o s
SW|tCh> :_Eto 'fRé WVTP ZEE PRBS ETJ', jﬁ%lﬁﬁlﬁ’é‘i&o
= PRBS Lt4F=R, BAURUSH “"bps”, tIfEHUE
BITRATE <prbs bit rate> | FMERSHENBIEE, X3 WVTP Z PRBS
B, FeBiREZSH,
:={TTL_CMOS, LVTTL_LVCMOS,ECL, LVPECL,
- LVDS, CUSTOM ({X SDG7000A) }, AFi&E
LOGICLEVEL <prbslogiclevel }
rate> PRBS ;8B 8BF, ¥4 WVTP 2 PRBS i, A&
REZESH,
AMPVRMS <amplitude> =IEE., REMBERMA Vim,
AMPDBM <amplitude> | :=fRE. RERERAA dBm,
MAX_OUTPUT < litud =EE%X$EF§BE‘<%U, EITE?&?E?%EIE%?&EE’\]E
“AMP amplitude>
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EMEE

i Rr A& =0

<l

<{&i&>: BaSic_WaVe?

<i@i>: =(C1, C2).

<i@E>: BSWV<E#>

<B¥>: = (HENRFEHNMESH).

B3 C1 IR A =Rk
C1:BSWV WVTRRAMP

3 C1 4 A 2000Hz:
C1:BSWV FRQ,2000

®RE C1HIRE R 3Vpp:
C1:BSWV AMP3

MIREIZE C1 NS
C1:BSWV?

REME:
C1:BSWV WVTP.SINE,FRQ,100HZ,PERI,0.01S,AMP,2V,
OFST,O0V.HLEV,1V,LLEV,-1V,PHSE,0O

RE C1 NIREHES 100MHz:
C1:BSWV BANDWIDTH, 100E6

1Y

C1:BSWV BANDWIDTH, 100000000

1. TRERBAHLEARR SDG RFEI 0] AME

BRI

SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X | 6000X-E

SDG
7000A

<channel>

z =] =] =] =] =] =]

RISE

FALL

BDLY

DLY

BANDSTATE

BANDWIDTH

of | @ | of | @ | D | Db

LENGTH

cH | o [ o | o | o | D

cH | of | oH | Db | D |SH | oM
off | T | @ | B} | D! | B} | D
cH | off | oH | 2 | 2| D | D
cH | off | oH | 2 | 2| D | D
ot | o | D | 2| D | D | D

o | o | D | 2| D | D | D
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BHIBS SDG SDG SDG SDG SDG SDG SDG SDG
SR 800 1000 2000X 5000 1000X | 6000X | 6000X-E | 7000A
EDGE =) I =]
DIFFSTATE x %
BITRATE T I I I I =) I =)
COM_OFST % % T T x = I =]
FORMAT T I I I I I I =)
LOGICLEVEL x x % T T =] I =)

2. 1£SDG1000X, &HEFEHITFH, WVTP REEIREAF K.

3.7 A%IEAES

R Zn Lo LURBE R E RBUBFIKE T S8
wiEx <i@iE>: MoDulateWaVe <%8!>
<i®j&>: MoDulateWaVe<&#{>, <{E>
<iBi&>: ={C1, C2}
<##>: ={AM, DSBAM, FM, PM, PWM, ASK, FSK, PSK}.
<BH>: = {TRHNE).
<{E>: = ({BXEHNE).
28 111 A
:={ON (#T#), OFF (xi) }. BRMZEHRA
o
STATE <state> N . e
MEMRBIREXZZEBUAH NEMSE, 5%
% STATE i¥&EA “"ON",
={INT (Ri@#l), EXT (4M@EHI), CH1 (&
AM, SRC <src>
E—iEH), CH2 (@& ZAH) }. AMIBHE,
:={SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB}.
AM, MDSP <mod wave shape> . . . . W .
AM R . (RZPFFEIRE AR B, 1%
BHAREIRE.
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AM, FRQ

<AM frequency>

=AM iR, BARMHE "Hz", SIEEIEFR
ERASHENERCEE. BHIRRENABG
B, ZSHARERE,

AM, DEPTH

<depth>

={0 £120}, AM RE, BE "%". K
RIREANMAR, ZSHARERE.

DSBAM, SRC

<src>

= {INT (RiE#l), EXT (4ME%HI), CH1 (i@
E—IEHI), CH2 (BE_I@%) }. DSBAM i
HE.

DSBSC, SRC

<src>

= {INT (RiIE4%), EXT (4ME4I) }, DSBSC
BHIE, (X SDG7000A)

DSBAM, MDSP

<mod wave shape>

:={SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB},

DSB AM AHIER . BAHIRIZE AR ETIET,
ZEHTRIRE.,

DSBSC, MDSP

<mod wave shape>

:= {SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB},

DSB-SC @ik .. HWHEIRIRENRIFEEY,
ZSH A REIRE . (fX SDG7000A)

DSBAM, FRQ

<DSB-AM
frequency>

:=DSB AM %, BEHEE "Hz", tlfE#
BFERERSHENEGRER, REARIFHF
B, ZSHARERE.

FM, SRC

<src>

={INT (REH), EXT (4MEAH), CH1 (i@
E—i@A%), CH2 (BEZFH) }. FMIBEIR

FM, MDSP

<mod wave shape>

:={SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB}.

FMIBHIER . BHIRIREARREHIE, 228
ZRERE.,

FM, FRQ

<FM frequency>

=FM 8, BARHE "Hz", tJEHEFHR
ERASHENERCEE. BHIFRRENAEG
B, ZESHARERE.

FM, DEVI

<FM frequency
deviation>

= {0 ESEHBIAE],
FM SERRE  ZEBUR T 2R AR T IR
HEE. BHRREARNFFE, ZSHF R

=1

PM, SRC

<src>

={INT (REH), EXT (4MAH), CH1 (@
E—iFE), CH2 (BEZiEH) }. PMiBHIE,
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PM, MDSP

<mod wave shape>

:={SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB},

PM BHIKR . BHEIRIRENNIEHE, 2B
FRERE,

PM, FRQ

<PM frequency>

=PM iR, BAZEHE "HZ", cIEEEFMH
ERSHENEYEE. BHIFRRENREG
B, ZBSHARERE.

PM, DEVI

<PM phase offset>

={0 = 360}, PMHBIRE. BUZE ", B
HIRILE N NEFIN, ZSHTEIRE,

PWM, SRC

<src>

={INT (RiB%I), EXT (4M@%1), CH1 (i@
E—IAH), CH2 (GBE&EZEF) }. PWM EH
N

PWM, FRQ

<PWM frequency>

=PWM iR, BAEHE "Hz", SJEHEF
MEFASHENERCCE FFIRIREN A
B, ZSHARRE.

PWM, DEVI

<PWM dev>

=ATHRE, BAR “s”. EERRTHIKNEK

ot

o

PWM, MDSP

<mod wave shape>

={SINE, SQUARE, TRIANGLE, UPRAMP,
DNRAMP, NOISE, ARB]},

PWM iBHIKT . BHRIREANFFE, %2
HAREIRE.,

ASK, SRC

<src>

={INT (RiEHl), EXT (4MEH) }. ASKIE
.

ASK, KFRQ

< key frequency>

= ASK BZIIZ, BAUEHEL "Hz", TJfEH
BRFERERSHENEREEBFIFRRENR
BHEIE, ZBHAERE.

FSK, SRC

<src>

={INT (RiEH), EXT (4MEFI) }. FSKiA
HE

FSK, KFRQ

< key frequency>

= FSK SRR, BAEMHE "Hz", tIfEH
BRFEREASHENERCEEFFIRIRENA
BHEIE, ZBHAERE.

FSK, HFRQ

<FSK_hop_freq>

= FSK BMIRZR , SEMMIKFMEER. B
i "Hz", SIEHIEFRERNSHENEN

PSK, SRC

<src>

= {INT, EXT}, PSKiAHIE,
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= PSK #IZ8%,, BAEME “Hz", T[T
PSK, KFRQ < key frequency> BEEMERSHENERCEE, BFIFIREIRN

BAHIE, ZSHAERE,

:={SINE, SQUARE, RAMP, ARB, PULSE]},
CARR, WVTP <wave type> .

BUBRSMER LR,

= BORONER, BRI "Hz", oJEHIEF
CARR, FRQ <frequency> - e

MERSHENEIEE.
CARR, PHSE | <phase> ={0 = 360}, FRMBM., BA "E",

_ =RORIEE. BURRE, BIEE"Vpp", TIE

CARR, AMP <amplitude> N e e

HIEFMERASHENEREE.

=HRRE. BURRE. tIESEFRERS
CARR, OFST <offset>

HENEICCE.

:={0 ZE 100}, HEKE RAMP B}, FHEXIFR
CARR, SYM <symmetry>

}EO %{X\Z/_&EE ”%”0

={0 = 100}, KN KHEKFKEY,
CARR, DUTY <duty>

HRAT., BAR "%,

=HER A AR ERORE, 2R EFEE,
CARR, RISE <rise> BAIER "s", IEMEFHERSHENER

;EO

=HERAGREEBOPRE, R T ERE,
CARR, FALL <fall> BAUZEM "s", IRHEFMERNSHENER

=HEOR AR EBOPRE, SOKER, B4
CARR, DLY <delay> " e —

E=Ws” I EHIEFMERSHENEICE.

&

>: MoDulateWaVe?

>: ={C1, C2}.

<{@iE>: MDWV<&#>

<S> = {HaAFNmESE).
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<l

RE CH1BEHPRERFTF:

C1:MDWV STATE,ON

RE CH1 IEHIZEA AM:
C1:MDWV AM

RE AMIEH, BIRHIREIRAEREK:
C1:MDWV AM,MDSP,SINE

EEVRZSER ON By C1 9B HIS4:

C1:MDWV?

REME:
C1:MDWVAM,STATE,ON,MDSP.SINE,SRC,INT,FRQ,100HZ,

DEPTH,100,CARR,WVTP,RAMP,FRQ,1000HZ,AMP,4V,AMPVRMS,
1.15473Vrms,OFST,0V,PHSE,0,SYM, 50

SEEUAAS A OFF 89 CH1 B0T%I 54

C1:MDWV?

REME:

C1:MDWV STATE,OFF

1% E CH1 89 FM $= 4 1000Hz:

C1:MDWV FM,FRQ, 1000

RE CH1 MIEIRAIEKIK:

C1:MDWV CARR,WVTP,SINE

& E CH1 K= 1000Hz:

C1:MDWV CARR,FRQ,1000

2. & TRERBAGLEARR SDG R0 B

PRTIPON SDG SDG SDG SDG SDG SDG SDG
= 800 1000 2000X 5000 1000X 6000X/X-E 7000A
<channel> % E2) A E2) =) =] =]
<type>, SRC I =] a = = =] =}
CARR, DLY I E=) =) =] =] =] =]
CARR, RISE £ x =) E=) =] =] =]
CARR, FALL A x =) =] =] =] =]

<£F>: ={AM, FM, PM, FSK, ASK, PSK, DSBAM, PWM},
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3.8 HiEEk®

3.8.1 <channel>: SweepWaVe <para>,<value>

3% ZamLATIRENEFRPITMEHHNSL. <L REMT SDG7000A,
SDG7000A &£ &5 3.8.2—3.8.38.

Bk < channel >: SweepWaVe <para>, < value >
< channel >: ={C1, C2}
<param>: = {FEHS%)}
<value >: = {{HXH1E)

2 1] ik

={ON (#TF), OFF (xiA) }. BHEMEZATH.
STATE <state> MEMRBIGEFEERABNEMSE, DS

STATE &N "“"ON",

_ = PEE, RUER “s”, TTEHIEFRERS

TIME <time>

HENEREE,
STARTTIME <time> = {0ZE 300}, BUEP "S", EIREIFNE
ENDTIME <time> = {0ZE 300}, BUREP "S", EREFNE
BACKTIME <time> = {0F 300}, BMUEH “S", REE

= FIREER, SEXEEMERERE., B
START <start_freq>

"Hz", tJEHIEFMERSHENESEE,

= BIPMR, SEKEEMEER, BAURKE
STOP <stop_freg> . - .

"Hz", tJEHIEFMERSHENEIEE,

= uMRR, BAEMHE "Hz', sIEFUREFHE
CENTER <center_freqgq>

RSHENEXEE.

= MRTE, BARHE “Hz', oEURFEMRE
SPAN <span_freq>

RSHENEXEE.

={LINE (%1%), LOG (X%1), STEP (£i#) },
SWMD <sweep_mode> | Hb LINE f{FRLMM, LOGC KEXTEIIM,

STEP RFLZ#HFM,

S ={UP (@_Lt), DOWN ([@gF) UP_DOWN (Lt

DIR <direction>

TX SDG7000A) }, HiEA M

32



SDG R4 F M

={0% E 100%}, ZHAfFA @A UP_DOWN (L
SYM <symmetry>
™) HEXFRE, X SDG7000A
_ :={EXT, INT, MAN}, &R, EXT &Mtk ,
TRSR <trig_src> . . - .
INT £FEAfE, MAN REFEHHEL,
= RE—MFIMAES N3 TRSR 2 MAN Y,
MTRIG b
ZESHAEW.
:={ON, OFF}, kLK. & TRSR A EXT,
TRMD <trig_mode> e
ZESHITH.
:={RISE, FALL}, oJAfit&iG. X2 TRSRI&A
EDGE <edge>
EXT 1 MAN B¥E%,
STEPNUM <step_number> | :={2~64}, FHH, NEAWXER AL HNER.
:={SINE, SQUARE, RAMP, ARB}, #iF58,
CARR, WVTP <wave type> s . o . . s
BEORAKPR. BE. BR. WEER#EERE.
= FIRIER, BARME "Hz", tJEHREFMHE
CARR, FRQ <frequency> . e
FESHENERCEE.
CARR, PHSE | <phase> ={0 = 360}, HKMEM, BLUZE "E"
_ = FKEE. RAURRYE, BIEE "Vpp" . /&
CARR, AMP <amplitude> N - .
HEFMERNSHENEIEE.
= HERE. BUERE 'V, TEHEFRER
CARR, OFST <offset> e
SHENEIEE.
={0 E 100}, H#KA RAMP B, FHEXRE,
CARR, SYM <symmetry>
$4EI_~EE “0/0”0
={0 E 100}, HFKEAAKN, HRE=H, B
CARR, DUTY <duty>
1EZEE II%IIo
i iEE < channel >:SWeepWaVe?
< channel >:= {C1, C2}.
0 BAS = < channel >:SWWV <param>
< channel >:= {¥FTAEHRENRE S0
Bl RE CH1 MRS RITF:

C1:SWWV STATE,ON
RE CH1 M| 1 #:

C1:SWWV TIME, 1

RE CH1 9L 1H55iZ A 1000Hz:
C1:SWWV STOP.1000
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RE CH1 it &R A Foh:
C1:SWWV TRSR,MAN
RE— N Fit&ESZE CH1
C1:SWWV MTRIG

EEURAS7 ON 89 CH2 S
C2:SWWV?

R[EE:

C2:SWWVSTATE,ON, TIME, 1S,STOP,1500HZ,START,500HZ,
CENTER,1000HZ,SPAN,1000HZ, TRSR,INT, TRMD, OFF, SWMD,
LINE,DIR,UP,SYM,0,MARK_STATE,OFFMARK_FREQ,1000HZ,
CARR,WVTRSINE,FRQ,1000HZ,AMP,4V,AMPVRMS, 1.41421Vrms,

OFST,0V,PHSE,O0

EEURAA OFF # CH2 B384
C2:SWwWv?

R[EE:

C2:SWWYV STATE,OFF

&iE: TRETEAGIEARR SDG RFIBynl Atk

BHIHS

SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X

SDG
6000X/X-E

<channel>

B =) B B

B

STATE

o

TRMD

o

EDGE

=] =]
B =)
B =)

o
of | o | o
of | o | o

=)
=)
=)

START

STOP

CENTER

SPAN

SWMD

DIR

TRSR

MTRIG

TRMD

CARR,
WVTP

CARR, FRQ

CARR, PHSE
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BHIBS SDG SDG SDG SDG SDG SDG
== 800 1000 2000X 5000 1000X 6000X/X-E

CARR, AMP

CARR, OFST

CARR, SYM

CARR, DUTY

3.8.2 <channel>:SWEep <switch>

1S ZaSHFIRE (E) AR RIRE Zm < UEMH T SDG7000A.
8% <channel>:SWEep <switch>

<channel>:={C1, C2}.
<switch>:= {ON, OFF}.

ETME. <channel>: SWEep?
<channel>:= {C1, C2}.

B FRIEE 1 WAEE L
:C1:SWEep ON
EEUEE 1 B9 E HRS
:C1:SWEep?
REE:
“ON”

3.8.3 <channel>:SWEep:TYPE <type>

1P Zo AT RE(ER)FHEEIENEE, Zn<{RERT SDG7000A.
HOEL <channel>:SWEep:TYPE <type>

<channel>:={C1, C2}.
<type>:= {FREQ, AMP, BOTH}.

EFifE® <channel>: SWEep:TYPE?
<channel>:= {C1, C2}.

Bl REBEIE 1 0B AMRETHE
:C1:SWEep:TYPE FREQ
TEBE 1 H9mER
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:C1:SWEep:TYPE?
REME:
‘FREQ”

3.8.4 <channel>:SWEep:SOURce <src>

ik ZoCHTRE@A)HBEERNMATR., ZinS{NERT SDG7000A.
SoEE <channel>:SWEep:SOURce <src>

<channel>:= {C1, C2}.
<src>:={INT, EXT, MAN}.

EHEE <channel>: SWEep:SOURce?
<channel>:={C1, C2}.

B REBE 1 AEAREMA
:C1:SWEep:SOURce INT
TiFEE 1 WAERRKRR
:C1:SWEep:SOURce?
REME:
“INT”

3.8.5 <channel>:SWEep:FMODe <mode>

1117 Zan AT IRE(EE)MERAFMIAMER . Z5m<SXER F SDG7000A.
&oiEE <channel>:SWEep:FMODe <mode>

<channel>:= {C1, C2}.
<mode>:= {LINE, LOG, STEP}.

EifiE% <channel>: SWEep:FMODe?
<channel>:={C1, C2}.

=Bl WEIBE 1 SRR ENEEEN AL ERR
:C1:SWEep:FMODe LINE
EIEE 1 MR EEN
:C1:SWEep:FMODe?
R[EE:
“LINE”
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3.8.6 <channel>:SWEep:AMODe <mode>

Zan < ATIRE(ES)RESHENABKRIN ZHm<SNER T SDG7000A.

<channel>:SWEep:AMODe <mode>
<channel>:= {C1, C2}.

<mode>:= {LINE, STEP}.

<channel>: SWEep:AMODe?
<channel>:= {C1, C2}.

RERE 1 BERENEEER N &R
:C1:SWEep:AMODe LINE

EifBE 1 BEAMNEEER
:C1:SWEep:AMODe?

RENE:

“LINE”

3.8.7 <channel>:SWEep:FSNumber <value>

1S

Za<ATREE)RIASHAME RIS HE, ZRSMNERT
SDG7000A.

<channel>:SWEep:FSNumber <value>
<channel>:= {C1, C2}.

<value>:= {2 B 1024 Z BHYEE)

<channel>: SWEep: FSNumber?
<channel>:={C1, C2}.

REBIE 1 HHER A S E R 9P #4008 10
:C1:SWEep:FSNumber 10

EWIBIE 1 AR A E R 955
:C1:SWEep:FSNumber?

RENE:

“10”

3.8.8 <channel>:SWEep:ASNumber <value>

1P

Zan<ATREEARENASEARNOSHY, ZH{RERT
SDG7000A.
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&oEL <channel>:SWEep:ASNumber <value>
<channel>:= {C1, C2}.

<value>:= {2 Z| 1024 Z [GHIEH

HFiFEx <channel>: SWEep: ASNumber?
<channel>:= {C1, C2}.

B REBE 1 FARER NS HARN S HE 10
:C1:SWEep:ASNumber 10
EFWIEIE 1 AEER A E RN 9P
:C1:SWEep:ASNumber?
R[EE:
“10”

3.8.9 <channel>:SWEep:TIME <value>

R Zan <A TIRE (EE) AR 0 # T8, % <XER F SDG7000A.
SOEE <channel>:SWEep:TIME <value>

<channel>:={C1, C2}.

<value>:= FRERMNE, BMUMD

EHifEE <channel>: SWEep:TIME?
<channel>:= {C1, C2}.

=Bl REBE 1 AEEFEEE B2 100ms
:C1:SWEep:TIME 0.1
FEIEBIE 1 PR e ()
:C1:SWEep:TIME?
RENE:
“0.17

3.8.10 <channel>:SWEep:SHTime <value>

111D ZanSHTIRE(EE) AN AMERRIFNE, ZHSMNERT
SDG7000A.
BoER <channel>:SWEep:SHTime <value>

<channel>:= {C1, C2}.
<value>:= FRERHNE, BN
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<channel>: SWEep: SHTime?
<channel>:= {C1, C2}.

RERE 1 F#ERF R R AIFIEY 100ms
:C1:SWEep:SHTime 0.1

BiFBE 1 FHRE AR R R
:C1:SWEep:SHTime?

R[EE:

“0.1”

3.8.11 <channel>:SWEep:EHTime <value>

Zan QAT REES)FERFNABERFRFNE, ZaSNERT
SDG7000A.

<channel>:SWEep:EHTime <value>
<channel>:= {C1, C2}.

<value>:= FHRAERBWE, BN

<channel>: SWEep:EHTime?
<channel>:={C1, C2}.

RERE 1 F#RFE NS R&RIFNEZ 100ms
:C1:SWEep:EHTime 0.1

BifBE 1 SRR ER AR E
:C1:SWEep:EHTime?

RENE:

“0.1”

3.8.12 <channel>:SWEep:RTIMe <value>

1S

Zan AT IREES) AR ABEREHERENE, ZnRERT
SDG7000A.

<channel>:SWEep:RTIMe <value>
<channel>:= {C1, C2}.

<value>:= FHRERMNE, B

<channel>: SWEep:RTIMe?
<channel>:= {C1, C2}.
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B REBE 1 AR AR RGHIREEE A 100ms
:C1:SWEep:RTIMe 0.1
TiFEE 1 9IRS R G HR B 8
:C1:SWEep:RTIMe?
REE:
“0.1”

3.8.13 <channel>:SWEep:SFRequency <value>

ik ZnTHTREEE)MEARMNERMNE, ZaSRERT
SDG7000A.
&oEE <channel>:SWEep:SFRequency <value>

<channel>:={C1, C2}.
<value>:= FREBMNE, B (Hz)

ETME. <channel>: SWEep:SFRequency?
<channel>:= {C1, C2}.

B REBE 1 MR IRMZE N 1kHz
:C1:SWEep:SFRequency 1000
EiFBE 1 MR IRMZ
:C1:SWEep:SFRequency?
REE:
“1000”

3.8.14 <channel>:SWEep:EFRequency <value>

1115 Zn A TIRE (ZE)MEAENL LERE Z5 S ERF SDG7000A.
&oiEE <channel>:SWEep:EFRequency <value>

<channel>:={C1, C2}.
<value>:= FRAERME, BAMHEZ (Hz)

ETFifiE% <channel>: SWEep:EFRequency?
<channel>:= {C1, C2}.

Bl REBE 1 MEAHNLIERE N 9KHz
:C1:SWEep:EFRequency 9000
TiEEE 1 MEAMOL LR
:C1:SWEep:EFRequency?

40



SDG R4 F M

R[EE:
“9000”

3.8.15 <channel>:SWEep:CFRequency <value>

Zan QAT IRE(E\ MBI D OIRZR, Z 5 <SNIER T SDG7000A.

<channel>:SWEep:CFRequency <value>
<channel>:= {C1, C2}.

<value>:= FREBHE, BUHEE (Hz)

<channel>: SWEep:CFRequency?
<channel>:= {C1, C2}.

RERE 1 MEFHN P OSAE N 5KHz
:C1:SWEep:CFRequency 5000
EWEE 1 MR hOmE
:C1:SWEep:CFRequency?

R[EE:

“6000”

3.8.16 <channel>:SWEep:FSPan <value>

1%

Za AT IRE(EWREAHMIAZETE 2 UEM T SDG7000A.

<channel>:SWEep:FSPan <value>
<channel>:={C1, C2}.

<value>:= JFREBHE, BHIE (Hz)

<channel>: SWEep: FSPan?
<channel>:= {C1, C2}.

REBIE 1 MEAMBRERTE N 8KHz
:C1:SWEep:FSPan 8000

TiEE 1 MEARNRETE
:C1:SWEep: FSPan?

R[EE:

“8000”
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3.8.17 <channel>:SWEep:SAMPIlitude <value>

R ZanATIRE(EN)RESHENVEREE . Z5<NER T SDG7000A.
SoER <channel>:SWEep:SAMPIlitude <value>

<channel>:= {C1, C2}.
<value>= FRERMNE, BARE (V

HifEk <channel>: SWEep:SAMPlitude?
<channel>:= {C1, C2}.

Bl REIBE 1 BERENERIEER 100mV
:C1:SWEep:SAMPIitude 0.1
EIEE 1 lREFBNERIEE
:C1:SWEep:SAMPIlitude?
RENE:
“0.17

3.8.18 <channel>:SWEep:EAMPIlitude <value>

R ZnTHTIRE(ENE) BEAHENLILEE, ZHIERT
SDG7000A.
9B <channel>:SWEep:EAMPIlitude <value>

<channel>:= {C1, C2}.

<value>= FRERNE, BMARE (V)

EifHEx <channel>: SWEep:EAMPlitude?
<channel>:={C1, C2}.

=Bl REBE 1 IBERENLIEIEE R 900mV
:C1:SWEep:EAMPIitude 0.9
EIEE 1 REFBNLIEE
:C1:SWEep:EAMPIitude?
R[EE:
“0.9”

3.8.19 <channel>:SWEep:CAMPIlitude <value>

ik ZomLATIREENR) BEAFENPORE. ZnIMNERT
SDG7000A.
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<channel>:SWEep:CAMPIlitude <value>
<channel>:= {C1, C2}.

<value>:= FREBMIE, BURE (V)

<channel>: SWEep:CAMPIlitude?
<channel>:= {C1, C2}.

REIBE 1 BERENTOEESR 500mV
:C1:SWEep:CAMPIitude 0.5

TIEE 1 RERBNPOEE
:C1:SWEep:CAMPIitude?

RENE:

0.5

3.8.20 <channel>:SWEep:ASPan <value>

Zam<ATIRE(ENR) REQENEETEE. ZnIMNERT
SDG7000A.

<channel>:SWEep:ASPan <value>
<channel>:={C1, C2}.

<value>:= JFREBHE, BMURE (V)

<channel>: SWEep: ASPan?
<channel>:= {C1, C2}.

REBE 1 lEERHNIEETEE N 800mV
:C1:SWEep:ASPan 0.8

EWBIE 1 lREAENIEEEE
:C1:SWEep: ASPan?

REE:

“0.8”

3.8.21 <channel>:SWEep:FDIRection <direction>

1%

ZanTHTIREEE) MEAHENEA#EL D, ZHERT
SDG7000A.
<channel>:SWEep:FDIRection <direction>

<channel>:= {C1, C2}.
<direction>:= {UP, DOWN, UP_DOWN}.
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HifEk <channel>: SWEep:FDIRection?
<channel>:= {C1, C2}.

B RERE 1 MRS | A E) L
:C1:SWEep:FDIRection UP
EEEIE 1 MEAHNAETTE
:C1:SWEep:FDIRection?
R[EE:
=

3.8.22 <channel>:SWEep:ADIRection <direction>

R ZanTHTIRE(ENE) BEAHENA#EL R, ZHERT
SDG7000A.
&oiEE <channel>:SWEep:ADIRection <direction>

<channel>:= {C1, C2}.
<direction>:= {UP, DOWN, UP_DOWN}.

EiFEx <channel>: SWEep:ADIRection?
<channel>:={C1, C2}.

B RERE 1 18ERMNEEE N[ L
:C1:SWEep:ADIRection UP
EEE 1 BEAENEES
:C1:SWEep:ADIRection?
REE:
“Wp”

3.8.23 <channel>:SWEep:FSYMmetry <value>

R ZanATIRE(EE) A5 0N ETRM ARG ZmSRE
T SDG7000A.
B <channel>:SWEep:FSYMmetry <value>

<channel>:= {C1, C2}.
<value>:= {0 & 100 B9;Z =%

EFifiER <channel>: SWEep:FSYMmetry?
<channel>:= {C1, C2}.
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<l

REIBIE 1 185 [ A L THEIEAEEXSTRERN 50%
:C1:SWEep:FSYMmetry 50

ETIEE 1 A @A L THAN PR TRE
:C1:SWEep:FSYMmetry?

R[EE:

w507

3.8.24 <channel>:SWEep:ASYMmetry <value>

R

5l

ZaSHATRE(EE) ARA A L TARNIRBITRE, Za{OE
FF SDG7000A.

<channel>:SWEep:ASYMmetry <value>
<channel>:={C1, C2}.

<value>:= {0 E 100 H9;Z = %4).

<channel>: SWEep:ASYMmetry?
<channel>:= {C1, C2}.

RERE 1 131877 @ £ TR S #ESFRIER 50%
:C1:SWEep:ASYMmetry 50

EWEIE 1 3&77 @A L TR B xR
:C1:SWEep:ASYMmetry?

REE:

“5 ()

3.8.25 <channel>:SWEep:TOUT <switch>

1%

ZoSHTIRE(EE) ABRENMA R EHAXRS., ZoaSNERT
SDG7000A, HEftA&RAIMNRAN AR L,

<channel>:SWEep:TOUT <switch>
<channel>:= {C1, C2}.

<switch>:= {ON, OFF}.

<channel>: SWEep:TOUT?
<channel>:= {C1, C2}.

REBEE 1 QEEENMARERSNTE
:C1:SWEep:TOUT ON
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élﬁJLL 1 ?El;ml&ﬁ/a’]ﬁﬁkiﬁuajﬁ*%/m
:C1:SWEep:TOUT?

REME:
HONH

3.8.26 <channel>:SWEep:EDGe <polarity>

1117 ZanHATIRE(EW) MARAIMEAR, MAGRIRYE., ZHSRE
AT+ SDG7000A,
oER <channel>:SWEep:EDGe <polarity>

<channel>:= {C1, C2}.
<polarity>:= {RISE, FALL}.

TFEEE <channel>: SWEep:EDGe?
<channel>:={C1, C2}.

B RERE 1 AR RN R N EFHEARA
:C1:SWEep:EDGe RISE
EifBE 1 3R RSN ER AR A R IR
:C1:SWEep:EDGe?
RE1E:
“‘RISE”

3.8.27 <channel>:SWEep:MTRigger

1117 ZnTHTRAFAFNMAR, FHL—KEHE, ZHSMNERT
SDG7000A,
HOER <channel>:SWEep:MTRigger

<channel>:= {C1, C2}.

Bl FapfA—IRIBE 1
:C1:SWEep:MTRigger

3.8.28 <channel>:SWEep:FMARker <switch>

ik ZamLATIRE(ENR) FRDBIRCARFRIRS. ZoSNERT
SDG7000A,
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<channel>:SWEep:FMARker <switch>
<channel>:= {C1, C2}.

<switch>:= {ON, OFF}.

<channel>: SWEep:FMARker?
<channel>:= {C1, C2}.

REBE 1 MEAMORICMEANFEIRS
:C1:SWEep:FMARker ON

BiFEE 1 MR MARCMEF RS
:C1:SWEep:FMARker?

R[EE:

“ON”

3.8.29 <channel>:SWEep:MFRequency <value>

1S

ZoLHTIRE(EN) MERAMIRCMRARE. ZHRERT
SDG7000A,

<channel>:SWEep:MFRequency<value>
<channel>:={C1, C2}.

<value>:=F X RW(E, BN (Hz)

<channel>: SWEep:MFRequency?
<channel>:= {C1, C2}.

REBIE 1 MEFMIRCMZEAISNERE N 5kHz
:C1:SWEep:MFRequency 5000

EEE 1 MR IRV RE
:C1:SWEep:MFRequency?

REE:

“6000”

3.8.30 <channel>:SWEep:MSNumber <value>

1%

Zan<ATIRE(EN) MIAMARCMBARCHB T, L {ER
F SDG7000A, FHEMNRXFHAMEK

<channel>:SWEep:MSNumber <value>
<channel>:={C1, C2}.
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<value>:={2~1024}

HFiFEx <channel>: SWEep:MSNumber ?
<channel>:= {C1, C2}.

B REBE 1 MFFMIRICMEIRICE 5 M
:C1:SWEep:MSNumber 5
EEE 1 MBHMARCARARC B P
:C1:SWEep:MSNumber?
REE:
g

3.8.31 <channel>:SWEep:CARRier:-WTYPe <wave>

1117 ZnTHTIRE(EN) KEAEEKNEE, ZHnRERT
SDG7000A,
98 <channel>:SWEep:CARRier:WTYPe <wave>

<channel>:={C1, C2}.
<wave>:={SINE,SQUARE,RAMP,AFG}

EiEE <channel>: SWEep:CARRier:WTYPe?
<channel>:={C1, C2}.

=B REBIE 1R RENEE A EZ
:C1:SWEep:CARRIier:WTYPe SINE
EWIEE 1 B RmERER
:C1:SWEep:CARRIier:-WTYPe?
R[EE:
“SINE”

3.8.32 <channel>:SWEep:CARRier:FREQuency <value>

R ZoCHATIREEN) BEAMERIME, ZnINERT
SDG7000A,
&&EE <channel>:SWEep:CARRier:FREQuency <value>

<channel>:= {C1, C2}.
<value>=Z R LBIE, BHMEL (Hz)

i iEE <channel>: SWEep:CARRier:FREQuency?
<channel>:={C1, C2}.
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<l

REBE 1 REAMERNMERN 1MHzZ
:C1:SWEep:CARRIier:FREQuency 1000000
BiFEBE 1 KRR
:C1:SWEep:CARRIier:FREQuency?

RE1E:

“1000000”

3.8.33 <channel>:SWEep:CARRier:PHASe <value>

R

Za<HTREEN) KEAMRKNEML. ZHSNERT
SDG7000A,

<channel>:SWEep:CARRier:PHASe <value>
<channel>:={C1, C2}.

<value>=ZREHHNE, BME

<channel>: SWEep:CARRIier:PHASe ?
<channel>:={C1, C2}.

REBE 1 R AEEIREAN 90 E
:C1:SWEep:CARRIier:PHASe 90
EifBE 1 R AMEIREN
:C1:SWEep:CARRIier:PHASe ?
REE:

“9Q”

3.8.34 <channel>:SWEep:CARRier:PAMPIlitude <value>

1%

Za<HTEREEERE(ES) BEAMERNEE . ZnMNERT
SDG7000A,

<channel>:SWEep:CARRier:PAMPIlitude <value>
<channel>:= {C1, C2}.

<value>:=FZ R EBMIE, BLRE (V)

<channel>: SWEep:CARRIier:PAMPlitude?
<channel>:={C1, C2}.

REBE 1 RFAMEKRNIEER 4Vpp
:C1:SWEep:CARRIier:PAMPIitude 4
TEEE 1 REARBIRNIEE
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:C1:SWEep:CARRIier:PAMPIlitude?
REE:
1[4 ”

3.8.35 <channel>:SWEep:CARRier:RAMPIlitude <value>

ik ZnTHTERBRERE(EE) KFEAMEKNIEE, ZaSIRERT
SDG7000A,

HoiEE <channel>:SWEep:CARRier:RAMPIlitude <value>
<channel>:= {C1, C2}.
<value>=Z R EKBHE, B Vrms

EiEE <channel>: SWEep:CARRier:RAMPIitude?

<channel>:={C1, C2}.

Bl REBE 1 EFAREENRER 1.414Vims
:C1:SWEep:CARRIier:RAMPIitude 1.414
TifEE 1 BEFARERNEE
:C1:SWEep:CARRIier:RAMPIitude?
R[EE:
“1.414”

3.8.36 <channel>:SWEep:CARRier:OFFSet <value>

1117 ZnTHTIRE(EN) KEABRKNRE, ZHIMNERT
SDG7000A,
9B <channel>:SWEep:CARRIier:OFFSet <value>

<channel>:={C1, C2}.
<value>=FREBNE, BALREF (V)

EiIEE <channel>: SWEep:CARRier:OFFSet?
<channel>:={C1, C2}.

Bl REBE 1 RFAMBKRNEE A 2V
:C1:SWEep:CARRIer:OFFSet 2
TiEEE 1 REAREKRN RS
:C1:SWEep:CARRIer:OFFSet?
R[EE:
oy
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3.8.37 <channel>:SWEep:CARRier:SYMMetry <value>

3.8.38 <channel>:

i

ZanATREEN) REAMBKNYRE. ZeMERT
SDG7000A, HERHAZKA=AKFHER

<channel>:SWEep:CARRier:SYMMetry <value>
<channel>:= {C1, C2}.

<value>:={0 F 100 Z [BH0F s %)

<channel>: SWEep:CARRIier:SYMMetry?
<channel>:={C1, C2}.

REBE 1 R HEERAXI TR 50%
:C1:SWEep:CARRIier:SYMMetry 50

EiFEE 1 KA MR XSRS
:C1:SWEep:CARRIier:SYMMetry?
REE:

w50

SWEep:CARRier:DUTY <value>

ZaSHTREEN) BREARERNATI, ZGSERT
SDG7000A, HBENXHFHFZE A ENER

<channel>:SWEep:CARRier:DUTY <value>
<channel>:= {C1, C2}.

<value>:={0 F 100 Z @ HIF m %0

<channel>: SWEep:CARRIier:DUTY?
<channel>:={C1, C2}.

REBEE 1 FEERMEENAS= R 50%
:C1:SWEep:CARRIier:DUTY 50
THEE 1 RERABEESRN A=t
:C1:SWEep:CARRIier:DUTY?

REE:

“5(0”
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3.9

Rk BB 35

< AT IRENEZIK BRI SH.

Az N

<&
5

iE>: BursTWaVe <&#{>, <{&>
&>: ={C1, C2.

<BH>: = {TRNSH],
<{g>: = {{BXSHE].

2% & R
:={ON ($TF), OFF (Xif) }. ERMERKTE,
STATE <state> MRMFBIRESNE LK BNEAMSE, BREE
STATE I2EHN “ON”,
=Pk EEE, BUED s’ AIEHIEFHERSH
ENEREE. ETIERT, ZEXK:
PRD <period> ERRENRE
GATE_NCYC 2148 ("X"RZIBRIH)
TRSR 24Mitk
:={0 Z 360}, FRPEIREM, BUE ", HHK
STPS <start_phase> . N
REFEFEFOPRE, ZEX.
= {GATE ({J##&x), NCYC (N fBFE) }. BKip
GATE_NCYC | <burst mode>
B BEN, HHRAESE, ZELK.
. :={EXT, INT, MANMit &R, EXT &RIMEBAL%K.
TRSR <trig_src> . - .
INT REFEREfLA. MAN REFHALL,
=ERE—DFHMAES . XH TRSR & MAN B, i%
MTRIG
SHEN.
=RRRSERY, BAUER s, TJREHIEFMENSHE
DLAY <delay> HENCERE . 2 GATE_NCYC A N B, ZEEK.
HERRAEFNZELK.
_ = {NEG (fiRif), POS (IEMRM) }. IR,
PLRT <polarity>
ML EAR M,
:={RISE (@Lt), FALL (@), OFF (%) }, fit
, REHER, 2 GATE_NCYC A N BEHREMARERARN
TRMD <trig_mode>

fRAE FHMALN, ZEHEN. AHKARENZ
BEX.
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:={RISE, FALL}, B A AING, 3 TRST AFaft

EDGE <edge> . . N N . N
REEIMURE, ZEBR AR A REZELI.
={INF, 1, 2, ..., M}, MEXZFHHERKX N EIHREHE

_ _ RFNE, INFIRERKTHATREN, 3

TIME <circle_ time>
GATE_NCYC A N BB M. HERAREN, %
BEX.
=Pk &Y, HALATRASMREFNEN, oJELIRE

COUNT <counter> . s
FHERSHNERETE.

CARR, :={SINE, SQUARE, RAMP, ARB, PULSE, NOISE},

WVTP D
=EER, BAURME "HZ", TEHIEFHERS

CARR, FRQ <frequency> N e
HENBIEE.

gﬁgg’ <phase> = {0 Z 360}, AL, BIIE “E.

_ =RORIBE. BURRYE, BIEE “Vpp'. TJEHIE

CARR, AMP <amplitude> . .
FHRERSHENEZEE.
=HRRE, BURRE "V, EHREFHERS

CARR, OFST | <offset> . s
HENBIEE.
={0 E 100}, HEXNRE, BRFEN=RKK, Z&

CARR, SYM <symmetry> N N
BN, BUR "%,

CARR. ={0 Z 100}, FREE, SHHREABODE,

DUTY <duty> s e o
ZEBH. BAR "%,

. = EFHEE, HEOR AR ZEEN . BAUE “s".

CARR, RISE <rise>
oEHEFRERSHENEICE.
=T REEE, HEOR AR ZEEN. BAUE “s".

CARR, FALL | <fall> N . e
JEHEFRERASHENEREE.
=RKRRIER . HEGRARKTRNZEER. BAUR

CARR, DLY <delay> N -

“s", TJEHEFMERNSHENEIEE.
CARR, ~RENAREE, BUERE V', TERETHE
STDEV <stdev> NP —

RSHENBYEE.
CARR, =IRENE, BURRE V., tESEFERER
MEAN ~mean>

SHENERER.
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EMEE

i Rr A& =0

Bl

A

o

Mk [k
\%

: BTWV(BursTWaVe)?
> ={C1, C2}

: BTWV <2#>
D= {HAThk ot BRI FTE S

A
W

3% fmf
\%

A
\%

RE CH1 B e IR ON:
C1:BTWV STATE,ON

’E CH1 K EEEAA 1s:
C1:BTWV PRD, 1
RERKDBIER A 1s:
C1:BTWV DLAY,1

®E CH1 B B AR
C1:BTWV TIME,INF

BRI ON By CH2 it 544

C2:BTWV?

RENE:

C2:BTWV STATE,ON,PRD,0.01S,STPS,0,TRSR,INT,

TRMD,OFF TIME, 1,DLAY,2.4e-07S,GATE_NCYC,NCYC,
CARR,WVTPR,SINE,FRQ,1000HZ,AMP,4V,0OFST,0V,PHSE,0

EEUIRAS A OFF 89 CH2 BXif SRS
C2:BTWV?

REME:

C2:BTWV STATE,OFF

i TRETEDHLEARR SDG R0 Atk

BHIES SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X/X-E 7000A
<channel> % =] =] =) =) =] =]
TRMD x E=) E=) =] =] =) =]
EDGE x E=) E=) =] =] =) =]
CARR, DLY =] =] =] =) =] =] =]
CARR, RISE =) I =) =) =) =) =]
CARR, FALL =) I =) =) =) =) =]
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3.10 B#HEHH
R ZomSE—NEENSHEFE S —BE L,
wRIEE ParaCoPy <B#r@iE>, <@ERE>
<BfRiBE>: ={C1, C2}.
<;@EjE>: ={C1, C2}.
&iE: C1 7 C2 S HWA—EIREEIRE.
5 BE 1 NSHEFREE2 £
PACP C2,C1
i TRERBHHLSEARR SDG RIIMTAM
SHIES SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X | 6000X/X-E | 7000A
PACP x =] =] =] =] =) =)
3.11 FEEREE®S
3111 FEEERERSS
Ei::p% Zom<HET ‘QE‘E%&EM}_%&E’]*&%I W RIEAEE A0 A
PHRSISEBRER'M, EERERFERERSIS.
aSiEk B 1: <i@iE>:ArbWaVe INDEX, <&3|S>
BT 2: <i@iE>:ArbWaVe NAME, <&ZFR>
B 3: <i@E>:ArbWaVe NAME, <i&i2>
®E>: ={C1, C2}.
<R35> TRPERENRESIS
<ZWR>: TERHERRER
<> iﬁﬁz&%?é
EfEE <j@j&>: ARbWaVe?
<@j&>: ={C1, C2}.
0 REAS =X <i@&>: ARWV INDEX, <Z3|2>, NAME, <&¥R>
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Bl BERSIS 21RE CH1 BIHANRA
C1:ARWV INDEX, 2

EEY CH1 B9 BIE T -

C1.ARWV?

REE:

C1:ARWV INDEX, 2, NAME, StairUp

BERFEBIRIRE CH1 BIRE A0
C1:ARWV NAME, Cardiac”

BTREBEFRIGE CH1 BURF

C1:ARWV NAME , “Local/wave1.bin”
C1.ARWV NAME , “Local/wave2.mat”
C1:ARWV NAME , “Local/wave3.csv”
C1.ARWV NAME , “net_storage/wave4.bin”
C1:ARWV NAME , “U-diskO/wave1.bin”

E BFBERSRMAEESRDPER

BEXHL STL

R3S BR R385 B R3S B R3S B
0 Sine 51 AttALT 102 LFPulse 153 Duty18
1 Noise 52 RoundHalf 103 Tens1 154 Duty20
2 StairUp 53 RoundsPM 104 Tens2 155 Duty22
3 StairDn 54 BlaseiWave 105 Tens3 156 Duty24
4 Stairud 55 DampedOsc 106 Airy 157 Duty26
5 Ppulse 56 SwingOsc 107 Besselj 158 Duty28
6 Npulse 57 Discharge 108 Bessely 159 Duty30
7 Trapezia 58 Pahcur 109 Dirichlet 160 Duty32
8 Upramp 59 Combin 110 Erf 161 Duty34
9 Dnramp 60 SCR 111 Erfc 162 Duty36
10 ExpFal 61 Butterworth 112 Erfcinv 163 Duty38
11 ExpRise 62 Chebyshev1 113 Erflnv 164 Duty40
12 Logfall 63 Chebyshev2 114 Laguerre 165 Duty42
13 Logrise 64 TV 115 Legend 166 Duty44
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#3|5 B %35 B #3l5 B #3l5 B
14 Sqrt 65 Voice 116 Versiera 167 Duty46
15 Root3 66 Surge 117 Weibull 168 Duty48
16 XA2 67 Radar 118 LogNormal 169 Duty50
17 XA3 68 Ripple 119 Laplace 170 Duty52
18 Sinc 69 Gamma 120 Maxwell 171 Duty54
19 Gaussian 70 StepResp 121 Rayleigh 172 Duty56
20 Dlorentz 71 BandLimited 122 Cauchy 173 Duty58
21 Haversine 72 CPulse 123 CosH 174 Duty60
22 Lorentz 73 CWPulse 124 Coslnt 175 Duty62
23 Gauspuls 74 GateVibr 125 CotH 176 Duty64
24 Gmonopuls 75 LFMPulse 126 CscH 177 Duty66
25 Tripuls 76 MCNoise 127 SecH 178 Duty68
26 Cardiac 77 AM 128 SinH 179 Duty70
27 Quake 78 FM 129 Sinint 180 Duty72
28 Chirp 79 PFM 130 TanH 181 Duty74
29 Twotone 80 PM 131 ACosH 182 Duty76
30 SNR 81 PWM 132 ASecH 183 Duty78
31 Hamming 82 EOG 133 ASinH 184 Duty80
32 Hanning 83 EEG 134 ATanH 185 Duty82
33 Kaiser 84 EMG 135 ACsch 186 Duty84
34 Blackman 85 Pulseilogram 136 ACoth 187 Duty86
35 Gausswin 86 ResSpeed 137 Bartlett 188 Duty88
36 Triang 87 ECG1 138 BohmanWin 189 Duty90
37 BlackmanH 88 ECG2 139 ChebWin 190 Duty92
38 Bar“erft'Ha” 89 ECG3 140 | FlattopWin 191 Duty94
39 Tan 90 ECG4 141 ParzenWin 192 Duty96
40 Cot 91 ECG5 142 TaylorWin 193 Duty98
41 Sec 92 ECG6 143 TukeyWin 194 Duty99
42 Csc 93 ECG7 144 Duty01 195 demo1_375
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#5|S 2R #5|S Z 3|S5 e 3|S5 2R
43 Asin 94 ECGS8 145 Duty02 196 demo1_16k
44 Acos 95 ECG9 146 Duty04 197 demo2_3k
45 Atan 96 ECG10 147 Duty06 198 demo2_16k
46 Acot 97 ECG11 148 Duty08
47 Square 98 ECG12 149 Duty10
48 SineTra 99 ECG13 150 Duty12
49 SineVer 100 ECG14 151 Duty14
50 AmpALT 101 ECG15 152 Duty16

&I TERERADESNERNBREFIERSI

LBHIES SDG SDG SDG SDG SDG SDG SDG

SR 800 1000 2000X 5000 1000X 6000X/X-E 7000A

INDEX 0~46 2~198 2~198 2~198 2~198 2~198 0~198

#iE: TRERTHNHSEARR SDG RFA T Ak
EHIES SDG SDG SDG SDG SDG SDG SDG
L 800 1000 2000X 5000 1000X 6000X/X-E 7000A
<channel> I =] =] =] =] =] =]
= = =] =]
INDEX =) =l (IXNERA =l (INERER (IRERER (INERER
BIER) ) ) )
E=) =) = =)
(INEH (REBFZE (REEFZE (RERFZE
NAME =] E=) FPENE E=) MK ) SR ) SOET )
) ¥ 2 % 2
%3
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3.11.2 FERBEMARICIRED

iR SR FREARRFEAMCHX
e’k & <@BE>:MSWitch <{R7Z&>
EHifE®E B <i@iE>:MSWitch?
0 RZAG =X <RZ&>
=B FTFFRICFH X :
C1:MSWitch ON
EEEFZ IR
C1:MSWitch?
R[EE:
ON
iP5 S AFREFEERFARCMNE
we/E B <iBE&E>MPOS <2#>
EiFEx BR: <@E>:MPOS?
0 SZAG = <SH>
5 REMRICAERN 100:
C1:MPOS 100
BEEARICAE
C1:MPOS?
R[EE:
100
&F: TERERBAGLEAR SDG RFH o] AM
PR SDG SDG SDG SDG SDG SDG SDG
P 800 1000 2000X 5000 1000X 6000X/X-E 7000A
MSWitch I x I I I I =)
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3.12 EHHS

O RA& =

Hl

5l

<JB1E>:SYNC <RZ&>
<J®&>:={C1,C2}.
<JR75>:= {ON,OFF}.

<iE&>:SYNC?
<i@i&>:={C1, C2}.

<1BiE>:SYNC <Jk7&>

FTF CH1 EIZTIRE:

C1:SYNC ON

ZE CH1 MES hEekS
C1.SYNC?

R[EE:

C1:SYNC ON, TYPE,CH1

<i@E>:SYNC <&#>, <{@>
<i@i&>: ={C1, C2}

<2#>: =TYPE

<{&>: ={CH1, CH2, MOD_CH1, MOD_CH2}

B CH1 AHES:
C1:SYNC TYPE, CH1

&i: TEEFBASSEARR SDG KIIMTTH

PRTIPN SDG SDG SDG SDG SDG SDG SDG
R 800 1000 2000X 5000 1000X 6000X/X-E 7000A
SYNC x =] E=) =] =] =) =)
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3.13 EHEUTS

iR WS AFRER MNEENBLE L
SoEE EQPHASE
0@ A&t EQPHASE <jR7&>
B RERMEAL:
EQPHASE
BHISS SDG SDG SDG SDG SDG SDG SDG
SR 800 1000 2000X 5000 1000X 6000X/X-E 7000A
EQPHASE I E=) E=) =] a8 =] =]

3.14 ¥HFEAHm

i LS AT IRENE R FREN,

NumBer_ForMatPNT, <pnt>, SEPT, <sept>
<pnt>:= {Dot (&), Comma (i5) }, NHAER
<sept>:= {Space (=4&), Off (Xi), On (¥TF) }. PRFFEX

i A& =0

5l

NBFM?

NBFM PNT, <pnt>, SEPT, <sept>

BE/NMNIEEL A
NBFM PNT,.DOT

REDEFSHITH:
NBFM SEPT,ON

IR F S :

NBFM?

REE

NBFM PNT,DOT,SEPT,ON

SDG
800

SDG
1000

SDG
2000X

SDG
5000

SDG
1000X

SDG
6000X/X-E

SDG
7000A

x
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EFifiE*,
O RzA& =

Bl

I LRENERBRRRES,

LanGuaGe <i&E=>

<iEZ>: ={EN, CH, RU}, HEf EN %iE, CH 24X, RU %X

LAnGuaGe?

LAGG <iE=>

REEBESNRE:
LAGG EN

ERHERARIES:
LAGG?

R[EE:

LAGG EN

X TRERBADLIEARR SDGC RFHoTAM

A SDG SDG SDG SDG SDG SDG SDG
BHIwS 800 1000 2000X 5000 1000X 6000X/X-E 7000A
RU x S x x x % %

3.16 EE®

iR REF BRI EBEFVIER

L % 1: Sys CFG<#&Ez{>
<#z>: = {DEFAULT (ZtiA), LAST (E)X), USER (FHF) }
#3 2: Sys CFG < &>, <>
<feE>: = {USER (EEFNIKEI ), PRESET (ERKESH) }
<BFE>: = {HPEME (K, MEFHE, UR) NREXHNERE, 8
BX4EZHEER)

EifiEE Sys_CFG?

O RzA& =X SCFG<#&=>
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w1

2

B3

#E1:

%go

SCFG<EE>, <K#&>

RE FBEFNREHN LR
SCFG LAST

REFIIRE S :
SCFG USER,“net_storage/config/state.xml”
BY: SCFG USER,“U-diskO/config/state.xml”

Bf: SCFG USER,‘“Local/state.xml”

REWRE X
SCFG PRESET,RESETconfig/state.xmlig/state.
z¢: SCFG PRESET,RU-disk0/config/state.xmli

z¢: SCFG PRESET,RESETconfig/state

BEOMEANGIS, RXEFEEVIRNERSE xml, BATABREES

#iE 2: 1830 21X SDG7000A % ¥5,

3.17 BRIfIRES

1%

EHIEE

1

=~ 2

i< AFIREREH B AN E

SYST-DATE <A &3>
<BHHE>: = {(EZRENBH, KX yyyy/mm/dd }.
SYST: TIME <Bfg>

<EfE>: = {ERENE, $&=X: hh/mm/ss }.

SYST:DATE?
SYST:TIME?

REBHIA 2021/01/10
SYST:DATE 20210110

RENEA 10:06:32
SYST.TIME 100632

EXHEE
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& TEERBAGLERR SDG RIIM TR

BHIES SDG SDG SDG SDG SDG SDG SDG
=arne 800 1000 2000X 5000 1000X 6000X/X-E | 7000A
MODE % x % % % % =]
3.18 FAHH LBEXD
Ei::p% SR TFIRE FBEEFV S REF
Bk POWER:ON:MODE<{g>
<{E>: ={1, 2}.
B 1 RBEAN
BN 2: TEHEEFN
EWER POWER:ON:MODE?
I Rz 5 POWER:ON:MODE<{&>
~Hl BRE FEEEFN:
POWER:ON:MODE 2
&iE: TRERTAHLSEAR SDG RFHTT Ak
PP SDG SDG SDG SDG SDG SDG SDG
eI 800 1000 2000X 5000 1000X 6000X/X-E | 7000A
MODE x x % % % I =

3.19 RiEH

1P

O RzA& =X

< AT AHE XM ERE5

KEY<JR7Z&S>
<IR7Z&>: ={ON, OFF}.

KEY?

KEY<JR7S>
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<l

& TEERBAGLERR SDG RIIM TR

FTFRTEAR RS :

KEY ON

PPN SDG SDG SDG SDG SDG SDG SDG
SR 800 1000 2000X 5000 1000X 6000X/X-E 7000A
KEY T x T x % T =]
3.20 EISEH
Ei:p% WS FITHHE XAEISE
we/E BUZZer<}k &>
<{R7Z&>: ={ON, OFF}.
EiEE BUZZer?
0 fzAg 0 BUZZ<RZ>
]l ITFFEISES
BUZZ ON
i TREREBHNGSEARR SDG R o] A
SIS SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A
BUZZ =] E=) =] =] =] =) =)

1%

321 B@EMAERIRED

HSHTFFIRAN, RESSRNMAREE.

COUP TRDUCH, <£#{>
<8¥>: = {OFF, ON}.

COUP?
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0 RZAG =X COUP\sTRACE,OFF,FCOUP,OFF,PCOUP,0OFF, ACOUP,OFF, TRDUCH,<&
>
AN WEFHMARN, ENAAREE:
COUP TRDUCH,ON
EEYPIAEEM LI E IR
COouP?
R[EE:
COUP\sTRACE, OFF,FCOUP.OFF,PCOUP.OFF,ACOUP.OFF, TRDUCH,ON\n
&iF: TRETRHSEARRE SDG R oTHM,
BHIBS SDG SDG SDG SDG SDG SDG SDG
e 800 1000 2000X 5000 1000X 6000X/X-E 7000A
COUP
TRDUCH x x 5 x x x x

322 REFRIP®S

ik S AFXANTRERSRIPRE (B ASHE),
L SCreen_SaVe <&#>
<&#{>. ={OFF, 1, 5, 15, 30, 60, 120, 300}.
i iEE SCreen_SaVe?
i RzA& =0 SCSV<&#>
Bl RERBRIPEIEN 5 9.
SCSVv 5
EEH RN FSRIPETE
SCreen _SaVe?
R[EE:
SCSV 5MIN
LRIES SDG SDG SDG SDG SDG SDG SDG
Sare 800 1000 2000X 5000 1000X 6000X/X-E 7000A
BUZZ =] =] =] =] =] =] =]
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3.23 HiESH

R WS E N EIRNETER, HIRE 10MHZ P,
mIEE #¥= 1: ROSCillator <src>

<src>:= {INT (NERETER), EXT (4MERETER) }

= 2: ROSCillator 10MOUT, <state>
<state>:= { ON, OFF } BY#p&HIRES

EHIEE ROSCillator?
o RA& = ROSC <src>,10MOUT,<state>
B RE R BRI ELE A B ERhIR
ROSC INT
FTFF 10MHz BEhEgH -

ROSC 10MOUT,ON

#E: TRETHDHLIEARR SDG RINHIT A,

SRS SDG SDG SDG SDG SDG SDG SDG
= E 800 1000 2000X 5000 1000X 6000X/X-E 7000A
ROSC T = = =] =] = =
3.24 ARt
1% I @mIRBREFREUARIT S,
mSEE FreqCouNTer <&#{>, <{&>
<B¥>: = {TRNSL).
<{E>: = {({EXSHNE].
2% =1 RR
STATE <state> = {ON, OFF}, MZHHRE
FRQ <frequency> MEMER, BARMHEL "Hz", FBERE.
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PW <pos_width> MEIERKE, BURR “s”, FBERE.,
NW <neg_width> WERRKE. BAUER "s”, FEERE.
DUTY <duty> MESTE, BAUR "%", FEERE.
FRQDEV <freq_dev> MERERE., BAUZE "ppm”, REERE.
REFQ <ref_freq> BEMER, BT HHERERREE. BURHE "HZ",
TRG <triglev> it & BB BRUENEEBUR TR BUERE "V,
MODE <mode> :={AC, DC}, B&t&E
HFR <HFR> :={ON, OFF}, S5 MEIRE
EifiEE FreqCouNTer?
I Rz 5 FCNT <3#>
<BH>= AERITNRESE)
Bl FTFF SRR It

FCNT STATE,ON
RESEMEN 1000Hz
FCNT REFQ,1000

TR IHER:
FCNT?
REME:

FCNT STATE,ON,FRQ,10000000HZ,DUTY,59.8568,REFQ,
1e+07HZ, TRG,0V,PW,5.98568e-08S,NW,4.01432e-08S,FRQDEYV,
Oppm,MODE,AC,HFR,OFF

& TEEFBASIEARR SDG KA MM

PRI SDG SDG SDG SDG SDG SDG SDG
R 800 1000 2000X 5000 1000X 6000X/X-E 7000A
FCNT x =) =) =) =) =) I
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3.25 ¥R’ H< (X SDG7000A)

&otest :SENSe:COUNTer
D% BFEEHESRESHNIEE SR,

EMEGHS M 3.25.1~3.25.30

R ZamLiR B MRS
WEE :SENSe:COUNTer:CONFig: <&#{> <{&>

<B#>= TR
<{g>:= {BXSHE).

¥ =1 iR
={OFF, ON} g {0, 1}
STATe <state>
FR XA E=S
:={ FREQuency, TOTALizer}
MODE <state>
METHEN STHEEER
COUPLIng <mode> :={AC, DC}, BEtER
HFREJect <HFR> :={OFF, ON} = {0, 1}, SMINHEIRS
_ _ R B, BRENTERR TR, BA2RE V",
TLEVel <triglev><unit>
<Bf[>:={V, mV, uvV}
SEXIT <mode> = { OFF, ON} = {0, 1}, FF/BEiXH
PAUSe <state> ={ OFF, ON}, &{EHx
EifjiEk :SENSe:COUNTer:CONFig: <&#{>?
) Rz A =X <&x>
Bl RETHHSEBEER ARMEN

:SENSe:COUNTer:CONFig:COUPLIing AC

R ZnLREMETER TNESH
wEE :SENSe:COUNTer:FREQuency: <&#> <{g>

<s¥>= (TE2H)
<{E>:= (XS HHE).
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24 | R

<2£#>={ FREQ, PERIOD, DUTY_CYCLe},

MEASure < type > -
MR, B, 5=t

RFREQuency | <frequency><unit> | <B{i>:={Hz, MHz, GHz}, BRIN B2 /%L “HZ"

EEEE :SENSe:COUNTer:FREQuency:MEASure[:type]?
0 RZAE =0 <tgz>
=~ REMRIHEXTHOVNELE NEE:

:SENSe:COUNTer:FREQuency:MEASure PERIOD

R ZanSHTEEMERIHELTUENER
mEEE :SENSe:COUNTer:FREQuency: <jl| & 28> <SH><[2HF]>?

<MEXA>: ={fkE, PERiod, DUTY} iR, F#. 5=tk
<B#(>: = {fk4, SNUMBer, MEAN, MAX, MIN, SDEViation }
MEXBHSTAHME, MERBARAFIRE, MWEXBNFINE, NEXRD
NEXE, WEXBNR/IME, WEXRNINEE

<%#>: = { FDEViation }{R7EM £ K8 2 4FRER T o]/

EWER :SENSe:COUNTer:FREQuency:SNUMBer?
0 RZAE = <t&=>

Ei::p% ZomSHTRETHSBELATNESH
wiEE :SENSe:COUNTer: TOTalizer: <&#> <{&>

<BH>:= {TR3%)
<{g>:= {{BX S48}
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2% & ik
GATE:STATe <type> <RZ&>={ OFF, ON}={0, 13FEH X
EDGE <edge> <j#ig>:={RISE, FALL}, EFHE= TG
<#&x(>:={LEVEL, AFTER _EDGE}, B¥&j
GATE:MODE <mode> -
BinRERN
<tR4>:= { NEGative, POSitive}, ARkt
GOLarity:GATE:POLarity | <polarity>
IR
GOLarity:GATE:EDGE <edge> <i#iG>={RISE, FALL}, EFHG= TG

3.25.1 :SENSe:COUNTer:CLEar

R
wiEE
O RA& =

5l

=

Zan AT ERTHHEEL TUENRIHMES

:SENSe:COUNTer:CLEar

BRI HSREL TNE NS
:SENSe:COUNTer:CLEar

{EATF SDG7000A

3.25.2 :SENSe:COUNTer:FREQuency:MEASure[:type]

1S

0 RzA& =X

=l

ZLIRERRUEN TR ESX

:SENSe:COUNTer:FREQuency:MEASure[:type] <% >
<##>:= { FREQ, PERIOD, DUTY_CYCLe }, #iZR. FAHi. =L

:SENSe:COUNTer:FREQuency:MEASure[:type]?

<ZEHEI>

REMRIHRN TN EXE AL
:SENSe:COUNTer:FREQuency:MEASure PERIOD

Lan SRR MR BB, (EATF SDG7000A
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3.25.3 :SENSe:COUNTer:FREQuency:RFREQuency

1235 ZomLREMRIHER THESE MR
weEx :SENSe:COUNTer:FREQuency:RFREQuency <$iZ><8 (>

<Sfg>= FRUHWSEMR, ZSHNERERBEEALEFH.
<$fI>:={Hz, MHz, GHz}, BRAR{IR#HH% "Hz"

EHIEE :SENSe:COUNTer:FREQuency:RFREQuency?
O Rz A& X <$%> (F Hz £R)
B REMBIHEA THSEMEN 1MHz:

:SENSe:COUNTer:FREQuency:RFREQuency 1MHz

= L a R HER TN ERE AFRNER, XERT SDG7000A

3.25.4 :SENSe:COUNTer:FREQuency?

Ei::% Za LA TEEMEIHEL TUERELE
EifiE% :SENSe:COUNTer:FREQuency?
0 RZAE = <$AER> (F Hz £R)
Bl FEMER IR TUEARERLER:
:SENSe:COUNTer:FREQuency?
R[EE:

9999996.75781744

E L RERRIHEX TER, (EMT SDG7000A

3.25.5 :SENSe:COUNTer:FREQuency:SNUMBer?

iR EHOATEMREIER FRIERME
EHIEE :SENSe:COUNTer:FREQuency:SNUMBer?
U RZ A 2% <RHERH>
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<l

=

ERMR IR T RIS
:SENSe:COUNTer:FREQuency:SNUMBer?

REME:
2294

LR SIXERMERITHER TER, {ERTF SDG7000A

3.25.6 :SENSe:COUNTer:FREQuency:FDEViation?

1P
EREE
i A& =X

Bl

=

ZoLATEOMREL TNENMRRBEER

:SENSe:COUNTer:FREQuency:FDEViation?

<MEm=E> (FH ppm £R)

BEMEIHEL TUEHARRELER
:SENSe:COUNTer:FREQuency:FDE Viation?
RENE:

-0.324020794406533

WELNERRIHEX THE, RERT SDG7000A

3.25.7 :SENSe:COUNTer:FREQuency:MEAN?

1S
EWEE
i A& =X

=l

=

ZoHATEERERIHER TUENMERFINEER
:SENSe:COUNTer:FREQuency:MEAN?

<$AF> (A Hz £7R)
EWMR IR T EHIARE
:SENSe:COUNTer:FREQuency.MEAN?

RENE:

9999996.79101083

LR SNSRI TAR, NERT SDG7000A
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3.25.8 :SENSe:COUNTer:FREQuency:MEAN:FDEViation?

R ZoTHATEERERIHER TUENMRFIIERES
EifiEE :SENSe:COUNTer:FREQuency:MEAN:FDEViation?
O Rz A& X <$AEfRmE> (FH ppm £R)
B EFEAR TR TN EMMERLIYERES
:SENSe:COUNTer:FREQuency:MEAN:FDE Viation?
REE:
-0.322511510334804
= IEHREMEHERN AR, EATF SDG7000A

3.25.9 :SENSe:COUNTer:FREQuency:MAX?

1% ZanATEEMEIHERN TUSMNMEEXEER
EiEE :SENSe:COUNTer:FREQuency:MAX?
O Rz A& =X <S> (A Hz %£7R)
Nl BWHMRIHRA TUEHMREREER:
:SENSe:COUNTer:FREQuency:MAX?
REE:

9999996.8775536

E HELNERRIHEX THEK, REMRT SDG7000A

3.25.10 :SENSe:COUNTer:FREQuency:MAX:FDEViation?

R ZoTHTEERERIHER TUENMERRRERES
EiEE :SENSe:COUNTer:FREQuency:MAX:FDEViation?
VL = <SAERE> (B ppm &R)

NGl EFEMR RN TN ENMEEKERES

:SENSe:COUNTer:FREQuency:MAX:FDE Viation?
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=

R[EE:
-0.312244639918208

WELNRERRIHEX TER, REMRT SDG7000A

3.25.11 :SENSe:COUNTer:FREQuency:MIN?

R
EFifiE*,
O RA& =

Bl

=

Za<HTEERR TR TN ENARR/IMESER

:SENSe:COUNTer:FREQuency:MIN?

<$FE> (A Hz £7R)

EEMEIHEA TUEHARR/IMEER
:SENSe:COUNTer:FREQuency:MIN?
REE:

9999996.67704201

WaLNERRIHEX THE, RERT SDG7000A

3.25.12 :SENSe:COUNTer:FREQuency:MIN:FDEViation?

1P
EWEE
i A& =X

5l

=

Zan <A TFEEMEIHEL T EMRRG/IMERES
:SENSe:COUNTer:FREQuency:MIN:FDEViation?
<$EMmE> (A ppm £7R)

BEAE TR TN ENMER/IMERES
:SENSe:COUNTer:FREQuency:MIN:FDE Viation?
RENE:

-0.332295799069107

LEa RAEFRHENTEY, UEMAT SDG7000A

3.25.13 :SENSe:COUNTer:FREQuency:SDEViation?

1P

Zan LA TEERRIHER T EMNMRITEZER
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EMEE
i Rz A& =0

Bl

=

:SENSe:COUNTer:FREQuency:SDEViation?

<S> (A Hz £7R)

BIERR RN TN ERARIREES
:SENSe:COUNTer:FREQuency:SDE Viation?
R[EE:

0.395284707521047

WELNERRIHEX THER, REMRT SDG7000A

3.25.14 :SENSe:COUNTe:FREQuency:SDEViation:FDEViation?

R
EFifiEE
O RA& =

Bl

=

ZoLATEORRIEA TN ENMRITEERELR

:SENSe:COUNTe:FREQuency:SDEViation:FDEViation?

<EREE> (K ppm £R)

FFMEFHEN TN ENMRINEERES
:SENSe:COUNTer:FREQuency:SDE Viation:FDE Viation?
RE1E:

-0.332295799069107

HELNERRIHEX TEK, RERT SDG7000A

3.25.15 :SENSe:COUNTer:FREQuency:PERiod?

R
EifiEE
0 RzA& =X

=l

=

ZHLHTEEMRIHRA TNENFHRER

:SENSe:COUNTer:FREQuency:PERiod?

<BE#> (B S %&7R)

BRI TN EN L
:SENSe:COUNTer:FREQuency:PERiod?
REE:

1.00000032802047e-07

LEa RAEPRHENTEY, UEMAT SDG7000A
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3.25.16 :SENSe:COUNTer:FREQuency:PERiod:MEAN?

1P
EREE
i Rz A& =0

<l

=

Zo<LATEERRIHRA TN ENFAFIES

:SENSe:COUNTer:FREQuency:PERiod:MEAN?

<> (H S £7R)

EERRIHEN TN ENFEFIIES
:SENSe:COUNTer:FREQuency:PERiod:MEAN?
RENE:

1.00000032802047e-07

WS SREMBHERL TERIERF SDG7000A

3.25.17 :SENSe:COUNTer:FREQuency:PERiod:MAX?

i
EREE
i A& =X

=l

=

Za<HTEERRIHEA TNENFHRAES

:SENSe:COUNTer:FREQuency:PERiod:MAX?

<BEH#> (B S %&7R)

BEWHRIHRA TUENFAPRRESER:
:SENSe:COUNTer:FREQuency:PERiod:MAX?
RENE:

1.00000033229591e-07

HELNERRIHEX THEK, REMRT SDG7000A

3.25.18 :SENSe:COUNTer:FREQuency:PERiod:MIN?

R
EifiEE
0 RzA& =X

=l

Za<ATEERR IR TN ENFHR/IMES

:SENSe:COUNTer:FREQuency:PERiod:MIN?

<BE#> (B S %&7R)

EWMERIHEX TUENEARR/IMES
:SENSe:COUNTer:FREQuency:PERiod:MIN?
R[EE:

1.00000031224474e-07
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ped WS NERERIHELX TER, (EATF SDG7000A

3.25.19 :SENSe:COUNTer:FREQuency:PERiod:SDEViation?

1117 Zan<ATFEEMEIHEX TUENBABIREES

i EE :SENSe:COUNTer:FREQuency:PERIiod:SDEViation?

O Rz A& X <EH> (A S %7~R)

B FMEIHEN TN ENEARIRNEEER
:SENSe:COUNTer:FREQuency:PERiod:SDE Viation?
RENE:

6.52675178645049e-15

E WaLNERRIHEX TE, RERT SDG7000A

3.25.20 :SENSe:COUNTer:FREQuency:DUTY?

Ei:3% ZoSHETEIMKRITEL TSN S

EiEE :SENSe:COUNTer:FREQuency:DUTY?

0 SZAG = <HZtb> (A%EAHEERR)

5 FWIRRITEL TNEN L
:SENSe:COUNTer:FREQuency:DUTY?
REME:

49.8178520697226

E HELNERRIHEX THEK, RERT SDG7000A

3.25.21 :SENSe:COUNTer:FREQuency:DUTY:MEAN?

1% ZHLHTEERR IR TN EN S TEES

i iEE :SENSe:COUNTer:FREQuency:DUTY:MEAN?

O A& =X <hZt> (B%BEDHER)
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<l

=

EBEHRITEL TUNEN S FEES
:SENSe:COUNTer:FREQuency:DUTY:MEAN?

REME:
49.8204827053384

WS SREMEHERXTER, EBTF SDG7000A

3.25.22 :SENSe:COUNTer:FREQuency:DUTY:MAX?

1P
EREE
i A& =X

Bl

=

ZHn<HTEERRITRA TNENASEXES

:SENSe:COUNTer:FREQuency:DUTY:MAX?

<haZH> (B%ANLER)

BEWHRITRA TUEN ST R KES
.'SENSe.COUNTer.FREQuency.DUTY.I\/IAX?

R[EE:
1.00000033229591e-07

WELNERRIHEX THE, RERT SDG7000A

3.25.23 :SENSe:COUNTer:FREQuency:DUTY:MIN?

1S
EWEE
i A& =X

=l

=

ZaLATEORRIHEN TUEN = R/IMES

:SENSe:COUNTer:FREQuency:DUTY:MIN?

<aZL> (A%AAHERR)

FEHRITHEXA TUEN ST HRIMESE
:SENSe:COUNTer:FREQuency:DUTY: MIN?
R[EE:

49.8071405616451

LR SNSRI TER, NERT SDG7000A
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3.25.24 :SENSe:COUNTer:FREQuency:DUTY:SDEViation?

R ZoTHTEEREIHER TUEN ST IREES
EifiEE :SENSe:COUNTer:FREQuency:DUTY:SDEViation?
0 R4S =X <hZtk> (A%BEREER)
B TR RN TN ENEBIREES
:SENSe:COUNTer:FREQuency:DUTY:SDEViation?
REE:
0.00505753455971934
= IEHREMEHERN AR, UEATF SDG7000A

3.25.25 :SENSe:COUNTer:TOTalizer:GATE:STATe

R ZH < ATREHSBEN FOHSESBIERES
HSiEE :SENSe:COUNTer:TOTalizer:GATE:STATe <{R7>

<JR7>:= {OFF, ON} = {0, 1} X

EEE :SENSe:COUNTer:TOTalizer:GATE:STATe?
I REAE =0 RS>
=Bl RETHEER THHEEMTIERSH 75

:SENSe:COUNTer:TOTalizer:GATE:STATe ON

E I HREHHREXN AU MEBENEY, (VEATF SDG7000A

3.25.26 :SENSe:COUNTer:TOTalizer:EDGE

Ei::p% ZonSHTFRETHEEL TR EsMAREER
nSEE :SENSe:COUNTer:TOTalizer:EDGE <jfi;5>

<ifiif>:={RISE, FALL}, tFHBE TG

EifjiExR :SENSe:COUNTer:TOTalizer:EDGE?
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O RzA& =

Bl

=

<ig>

WEIHESEEN TR SE AN RR A EFHHE:
:SENSe:COUNTer:TOTalizer:EDGE RISE

I RE U HREN A MR AN, (UEATF SDG7000A

3.25.27 :SENSe:COUNTer:TOTalizer:GATE:MODE

WX
i A& =X

5l

=

Za < AT IRETHEFRR TR RN

:SENSe:COUNTer: TOTalizer:GATE:MODE <#t&Z,>
<3 >={LEVEL, AFTER_EDGE}, B¥siI5/E1&E

:SENSe:COUNTer: TOTalizer:GATE:MODE?

<t&Ez>

REHERN TR =R R E L N B FAER
:SENSe:COUNTer:TOTalizer:GATE:MODE LEVEL

L a R HBIE N AT HERNEN, (UERAT SDG7000A

3.25.28 :SENSe:COUNTer:TOTalizer:GOLarity:GATE:POLarity

1S

wREE

HifEE
0 RzA& =X

=l

=

Zn < AT IRE MR TR s 2RI

:SENSe:COUNTer: TOTalizer:GATE:POLarity <#R/#>
<fM>:= { NEGative, POSitive}, fatRitslERME

:SENSe:COUNTer:TOTalizer:GATE:POLarity?

<tRfE>

RETHEEN TR EES I HRRME Y EARM
:SENSe:COUNTer:TOTalizer:GATE:POLarity POSitive

LaRAEUHRIEN AN BFRAER, ERT SDG7000A
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3.25.29 :SENSe:COUNTer:TOTalizer:GOLarity:GATE:EDGE

EFifiE*,
O RzA& =

Bl

=

Zan QAT IREHHEEN TR =R =dE

:SENSe:COUNTer:TOTalizer:GATE:EDGE <jfii&>
<i#ig>={RISE, FALL}, EFRE TR

:SENSe:COUNTer:TOTalizer:GATE:EDGE?
<ihyE>

REWTHSRA TSR =BEA EFha:
:SENSe:COUNTer:TOTalizer:GATE:EDGE RISE

LR LIRE MR AN LEEEREER, NERT SDG7000A

3.25.30 :SENSe:COUNTer:TOTalizer?

i
EREE
i A& =X

=l

=

Zan<HTEEHHHFEEATUNENRIMES

:SENSe:COUNTer: TOTalizer?

<ZiHE> (A Hits ®R)

BRI HFEATVNENRIHEER
:SENSe:COUNTer:TOTalizer?
R[EE:

13364879033

LIRSS ER TEK, {ERTF SDG7000A
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3.26 R#EHS
R WS ATIRESNE KBS EEEIRME,
mEBE <SEE>: INVerT <jkzA>
<\@E>: ={C1, C2}.
<{R7#&>: ={ON, OFF}.
EifiEx <j@iE>: INVerT?
<@i@>: ={C1, C2.
0 A& =X <IBE>:INVT <RA>
] %E CH1 Btk =48

C1:INVT ON

JEEY CH1 BOARM:
C1:INVT?
R[E{E:

C1:INVT ON

X TRERBADLIEARR SDGC RFHTAM

SDG SDG SDG SDG SDG SDG SDG

F-N
BRIm<S 800 1000 2000X 5000 1000X 6000X/X-E 7000A
<channel> I =) =) =] =] =] =]

327 HFEEB/BDL

L HHSAFIRENFIRESRNF XA LLAE,
W RIEE <BE>: FlLTer<&#>, <f@>

<BH>: = {TRNSH}.
<{Eg>: = (BX3HWIE).
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28 =1 iR
STATE <state> :={ON, OFF}, ¥ZFREBIRE
={100MHz £ #BFTE}, BUAIME, BFRE
COFF_FRQ <cutoff_freq> s .
MEIRRBE LR,
HFiFEx <i@i&>: FILTer?
<i@i@>: ={C1, C2).
0 RZAE =X <@E>: FILT <8%>, <@E>
=~ RE CH1 MEFREBHE:

C1:FILT STATE,ON

RE CH1 B #FIRiK 258 LE5RZR 200MHZ:
C1:FILT COFF_FRQ,200000000

Eif) CH1 MM FIRKHER:
C1:FILT?

R[EE:
STATE,OFF,COFF_FRQ,350000000HZ

MRS HEARRE SDG KI5y Ak

BRIES SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A
STATE I I %I T x I =]
COFF_FRQ I I T I I I =]
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3.28 EBiEEAGY

3% WENEREBERGSH ., REEERMEXANT#EEREE.
wRIEE COUPling<2#1>, <f&>

<B¥>: = (FRISH)
<{E>: = (BXSHE).

B4 & i3

TRACE <track_enble> | :={ON, OFF}; BERFRKE

STATE <state> :={ON, OFF}; BEHJBaRE

BSCH <bsch> :={CH1, CH2}; EX&EE

FCOUP <fcoup> :={ON, OFF}; MZEB/BERS

FDEV <frq_dev> =HBERNMEEE, BARME HZ'

FRAT <frat> =PHIRIE B RS ER LB

PCOUP <pcoup> :={ON, OFF}; H{BaRE

PDEV <pha_dev> =HBEENENEE. BNR'E

PRAT <prat> =RIBEE MBI E.

ACOUP <acoup> :={ON, OFF}; RBEZBEIRE

ARAT <arat> =RBEENEELE

ADEV <adev> =REEENEERE. BUNRE, BEE V.
TiFEx COUPling?
i A& =X COUP <&#>

<2H> = {MERa2HE).

Zy'] RE SDG1000 BERSHITF:
COUP STATE,ON

REMKREN 5Hz:
COUP FDEV,5

RERELLGIN 2:
COUP ARAT,2
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&) SDG2000X FEEER :

COUP?

R[EE:
COUPTRACE,OFF,FCOUPON,PCOUPRP.ON,ACOUPON,FDEYV,
5HZ,PRAT, 1,ARAT,2

&iE: TRETEDGHLEARR SDG RFIBynl Atk

SHIES SDG SDG SDG SDG SDG SDG SDG
bt 800 1000 2000X 5000 1000X 6000X/X-E 7000A
COUP x 8 = g =) =] =]
TRACE I T =) x =] =] =]
STATE T B x = I x %
BSCH ¥ =} 7 =} 7 7 7
FCOUP x T =] % =} =] =)
FRAT x T =] % =} =] =)
PCOUP I %I E=) = E=] =] =)
PRAT I %I E=) = E=] =] =)
ACOUP x T =] % =} =] =)
ARAT x T =] % =} =] =)
ADEV x T =] % =} =] =)
3.29 TERIPHES
D% S AFRESHZ RV ERIPIRS.
i iEx VOLTPRT<IRZ>
<K7%&>: ={ON, OFF}
EHIEE VOLTPRT?
I PrAg = VOLTPRT<JR7E&>
#F: TRERBA®LEAR SDG RFB o] AM
PATIPON SDG SDG SDG SDG SDG SDG SDG
AL 800 1000 2000X 5000 1000X 6000X/X-E 7000A
VOLTPRT I =] =] % =] =] =]
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3.30 TRFRIPHS
iR SR TFIREHEREUTREIPKRE.
weiEER CURRPRT<JA 7>
<}k7%&>: ={ON, OFF}
i EE CURRPRT?
O R4 0 CURRPRT <Jk7&>
&iE: TRERTAHLSEAR SDG RFHT A
SHIES SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A
CURRPRT I E=) =] = =] =] =)
3.31 BEIRREES
D% WHSHTFREEETERSEE, SR, I).
&SEE VOLTSTAT?
EWiEE VOLTSTAT?
&F: TRERBAGLEAR SDG RFIHy o] B
PPN SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A
VOLTSTAT? I =) =) I =) =] =)
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3.32 OUTPUT Biise

O RA& =

Bl

WS AFIREHEN output B,

<j@)&>:0UTPut:SKEW <{g>
<@i&>=(C1,C2}

<f@>={-0.2 F 0.2}, BfI “ns’
<iBiE>:OUTPut:SKEW?
<i@&E>={C1,C2)

<BE>

<{E>: ={(HanEEIRENE)

1% E C1 J&@J& output BFi#% A 0.2ns:
C1:.0UTPut:SKEW 0.2e-9

EEEY C1 i@JE output BF7F :
C1:0UTPut:SKEW?

R[EE:
2e-10

#E: TRETRZHLHEARR SDG RFIH I Bk

PANEON SDG SDG SDG SDG SDG SDG SDG
et 800 1000 2000X 5000 1000X 6000X/X-E 7000A
SKEW I %I %I x T I =)
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3.33 REIXRD

iR oSBT EREEREEIENER, EFEEMVAT, ZHBRE
“EMPTY"” ZE&.

EiEiEE STorelList?
SToreList? <&#{>
SToreList? <USER>, <i&{2>
<BH>=: {TERRSH
<BEFE>=: (BEENEZEMHEIAE U ZEE, LTE)

O R4 0 <KZFR>
28 Ihge
BUILDIN <S#> EHRNEEFERRRSS
USER <S#> T WA MRFHEFBIR

B (RATH, TIHEEMS

FHER U SERTERER) e

“net_storage/wave” <ER> BHNZFEEE TREFNREZIR
“U-diskO/wave” <> EFif U £ 0 BETREIRFERAR
“U-disk1/wave” <fg#2> i U 8 1 BETRENRESR
“U-disk2/wave” <g&12> T U 8 2 BETRENREAR
5 (1) ERREERETHNAEEREEE (FEENEERE, USD
BIEHE ) :
STL?
REE:

STL MO, sine, M1, noise, M2, stairup, M3, stairdn, M4, stairud,
M5, ppulse, M6, npulse, M7, trapezia, M8, upramp, M9, dnramp,
M10, exp_fall, M11, exp_rise, M12, logfall, M13, logrise, M14,

sqrt, M15, root3, M16, x"2, M17, x"3, M18, sinc, M19, gaussian,
M20, dlorentz, M21, haversine, M22, lorentz, M23, gauspuls, M24,
gmonopuls, M25, tripuls, M26, cardiac, M27, quake, M28, chirp,
M?29, twotone, M30, snr, M31, EMPTY, M32, EMPTY, M33, EMPTY,
M34, hamming, M35, hanning, M36, kaiser, M37, blackman, M38,
gaussiwin, M39, triangle, M40, blackmanharris, M41, bartlett, M42,
tan, M43, cot, M44, sec, M45, csc, M46, asin, M47, acos, M48,
atan, M49, acot, M50, EMPTY, M51, EMPTY, M52, EMPTY, M53,
DDROPOUT, M54, FCLK1, M55, FSDA1, M56, EMPTY, M57,
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EMPTY, M58, EMPTY, M59, EMPTY

(2) EBRFEIRETHRNERIEIE:
STL? BUILDIN
REE:
STL M10, ExpFal, M100, ECG14, M101, ECG15, M102, LFPulse,
M103, Tens1, M104, Tens2, M105, Tens3, M106, Airy, M107,
Besselj, M108, Bessely, M109, Dirichlet, M11, ExpRise, M110, Eff,
M111, Erfc, M112, Erfcinv, M113, Erfinv, M114, Laguerre, M115,
Legend, M116, Versiera, M117, Weibull, M118, LogNormal, M119,
Laplace, M12, LogFall, M120, Maxwell, M121, Rayleigh, M122,
Cauchy, M123, CosH, M124, Cosint, M125, CotH, M126, CscH,
M127, SecH, M128, SinH, M129, Sinint, M13, LogRise, M130,
TanH, M131, ACosH, M132, ASecH, M133, ASinH, M134, ATanH,
M135, ACsch, M136, ACoth, M137, Bartlett, M138, BohmanWin,
M139, ChebWin, M14, Sqrt, M140, FlattopWin, M141, ParzenWin,
M142, TaylorWin, M143, TukeyWin, M144, SquareDuty01, M145,
SquareDuty02, M146, SquareDuty04, M147,SquareDuty06, M148,
SquareDuty08, M149, SquareDuty10, M15, Root3, M150,
SquareDuty12, M151, SquareDuty14, M152, SquareDuty16, M153,
SquareDuty18, M154, SquareDuty20, M155, SquareDuty22, M156,
SquareDuty24, M157, SquareDuty26, M158, SquareDuty28, M159,
SquareDuty30, M16, X"2, M160, SquareDuty32, M161,
SquareDuty34, M162, SquareDuty36, M163, SquareDuty38, M164,
SquareDuty40, M165, SquareDuty42, M166, SquareDuty44, M167,
SquareDuty46, M168, SquareDuty48, M169, SquareDuty50, M17,
X3, M170, SquareDuty52, M171, SquareDuty54, M172,
SquareDuty56, M173, SquareDuty58, M174, SquareDuty60, M175,
SquareDuty62, M176, SquareDuty64, M177, SquareDuty66, M178,
SquareDuty68, M179, SquareDuty70, M18, Sinc, M180,
SquareDuty72, M181, SquareDuty74, M182, SquareDuty76, M183,
SquareDuty78, M184, SquareDuty80, M185, SquareDuty82, M186,
SquareDuty84, M187, SquareDuty86, M188, SquareDuty88, M189,
SquareDuty90, M19, Gaussian, M190, SquareDuty92, M191,
SquareDuty94, M192, SquareDuty96, M193, SquareDuty98, M194,
SquareDuty99, M195, demo1_375pts, M196, demo1_16kpts,
M197, demo2_3kpts, M198, demo2_16kpts, M2, StairUp, M20,
Dlorentz, M21, Haversine, M22, Lorentz, M23, Gauspuls, M24,
Gmonopuls, M25, Tripuls, M26, Cardiac, M27, Quake, M28, Chirp,
M?29, Twotone, M3, StairDn, M30, SNR, M31, Hamming, M32,
Hanning, M33, kaiser, M34, Blackman, M35, Gausswin, M36,
Triangle, M37, Bartlett-Hann, M38, Bartlett, M39, Tan, M4, StairUD,
M40, Cot, M41, Sec, M42, Csc, M43, Asin, M44, Acos, M45, Atan,
M46, Acot, M47, Square, M48, SineTra, M49, SineVer, M5, Ppulse,
M50, AmpALT, M51, AttALT, M52, RoundHalf, M53, RoundsPM,
Mb4, BlaseiWave, M55, DampedOsc, M56, SwingOsc, M57,
Discharge, M58, Pahcur, M59, Combin, M6, Npulse, M60, SCR,
M61, Butterworth, M62, Chebyshev1, M63, Chebyshev2, M64, TV,
M65, Voice, M66, Surge, M67, Radar, M68, Ripple, M69, Gamma,
M7, Trapezia, M70, StepResp, M71, BandLimited, M72, CPulse,
M73, CWPulse, M74, GateVibr, M75, LFMPulse, M76, MCNoise,
M77, AM, M78, FM, M79, PFM, M8, Upramp, M80, PM, M81, PWM,
M82, EOG, M83, EEG, M84, EMG, M85, Pulseilogram, M86,
ResSpeed, M87, ECG1, M88, ECG2, M89, ECG3, M9, Dnramp,
M90, ECG4, M91, ECG5, M92, ECG6, M93, ECG7, M94, ECGS,
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M95, ECG9, M96, ECG10, M97, ECG11, M98, ECG12, M99,
ECG13

(3) EECRBERETHAFEX R EIR:
STL? USER

R[EE:
STLWVNM,sinc_8M,sinc_3000000,sinc_1664000,

ramp_8M,sinc_2000000,sinc_50000,square_8M,sinc_5000,wave1,
square_1M

(4) EBCREMEFREEKEER:
STL? USER, net_storage/wave”
REME:
net_storage/wave,STLWVNM,AutoWave2,wave1,AutoWave,
ExpFal, test-sq,Besselj,libEasyLib

&iE: TRERISIERRE SDG RFIH T B
BHIBS SDG SDG SDG SDG SDG SDG SDG
w 800 1000 2000X 5000 1000X 6000X/X-E 7000A
R
WEER | MR R APEN
St BPEX | APEN | MERE | BPEX | WRRE | NRRE | (@ERS
B B B s, U &
#4%)
BUILDIN % B x B B B
USER % B %z B B B
5 R
S % % % % % % 5
e
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3.34 FEEREIBEGS

iR WS A FRERERIUTE R EE.
e’k <1Bi&>: WVDT, <&#>, <&>
<i@E>: ={C1, C2, DIG}.
<B#>: = {TEHNSH,
<{g>: = ({fXSHHE].
2¥ =] iR
WVNM <iEH B> = JREBIR
= RFENZETE, BXCCEBRTNE, EHERE
LENGTH <KE> REE 1.
“X" RINLEZSH,
FREQ <S> = AR, BAAME "HZ",
AMPL <ig{E> = IBE, BURRE, BIEE “Vpp',
OFST <RE> = RE., BURRE "V,
PHASE <t8fi> = B, B2 "E,
= REURE
WAVEDATA <SEFEIE>
BAEK T D iR,
HiEE% # 1: WVDT? Mn
¥ 2: WVDT? USER, <iE&Z#R>
¥ 3: WVDT? USER, <iB#&>, <EFGiR>
<EER>EEEMHEIIERER, UBKRR, NEFEEERILTESRA
<SEEBR>: = (AP EXBREZIR).
NG Tl 1. WVDT?\sUSER,"net_storage/wave" wave1
R[EE:

WVDT PQOS, net_storage/wave, WVNM, wave1, LENGTH, 3008,
TYPE, 10, WAVEDATA,

B 2: FEEE 0x6000c0006000 5 F'wavel iR hFH RIXEEE 1
C1:WVDT WVNM, wave1”, WAVEDATA, b'0x6000c0006000'
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BE1:
1) EABEEEONRELANIMEFREIE URBRT, EAGINLRERERIHRINESI
S,

2) MEEFMEE U ZINEBRUEXHEERPIRE,

3) AEEBERRANARMEE (KR 2),

4) REEREFRRFEXHNER, MHDEXHERGRNSHFE,

5) TRERRTABE#EARNER, XATRM,
iz g Thee
“net_storage/wave” <f&1E> ERMEFEEE TIREXEER
“U-diskO/wave” <EEz> ERU & 0 BRETHREXMHER
“U-disk1/wave” <B&#ZE> EE U & 1 BETHREXHER
“U-disk2/wave” <Egz> ERU & 2 BRETHREXHER

%ZiF 2:
1) TERERBAGLEARRE SDG RIUITTAHM,
BHIES SDG SDG SDG SDG SDG SDG SDG
B 800 1000 2000X 5000 1000X 6000X/X-E 7000A
32KB, _ _
<length> | 32KB | 32KB i 1024K s s
B
USER % % =} % =] = B
2 153t 1 M dgst 1 | R e | PRIRRL
formatofl | yestq | sz | mPEN | M1 | BPEX | mPmx | RN
st 2 ezt 2 gz | ER2ER
2) TEREBRTEAN SDG RFH Mn SHENEAER.,
e Mn 288958
0<=n<=59.
SDG800 MO~M49: FE(32KB); M50~M59: FIf= X (32KB).
0<=n<=59.
SDG1000 MO~M49: FE(32KB); M50~M59: Ff 52X (32KB).
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na Mn ¥ 8#R
0<=n<=196.

SDG2000X MO~M196: W32(32KB); KEHAAMIBNABERBELSH.
0<=n<=68.

SDG5000 MO~M35: FZE(32KB); M36~M59: FF i X (32KB).
M60~M67: FiF iE X (1024KB).
0<=n<=196.

SDG1000X

MO~M196: Ri#(32KB); KERFEBENATEREZSH,

SDG6000X/X-E

0<=n<=196.
MO~M196: R#E(32KB); KX EFHIENAZEREIZSH,

SDG7000A

0<=n<=198
MO~M198: IEE(32KB).

3.35 FHliE®H< ({X SDG7000A)

3.35.1 <channel>:ARBMode <Mode>

Zo SR TIRE (Z1H)ARB K TEEL
<channel>:ARBMode <mode>
<channel>:={C1, C2}.

<mode>:= {AFG, AWG]}.

<channel>:ARBMode?
<channel>:= {C1, C2}.

1% E1BE 1ARB A AFG &5
:C1:ARBMode AFG

EEUEE 1 B
:C1:ARBMode?
R[EE:

‘AFG”

3.35.2 <channel>:SEQuence <switch>

1P

Zan < ATIRE(EE)FIIRE RS
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<channel>:SEQuence <switch>
<channel>:= {C1, C2}.

<switch>:= {0, 1} 8% {ON, OFF}.

<channel>:AWG:SEQuence?
<channel>:= {C1, C2}.

FREBE 1 8F5IH
:C1:SEQuence ON
EEUEBIE 1 BEHIHE RS
:C1:SEQuence?

RENE:

“ON”

3.35.3 <channel>:SEQuence:BURSt <count>

ZaLHTREED)FIIERRAEERN, SE5KENERR

<channel>:SEQuence:BURSt <count>
<channel>:={C1, C2}.

<count>:= {1 F| 65535}.

<channel>:SEQuence:BURSt?
<channel>:= {C1, C2}.

REBE 1 FAEREEEERN, SXEE 2 MNEH
:C1:SEQuence:BURSt 2

BEEE 1 FERREHENE, X% IR0 AR
:C1:SEQuence:BURSt?

RENE:

oy

3.35.4 <channel>:SEQuence:RMODe <mode>

1%

ZnTHTREEE)FINIETER

<channel>:SEQuence:RMODe <mode>
<channel>:= {C1, C2}.

<mode>:= {CONT, TCON, BURS, STEP, ADV}.

<channel>:SEQuence:RMODe?
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<channel>:= {C1, C2}.

Bl REBE 1 RIINETER AELIET
:C1:SEQuence:RMODe CONT
EFHEE 1 FIIEETES
:C1:SEQuence:RMODe?
RENE:
“CONT”

3.35.5 <channel>:TRIGger[:SEQuence]:SOURce

1% ZaTHTIRE(ENR)FIETHmA T
&OE% <channel>:TRIGger:SOURce <src>

<channel>:={C1, C2}.
<src>:= {MAN, TIMe, EXT}.

EifiEE <channel>:TRIGger:SOURce?
<channel>:= {C1, C2}.

B REBIE 1 FHI8MRA TR NIMMLA
:C1:TRIGger:SOURce EXT
EWEE 1 FIIRAA R
:C1:TRIGger:SOURce?
REE:
“EXT”

3.35.6 <channel>:TRIGger[:SEQuence][:IMMediate]

1115 %I AR — IR 5
9B <channel>:TRIGger

<channel>:={C1, C2}.

B REVAAAIEE 1 0975
C1:TRIGger

3.35.7 <channel>:TRIGger:TIMer

D% Za <A TIRE(EW) RS EN R & 898 88 6E
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<channel>:TRIGger:TIMer <time>
<channel>:= {C1, C2}.

<channel>:TRIGger: TIMer?
<channel>:= {C1, C2}.

REBE 1 F7I0EN ML EERBA 1ms
:C1:TRIGger:TIMer 0.001

EFHEE 1 F7E R AL 86 EEE
:C1:TRIGger:TIMer?

R[EE:

“0.001”

3.35.8 <channel>:TRIGger[:SEQuence]:SLOPe

i

Za<HTFIRE(EW)F/MA 1A

<channel>:TRIGger:SLOPe <slope>
<channel>:={C1, C2}.

<slope>:={RISe, FALL}.

<channel>:TRIGger:SLOPe?
<channel>:= {C1, C2}.

REBEIE 1 FISMA AR LTS
:C1:TRIGger:SLOPe RISe

EWBIE 1 F7I5M PR A BIAR AR IR T
:C1:TRIGger:SLOPe?

RENE:

‘RISe”

3.35.9 <channel>:SEQuence:COUNt

ZnTHTIRE(EE)FINERE

<channel>:SEQuence:COUNt <count>
<channel>:= {C1, C2}.

<channel>:SEQuence:COUNt?
<channel>:= {C1, C2}.

REBIE 1 88 10 MNRAMBIFRSIK
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:C1:SEQuence:COUNt 10

ElﬁJLﬁ1 ryl.]/&ﬁflu\/\ﬁg Eﬁ
:C1:SEQuence:COUNTt?

REME:
“10”

3.35.10 <channel>:SEQuence:DEFAult

Ei::p% ZomTRTREES)FIEESHAERKINME
&9iEE <channel>:SEQuence:DEFAuUIt

<channel>:={C1, C2}.

Pl REBE 1 NFIRESHARANEE
:C1:SEQuence:DEFAult

3.35.11 <channel>:SEQuence:NEW

Ei:p% ZomLTRTHE— T FEIRE
Bk <channel>:SEQuence:NEW <Eg#i>

<channel>:= {C1, C2}.
<B#>= BEMZNRY.

i BiE 1 BESIHETE 10 B
C1:SEQuence:NEW 10

3.35.12 <channel>:SEQuence:SEGMent<x>:WAVeform

Ei::p% ZomLATETEEEFIEE (EN)FINE—EBIEFE
&&EE <channel>:SEQuence:SEGMent<x>:\WAVeform <name>

<channel>:= {C1, C2}.

<x>= RS

<name>:.= /&ﬁxgq—o —_”Eﬁh&ﬁ/% 3.365 % T
i iEE <channel>:SEQuence:SEGMent<x>:WAVeform?

<channel>:= {C1, C2}.

<x>= BREmS
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<l

REBE 1 FIE =R A stairup
:C1:SEQuence:SEGMent3:WAVeform stairup
THEE 1 FINE=RREE (REEFEEF)
:C1:SEQuence:SEGMent3:WAVeform?
R[EE:

“stairup”

3.35.13 <channel>:SEQuence:SEGMent<x>:REPeat:COUNt

R

Hl

ZoSHTREEE)FINE—REFNES R
<channel>:SEQuence:SEGMent<x>:REPeat: COUNt <count>
<channel>:={C1, C2}.

<x>= BRES

<count>= RABSARREEKE, URHMEEFENSKERX,
<channel>:SEQuence:SEGMent<x>:REPeat: COUNt?
<channel>:= {C1, C2}.

<x>= RS

REBE 1 FINE=ZREFEE 2 X
:C1:SEQuence:SEGMent3:REPeat: COUNt 2

EiHEE 1 FINEZREES I
:C1:SEQuence:SEGMent3:REPeat:COUNLt?

R[EE:
oy

3.35.14 <channel>:SEQuence:SEGMent<x>:AMPlitude

ZHn<ATREES)FINE—RRENIEE
<channel>:SEQuence:SEGMent<x>:AMPlitude <amp>
<channel>:= {C1, C2}.

<x>=RHS

<amp>:= {0 F 24Vpp}
<channel>:SEQuence:SEGMent<x>:AMPlitude?
<channel>:= {C1, C2}.

<x>= BREmS
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B KBEBE 1 FIE=ZRRFENIREN 2Vpp
:C1:SEQuence:SEGMent3:AMPlitude 2

EiNEE 1 FHE=RIKEREE
:C1:SEQuence:SEGMent3:AMPlitude?

REME:
upp

3.35.15 <channel>:SEQuence:SEGMent<x>:OFFset

iR ZnLHTFREEH)FIE—RBREFNRE
&oEE <channel>:SEQuence:SEGMent<x>:0OFFset <offset>

<channel>:={C1, C2}.
<x>= BRES
<offset>:= {-12V F| 12V}
i Ek <channel>:SEQuence:SEGMent<x>:0OFFset?
<channel>:={C1, C2}.

<x>= BwS

~Hl REBE 1 RIEZEEFNREER 2Vde
:C1:SEQuence:SEGMent3:0OFFset 2

FEEE 1 RIE=ZREENRE
:C1:SEQuence:SEGMent3:0OFFset?

R[EE:
oy

3.35.16 <channel>:SEQuence:SEGMent<x>:VOLTage:HIGH

1115 ZaLHTREEN)FINE-RBFNSEFE
B <channel>:SEQuence:SEGMent<x>:VOLTage:HIGH <highLevel>

<channel>:= {C1, C2}.
<x>= RIS

<highLevel>:= {lowLevel # 12V}

EifiEE <channel>:SEQuence:SEGMent<x>:VOLTage:HIGH?
<channel>:= {C1, C2}.

<x>= BREmS
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<l

REBE 1 FIE=RRENSBFEA 10V
:C1:SEQuence:SEGMent3:VOLTage:HIGH 10

TBEE 1 FIE=REFNSBTE
:C1:SEQuence:SEGMent3:VOLTage:HIGH?

REME:
“10”

3.35.17 <channel>:SEQuence:SEGMent<x>:VOLTage: LOW

EREE

5l

ZanATREEN)FIIE—RBENREEE
<channel>:SEQuence:SEGMent<x>:VOLTage:LOW <lowLevel>
<channel>:={C1, C2}.

<x>= REFHS

<lowLevel>:= {-12V Z| highLevel}

<channel>:SEQuence:SEGMent<x>:VOLTage:LOW?
<channel>:={C1, C2}.

<x>= REFHS

REBE 1 FIE=ZRKFIEEFA 10V
:C1:SEQuence:SEGMent3:VOLTage:LOW 10

BiEE 1 FIE=REFNEBETE
:C1:SEQuence:SEGMent3:VOLTage:LOW?

R[EE:
“10”

3.35.18 <channel>:SEQuence:SEGMent<x>:LENGth

ZnLHTFREEH)FIE—RBREFENEE
<channel>:SEQuence:SEGMent<x>:LENGth <len>
<channel>:= {C1, C2}.

<x>= BRS

<len>:= SEMERHREZ 16 FIZHUE
<channel>:SEQuence:SEGMent<x>:LENGth?
<channel>:= {C1, C2}.

<x>= BREmS
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5 REBE 1 RIE=REFNKERN 16384
:C1:SEQuence:SEGMent3:LENGth 16384

EEEE 1 FIE=ZREFNEKE
:C1:SEQuence:SEGMent3:LENGth?

REME:
“16384”

3.35.19 <channel>:SEQuence:SEGMent<x>:DELEte

R ZoSLHETRHBRFIREPNE—E
&oEE <channel>:SEQuence:SEGMent<x>:DELEte

<channel>:={C1, C2}.

<x>= RERS

~Hl MpREE 1 FR5hiE = Bk
:C1:SEQuence:SEGMent3:DELEte

3.35.20 <channel>:SEQuence:SEGMent<x>:INSErt

Eiip% ZoSHETFERIEREPHNE—RZEBRA—NINE
&oEE <channel>:SEQuence:SEGMent<x>:INSErt

<channel>:={C1, C2}.

<x>= BwS

il HEE 1 FYNE=ZRZERA— MR
:C1:SEQuence:SEGMent3:INSErt

3.35.21 <channel>:SEQuence: OUTList

D% ZnLHTFRERIISENGE LR
&&EE <channel>:SEQuence: OUTList <list>

<channel>:= {C1, C2}.

<list>= MHRNFES, LNESHE

Zy'] REBEE 1 F5#% 2,1,3,4 MIRFBEIREHSIR PR
:C1:SEQuence:OUTList “2,1,3,4”
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3.35.22 <channel>:SEQuence:STATe

3.35.23 <channel>:

Zan<ATIREES)FIINETRE

<channel>:SEQuence:STATe <state>
<channel>:= {C1, C2}.

<state>:= {RUN, STOP} & {ON, OFF}

<channel>:SEQuence:STATe?
<channel>:= {C1, C2}.

REEE 1 FIHRER RUN
:C1:SEQuence:STATe RUN
EIEE 1 FIAPIRES
:C1:SEQuence:STATe?
R[E{E:

‘RUN”

SEQuence:SCALe
ZHnLHATRE(EN)FYNE B igE

<channel>:SEQuence:SCALe <scale>
<channel>:= {C1, C2}.

<scale>:={0.01 & 1}

<channel>:SEQuence:SCALe?
<channel>:= {C1, C2}.

REBE 1 FHINEmEIEE? 80%
:C1:SEQuence:SCALe 0.8
BifiEE 1 FIINHEHIEE
:C1:SEQuence:SCALe?

R[EE:

“0.8”

3.35.24 <channel>:SEQuence:INCReasing

1%

ZnTHTRE@EE)FIN/RESR

<channel>:SEQuence:INCReasing <mode>

103



SDG R4 F

<channel>:= {C1, C2}.
<mode>:={INT, ZERo, HLAS, DUPL}

EifiEE <channel>:SEQuence:INCReasing?
<channel>:= {C1, C2}.

B REBE 1 FNEESX AL ERE
:C1:SEQuence:INCReasing INT

EWEE 1 FINEESR
:C1:SEQuence:INCReasing?
R[EE:

“INT”

3.35.25 <channel>:SEQuence:DECReasing

R ZnATIRE (&) FIIHHMES L
&oEE <channel>:SEQuence:DECReasing <mode>

<channel>:={C1, C2}.
<mode>:= {DECi, CTAi, CHEa}

T Ek <channel>:SEQuence:DECReasing?
<channel>:={C1, C2}.

B REBE 1 FNMESN AL ERE
:C1:SEQuence:DECReasing DECi

FifEE 1 FMERN
:C1:SEQuence:DECReasing?

R[EE:
“DECi”

3.35.26 <channel>:SEQuence:RECall

D% Zan S T M ME F5 R
48T <channel>:SEQuence:RECall <path>

<channel>:= {C1, C2}.
<path>:=F 1 T EIKEZE
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<l

=

M35 sequence. awg fNEF5KE 2

:C1:SEQuence:RECall "Local/sequence.awg”
:C1:SEQuence:RECall "U-diskO/sequence.awg"
:C1:SEQuence:RECall "net_storage/sequence.awg”

BAEEESRXHERERPER

3.35.27 <channel>:SEQuence:SAVe

5l

Zan QBT RF IR R X4
<channel>:SEQuence:SAVe<path>
<channel>:={C1, C2}.

<path>:= {RTFRF N TEEEZ

R EFIIER 2 sequence. awg

:C1:SEQuence:SAVe "Local/sequence.awg"
:C1:SEQuence:SAVe "U-diskO/sequence.awg”
:C1:SEQuence:SAVe "net_storage/sequence.awg”

BABESRXHAERESRPRER

3.36 #MFBEE®S (X SDG7000A)

3.36.1 DIG:SRATe

Za<HTIRE(EN)HFBEN TR

DIG:SRATe <value>
<value>:= {0 £ 1000000000}

DIG:SRATe?

REHFBEBENLFERA 100M
:DIG:SRATe 100000000
EHHFEEN R
:DIG:SRATe?

R[EE:

“100000000”
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3.36.2 DIG:PERiod

Bl

ZanTHTREEE)HFEBENEH

DIG:PERIiod <value>
<value>:= {1ns #| 1Ks}

DIG:PERIiod?

REHFEBENEEA 10ns
:DIG:PERIiod 0.00000001
EHHFEENE
:DIG:PERIiod?

RENE:

“0.00000001”

3.36.3 DIG:CHANnel<x>:STATe

ZHOATEE (SN EEE—BEORS

DIG:CHANnel<x>:STATe <value>
<xX>:={1 % 16}

<value>:= {0 8/ 1} 3= {OFF, ON}

DIG:CHANnel<index>:STATe?

REBE 2 AFBRS
:DIG:CHANnel2:STATe 1
EHHFIEE 2 RS
:DIG:CHANnel2:STATe?
RENE:

g

3.36.4 DIG:OUTPut

Zoa<ATRE(ER)HFEENR LIRS

DIG:OUTPut <value>
<value>:= {0 @& 1}8={OFF, ON}

DIG:OUTPut?
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<l

FR#FEER L
:DIG:OUTPut 1
EHHFEENEH LIRS
:DIG:OUTPut?

R[EE:

g

3.36.5 DIG:WAVeform

Zo<HTEYREEFIRE(EN)HFRENHER

DIG:WAVeform <name>
<name>= RERFNEE, HEFNTEER

DIG:WAVeform?

REHFBEBENHIEES sine
:DIG:WAVeform sine

TR FEEHIER
:DIG:WAVeform?

RENE:

uSI'nev

#F: BENEREREL 517

sine Noise erfc erfcinv

stairup stairdn erfinv laguerre
stairud ppulse legend versiera
npulse trapezia weibull lognormal
upramp dnramp laplace maxwell
exp_fall exp_rise rayleigh cauchy

logfall logrise cosh cosint

sqrt root3 coth csch

xA2 x"3 sech sinh

sinc gussian sinint tanh

dlorentz haversine acosh asech

lorentz gauspuls asinh atanh
gmonopuls Tripuls acsch acoth

cardiac Quake bartlett bohmanwin
chirp twotone chebwin flattopwin

snr digit_clock parzenwin taylorwin
digit_counter digit_zero tukeywin square_duty01
hamming hanning square_duty02 square_duty04
kaiser blackman square_duty06 square_duty08
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gausswin Triang square_duty10 square_duty12
blackmanharris barthannwin quare_duty14 square_duty16
tan Cot square_duty18 square_duty20
sec Csc square_duty22 square_duty24
asin Acos square_duty26 square_duty28
atan Acot square_duty30 square_duty32
square sinetra square_duty34 square_duty36
sinever ampalt square_duty38 square_duty40
attalt roundhalf square_duty42 square_duty44
roundspm blaseiwave square_duty46 square_duty48
dampedosc swingosc square_duty50 square_duty52
discharge pahcur square_duty54 square_duty56
combin Scr square_duty58 square_duty60
butterworth chebyshev1 square_duty62 square_duty64
chebyshev2 Tv square_duty66 square_duty68
voice Surge square_duty70 square_duty72
radar Ripple square_duty74 square_duty76
gamma stepresp square_duty78 square_duty80
bandlimited Cpulse square_duty82 square_duty84
cwpulse gatevibr square_duty86 square_duty88
Ifmpulse mcnoise square_duty90 square_duty92
am Fm square_duty94 square_duty96
pfm Pm square_duty98 square_duty99
pwm Eog demo1_375pts demo1_16kpts
eeg Emg demo2_3kpts demo2_16kpts
pulseilogram resspeed sine_harmonic2 sine_harmonic3
ecgl ecg?2 sine_harmonic4 sine_harmonic5
ecg3d ecgd sine_harmonic6 sine_harmonic7
ecgb ecg6b sine_harmonic8 sine_harmonic9
ecg”? ecg8 sine_harmonic10 sine_harmonic11
ecg9 ecg10 sine_harmonic12 sine_harmonic13
ecg11 ecgi12 sine_harmonic14 sine_harmonic15
ecg13 ecgl4 sine_harmonic16 digit_one

ecg15 Lfpulse

tens1 tens2

tens3 Airy

bessel] bessely

dirichlet Erf
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3.37 B3 <S ({X SDG7000A)

3.37.1 <channel>:FHOP:SWITch

3.37.2 <channel>:

Zn < AT IREBSA e XS

<channel>:FHOP:SWITch <switch>

<channel>:={C1, C2}
<switch>:= {ON, OFF}

<channel>:FHOP:SWITch?

BIE 1 FF/E B
C1:FHOP:SWITch ON

EiBIE 1 BRI RES
C1:FHOP:SWITch?

REME:
l‘ON”

FHOP: STATe

Zan < AT IRE @ LIRS

<channel>:FHOP:STATe <state>
<channel>:={C1, C2}

<state>:= {ON, OFF}

<channel>:FHOP:STATe?

EIE 1 75 B
C1:FHOP:STATe ON

EiEBIE 1 B R
C1:FHOP:STATe?

REME:
“ON”
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3.37.3 <channel>:FHOP:TYPE

R Zm<LATIREPSMEL
HoiEE <channel>:FHOP:TYPE <type>

<channel>:={C1, C2}
<type>:= {"MANUAL", "RHOP" , "RLIST"}

EifiEx <channel>:FHOP:TYPE?

Zy] REBIE 1 BIAATIRES
C1:FHOP:TYPE MANUAL

EWIEIE 1 PR
C1:FHOP:TYPE?

REME:
“MANUAL”

3.37.4 <channel>:FHOP:TIME

Ei::p% Z AT RERAES MR L5415
9B <channel>:FHOP:TIME <time>

<channel>:={C1, C2}
<time>:= {0 ZJ 1000 BYZ =%}

EHIEE <channel>:FHOP:TIME?

Zy' REBEE 1 BAES MR LFERERN 1ms
C1:FHOP:TIME 0.001

EiRBE 1 BRE S MR LR E)
C1:FHOP:TIME?

REME:
“0.001”
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3.37.5 <channel>:FHOP:SFREquency

Zn LA TIREBIBRIERRR (R/IMIR)

<channel>:FHOP:SFREquency <freq>
<channel>:={C1, C2}

<freq>= {(RBITIRE T BIZFRED

<channel>:FHOP:SFREquency?

REBIE 1 BBHLBARERAR (R/IMRZR) K IMHZ
C1:FHOP:SFREquency 1000000

EIEE 1 EHLBRAEIRIAR (H/NRE
C1:FHOP:SFREquency?

REME:
“1000000”

3.37.6 <channel>:FHOP:EFREquency

i

Zan AT IREMIBSIN SRR (HAME)

<channel>:FHOP:EFREquency <freq>
<channel>:={C1, C2}

<freq>:= (FRBITRE T ENFRED

<channel>:FHOP:EFREquency?

REBEE 1 BBSANERFR (FRAMEK) A 100MHZ
C1:FHOP:EFREquency 100000000

Eif)i@EE 1 VBN ERAE (RAMK)
C1:FHOP.EFREquency?

REME:
“100000000”
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3.37.7 <channel>:FHOP:FSTep

ik Zan < A TIRERABREVAR S &
HoER <channel>:FHOP:FSTep <freq>

<channel>:={C1, C2}
<freq>= {(RBITIRE T BIZFRED

EHIEE <channel>:FHOP:FSTep?

Zy] REBEE 1 EBRRAERSH A 10MHZ
C1:FHOP:FSTep 10000000

EiEIE 1 FEHLBKRRISAR L i
C1:FHOP: FSTep?

REME:
“10000000”

3.37.8 <channel>:FHOP:RPATtern

1117 Zan < AT IR BB RS (o e A9 B
9B <channel>:FHOP:RPATtern <pattern>

<channel>:={C1, C2}
<pattern>:= {3 B 32 B9E#)

EHIEE <channel>:FHOP:RPATtern?

Zy' REBEE 1 BB RN AREIEEE N PRBS-7
C1:FHOP:RPATtern 7

EIEEIE 1 FEVLBESRAY S eI S BY
C1:FHOP:RPATtern?

REME:

w
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3.37.9 <channel>:FHOP:RLPAttern

EMEE

Bl

Zon < BT IRE RN I RZ I REN DB

<channel>:FHOP:RLPAttern <pattern>
<channel>:={C1, C2}

<pattern>:= {3 B 32 B}

<channel>:FHOP:RLPAttern?

REBEE 1 PRSI REXHMREYIEEL N PRBS-7
C1:FHOP:RLPAttern 7

TEEIE 1 BRIRG REX B REHL AT B
C1:FHOP:RLPAttern?

REME:

-

3.37.10 <channel>:FHOP:ALSTate

i

wREE

Zan < TR BB IR RS IR R A E RS

<channel>:FHOP:ALSTate <state>
<channel>:={C1, C2}

<state>:= {ON, OFF}

<channel>:FHOP:ALSTate?

EREBIE 1 FEHLBK MBI MRIS IEE
C1:FHOP:ALSTate ON

TiNEE 1 EBRARTIERNEERS
C1:FHOP:ALSTate?

REME:
“ON”
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3.37.11 <channel>:FHOP:AFLIst

R Zan YA TEMERREEMER/A—RR
HoiEE <channel>:FHOP:AFLlIst <index>,<freq>

<channel>:={C1, C2}
<index>:= {1 | 4096 BY%%§}
<freq>= {(RBITIRE T BIZFRED

Bl BEiE 1 EMRRE =M ERA—IN, MEHA 1KHz
C1:FHOP:AFLIst 3,1000

3.37.12 <channel>:FHOP:DFLIst

iR Zin LA FRHRIRE RIS EMERNIRN
&oEE <channel>:FHOP:DFLIst <index>

<channel>:={C1, C2}
<index>:= {1 | 4096 AYEE%)}

Bl TIBRIEIE 1 AREZBIE=IR
C1:FHOP:DFLIst 3

3.37.13 <channel>:FHOP:CFLIst

Eiip% ZmSHTESMERE (IKREAKINME)
&oiEE <channel>:FHOP:CFLIst

<channel>:={C1, C2}

Zy' BEEE 1 AR E (REARIME)
C1:FHOP:CFLIst

3.37.14 <channel>:FHOP:MFLIst

ik ZnTHTFEMEREREENENREXNREE
48T <channel>:FHOP:MFLlIst <index>,<freq>

<channel>:={C1, C2}
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Bl

<index>:= {1 & 4096 BYE%])
<freq>:= {RBITIRE W BHNFERET

RBIE 1 REZE = IMAISARIZILN 2KHz
C1:FHOP:MFLIst 3,2000

3.37.15 <channel>:FHOP:AOLIst

Bl

Zan AT EMRREREEMERA—IN
<channel>:FHOP:AOLIst <index>,<freq_num>
<channel>:={C1, C2}

<index>:= {1 & 4096 §IE%

<freq_num>:= {1 B 4096 HIE#, RBIMERENEKE}

BIE 1 R ERE =AM ERA I, FARRESH 4
C1:FHOP:AOLIst 3,4

3.37.16 <channel>:FHOP:DOLIst

=l

Zan < AT MIRR RIS EN E IR

<channel>:FHOP:DOLIst <index>
<channel>:={C1, C2}

<index>:= {1 & 4096 BY%%4}

T FREIE 1 SRR BRI REIE =N
C1:FHOP:DOLIst 3

3.37.17 <channel>:FHOP:COLIst

1P

wIEE

N7

Zan AT EDRERRER (IRENERINE)

<channel>:FHOP:COLIst
<channel>:={C1, C2}

AEEIE 18Rk E (RERIME)
C1:FHOP:COLIst
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3.37.18 <channel>:FHOP:MOLlIst

R ZanSH T MR ERIEEVNENTERAREE
HoiEE <channel>:FHOP:MOLIst <index>,<freq_num>

<channel>:={C1, C2}
<index>:= {1 F| 4096 B4}
<freq_num>:= {1 Z 4096 HIE#, FEBIMERNEKE)

Bl REIE 1 MR Bk R B =IREMEIE KN 8
C1:FHOP:MOLIst 3,8

3.37.19 <channel>:FHOP:AALlst

R Zn AT AEMEIRERER/A—I
&oEE <channel>:FHOP:AALIst <start_freq>,<end_freq>

<channel>:={C1, C2}
<start_freq>:= {(RBIFHIRF T EHNEREL /T end_freq}
<end_freq>:= {RBITEE T mANERE, KT start_freq}

5l BIE 1 ERRYIREREBRA—I, EIHMZT 1KHz, FRMEK 5KHz (i3

iR 1KHz~5KHz Z [BE04 =R )
C1:FHOP:AALIst 1000,5000

3.37.20 <channel>:FHOP:DALIst

Eiip% Zom LA TRRAERTRERE—IN
oER <channel>:FHOP:DALIst

<channel>:={C1, C2}

Zy'] MFREE 1 ARYIRERE—I
C1:FHOP:DALIst
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3.37.21 <channel>:FHOP:CALlIst

ZaLATEZRRTIRE (KENFIANE)

<channel>:FHOP:CALIst
<channel>:={C1, C2}

AEREE 1 RREIRE (RERFME)
C1:FHOP:CALIst

3.37.22 <channel>:FHOP:LFLIst

5l

Zon AT AX MR E

<channel>:FHOP:LFLIst <file>
<channel>:={C1, C2}

<file>:=X##%& (ERKR)

M freq.hop MNEEE 1 BIRRE
C1:FHOP:LFLIst “freq.hop”

3.37.23 <channel>:FHOP:SFLIst

5l

Zo < AT RAIRRERREFRMG

<channel>:FHOP:SFLlIst <file>
<channel>:={C1, C2}

<file>:=X#4%& (EREKR)

EIE 1 HISARFARTF RIS freq.hop
C1:FHOP:SFLIst “freq.hop”

3.37.24 <channel>:FHOP:LOLIst

1%

wIEE

ZEa S AT WX MESRRRIEF

<channel>:FHOP:LOLIst <file>
<channel>:={C1, C2}

<file>:=X#4%& (ERKR)
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B M3 order.hop fNZEIE 1 BISAZBKIEER
C1:FHOP:LOLIst “order.hop”

3.37.25 <channel>:FHOP:SOLlIst

R ZomLHETEHIMERERRER G
HoiEE <channel>:FHOP:SOLIst <file>

<channel>:={C1, C2}
<file>:=X#& (BaKR)

B BIE 1 BB RREFE X order.hop
C1:FHOP:SOLIst “order.hop”

3.37.26 <channel>:FHOP:LALIst

iR ZoS BT M UEMEIRTEE
&oiEE <channel>:FHOP:LALIst <file>

<channel>:={C1, C2}
<file>:=#Z (BIKR)

Zy' M3 avoid.hop MNEEE 1 BRI IRE
C1:FHOP:LALIst “avoid.hop”

3.37.27 <channel>:FHOP:SALlIst

Eiip% Zin LA TFEHIMRTIRERER UL
&oiEE <channel>:FHOP:SALIst <file>

<channel>:={C1, C2}
<file>:=#Z (BIKR)

Zy'] BIE 1 BRI IR FARF RIS avoid.hop
C1:FHOP:SALIst “avoid.hop”
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3.38 EMEE®

R I35 < A FRIUBTER IR EPRE
e’k VirtualKEY VALUE,<{&>,STATE,<{R7%&>

<{E>= {TREREMRENERS|SHERR).

<QKE&>={0, 1}, "1" SERNENE, R TATEROX AR, 0"

=EXTME.

2R #a| 2 E-L]
KB_FUNC1 28 KB_NUMBER 4 52
KB_FUNC2 23 KB_NUMBER_5 53
KB_FUNC3 18 KB_NUMBER_6 54
KB_FUNC4 13 KB_NUMBER_7 55
KB_FUNC5 8 KB_NUMBER_8 56
KB_FUNC6 3 KB_NUMBER_9 57
KB_SINE 34 KB_POINT 46
KB_SQUARE 29 KB_NEGATIVE 43
KB_RAMP 24 KB_LEFT 44
KB_PULSE 19 KB_RIGHT 40
KB_NOISE 14 KB_UP 45
KB_ARB 9 KB_DOWN 39
KB_MOD 15 KB_OUTPUT1 153
KB_SWEEP 16 KB_OUTPUT2 152
KB_BURST 17 KB_KNOB_RIGHT | 175
KB_WAVES 4 KB_KNOB_LEFT | 177
KB_UTILITY 11 KB_KNOB_DOWN | 176
KB_PARAMETER 5 KB_HELP 12
KB_STORE_RECALL | 70 KB_CHANNEL 72
KB_NUMBER_0 48 KB_K 59
KB_NUMBER_1 49 KB_M 60
KB_NUMBER_2 50 KB_G 61
KB_NUMBER_3 51 KB_DIGITAL 20
KB_ENTER 58 KB_HOME 21
KB_AWG 29 KB_TOUCH 22
KB_IQ 30
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<l

&iE: TRETESGLEARR SDGC RFIBIT A,

VKEY VALUE, 15,STATE, 1

VKEY VALUE,KB_SWEEPR STATE, 1

SDG7000A L fizaefis R

sHIDS 300 | 1000 | 2000x | 5000 | 1000x | 6000XX-E | 7000A
KB_FUNC6 T % =) =] = =l %
R R
KB_HELP B =] x x x x %
KB_CHANNEL x = =} x =} = =
KB_SINE =) 5 x x x x %
KB_SQUARE B =] x x x x %
KB_ RAMP B =] x x x x %
KB_PULSE =) 5 x x x x %
KB_NOISE B =] x x x x %
KB_ARB B =] x x x x %
KB_UP =) 5 x x x x %
KB_DOWN =] =] T x T I I
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3.39

IP %%

ZESHHATIRENZIZEUEEN IP ik,
SYSTem:COMMunicate:LAN:IPADdress

<BI 1> <BH 2> <BH 3> <BH 4>

<BH1>: = {f£ 1 £ 223 Z[AINEHE).
<B#2>: ={f£ 0 E 255 Z BRI EHIE).
<S#13>: = {f£ 0 £ 255 Z[AINEHE)}.
<B#4>: = {f£ 0 E 255 Z BRI EHE).

SYSTem:COMMunicate:LAN:IPADdress?

RE IP #1739 10.11.13.203:
SYST:COMM:LAN:IPAD “10.11.13.203”

IEER IP bt :
SYST:COMM:LAN:IPAD?

R[EE:
“10.11.13.203”

&E: TREREHWLEARRE SDGC RIM T A,

BEIE SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A

SYST.COMM:

LAN:IPAD % % Gl % Gl Gl Gl

3.40 FMiEEE

1S

Zan AT IRENERBUREN FRED,

SYSTem:COMMunicate:LAN:SMASk
<BY 1> <BY 2> <B¥ 3> <B¥ 4>

<B¥ 1>:= {f£ 0 & 255 2|5 f9 (&),
<B# 2>:= {f£ 0 & 255 2 |59 {&).
<BH 3>:= {f£ 0 E 255 Z [@HIEHIE).
<B¥ 4>:= {f£ 0 & 255 Z |5 g9 (&),
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i EE SYSTem:COMMunicate:LAN:SMASKk?

=B BB FMIEHI A 255.0.0.0:
SYST:COMM:LAN:SMAS “255.0.0.0”

FRERF 8845 :
SYST:COMM:LAN:SMAS?

REME:
“255.0.0.0”

& TRETEDHLEARR SDGC RIIBIT A,

LBHIBS SDG SDG SDG SDG SDG SDG SDG
= P 800 1000 2000X 5000 1000X 6000X/X-E 7000A
SYST:COMM:
LAN:SMAS x x B x B Gl Gl
341 WX
1117 ZanQIREHRBURENIN X,
HOER SYSTem:COMMunicate:LAN:GATeway

<BH 1><BH 2> <BH 3> <2H 4>

<BH 1>:= {f£ 0 £ 223 Z B EHE).
<21 2>:= {1z 0 E 255 Z B EEHE).
<B# 3>:= {f£ 0 E 255 Z B EEHE).
<B# 4>:= {1z 0 E 255 Z B EEHE).

EHIEE SYSTem:COMMunicate:LAN:GATeway?

5 BEMERN 10.11.13.5:
SYSTem:COMMunicate:LAN:GATeway “10.11.13.1”

FRER X :
SYSTem:COMMunicate:LAN:GATeway?

REME:
“10.11.13.1”
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& TRETEDGHLEARR SDC RIIBITAM,

LGS SDG SDG SDG SDG SDG SDG SDG
= - 800 1000 2000X 5000 1000X 6000X/X-E 7000A
SYST.COMM:

342 FHEEXERS

R REFNERBERREN . RERNREL X, RERNRES AXEE

EREHRATIRE.

<j&i&>: SampleRATE MODE, <#&z>, VALUE, <X# %>, INTER,
<#@{E>

<i@E>:=<C1, C2>.

<#&3{>:={DDS, TARB}, Hth TARB @& RHHE

8 <t >:= {AFG, AWG} ({X SDG7000A),

<KEEZ> = RER, B{UR Sals,

<#&{E>:= {LINE, HOLD, SINC, SINC27, SINC13}, Htb LINE 2%
MiEE, ™ HOLD 2FMFHF. SINC, SINC27, SINC13, REATF
SDG6000X/X-E #1 SDG7000A,

<\BE>:SRATE?

=Bl SEEN CH1 BYRAER:
C1:SRATE?
R[EE:
C1:SRATE MODE,DDS

RE CH1 AEREHAE:
C1:SRATE MODE, TARB

IRE CH1 BIR#FZI 1000000Sa/s:
C1:SRATE VALUE, 1000000

& TRETEDGHLEARR SDGC RIS A,

PANEON SDG SDG SDG SDG SDG SDG SDG
R 800 1000 2000X 5000 1000X 6000X/X-E 7000A
SRATE I T =) x x =] =]
INTER %I I I I I =) =)

124




SDG R4 F M

3.43

1 B an

WL ATIRENEREGE
=]

CRBH, NIBRRPAEZXRKE, X

/~I'>§t'?

% 4

o

<i@&>:HARMonicHARMSTATE, <JRZ>, HARMTYPE,
<##> HARMORDER, <#&#>, <#{i>, <f&>, HARMPHASE,
<tEf>

<R#&>:= <ON, OFF>.

<¥A>:=<EVEN ({B#(), ODD (FE#), ALL (FRERE) >.
<RF>={1, 2 M}, Hoh M 2XRHNRARE

<#{y>:= < HARMAMP, HARMDBC>.
<{E>= BEEEENEE. EEEEBRTFHE,
HARMAMP, B{i24R%F, IEIE
B 2"dBc",

<#{I>:= {0~360}, B{IE"E",

H<Bfi>=
BE“Vpp”, MZ<&8{I>=HARMDBC,

<i@i&>:HARMonic?
<@iE>:=(C1, C2}.

B CH1 893Kk IhaE
C1:HARM HARMSTATE, ON

RE CH1 BNEIREEN 2, 18E A-6dBc:

C1:HARM HARMORDER,2,HARMDBC,-6

FREL CH1 BOIEK S5

C1:HARM?

R[EE:

C1:HARM ,HARMSTATE,ON,HARMTYPE,EVEN,HARMORDER,?2,
HARMAMP,2.004748935V,HARMDBC,-6dBc, HARMPHASE, 0

& TRETRBNHSEARR SDG RFIHT] B,

PN SDG SDG SDG SDG SDG SDG SDG
AL 800 1000 2000X 5000 1000X 6000X/X-E 7000A
HARM I x =) I = =) =)
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3.44 BEHREH®S

R W LIREHEFREUEF S

mIEE <JBE>:CoMBiNe <}R&>
<i@iE>:={C1, C2).
<JR7%&>:= {ON, OFF}.

EifiEx <j@i&>:CoMBiNe?
<i@i&>:={C1, C2).

0 A& =X <@IE>:CMBN<IRZ>

~Hl $TFF CH1 B EFS

C1:CoMBiNe ON

i) CH2 BIRFE & FHRES:
C2:CMBN?

R[E{E:

C2:CMBN OFF

&1 TRETHNHLIEARR SDG RINEITAM,

BHIES SDG SDG SDG SDG SDG SDG SDG
b 800 1000 2000X 5000 1000X 6000X/X-E 7000A
CMBN I T =] I =] =] =]

3.45 WA iEFH

ik ZBHIRERERPEVER
B LIEE MODE<&#>
<£4#>:= {PHASELOCKED (#8{i#{%E ), INDEPENDENT (4843437 ) }.
EHEE MODE?
0 RZAR = MODE<Z#(>
NGl REBMRL ABAIRIIAER

MODE INDEPENDENT
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& TRETEDGHLEARR SDC RIIBITAM,

BHIBS SDG SDG SDG SDG SDG SDG SDG
SR 800 1000 2000X 5000 1000X 6000X/X-E 7000A
MODE T x =) % =] =] =]

WX

i A& =X

5l

THRERE SDG RIS oK,

3.46 BREBEEL®

ZHLRER IS MUBRZENEY, HLREERL

CASCADE STATE, ON|OFF, MODE, <MODE>, DELAY, <DELAY>
<MODE>:= {MASTER, SLAVE}
<DELAY>:={0-0.000025}, #fi=s, WZHRAEEMEANIKRE

CASCADE?

MHAEREE :
CASCADE STATE, ON, MODE, SLAVE, DELAY, <DELAY>

FHEIREE:
CASCADE STATE, ON, MODE, MASTER

RERENMRIBFERK 0.0000001s
CASCADE STATE,ON,MODE,SLAVE,DELAY,0.0000001

LIS SDG SDG SDG SDG SDG SDG SDG SDG
== 800 1000 2000X 5000 1000X 6000X 6000X-E 7000A
x x =] x x =] =] =]
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3.47 1Q&%

THRETRE SDG A7 1Q sp <o,

LGS SDG SDG SDG SDG SDG SDG SDG SDG
== 800 1000 2000X 5000 1000X 6000X 6000X-E 7000A
Q x I 7z x x =] x =]

3.47.1 1Q:WAVeinfo?

ZoLEN 1/Q BRIEER.

IQ:WAVeinfo?

EWYE QEFER:

1Q:WAVeinfo?

R[EE:
WAVE_INFO,SYMBOL_LENTH,1024,0VER_SAMPLING,

4,MODULATION,2ASK,FILTER_TYPE,RootCosine,
FILTER_ALPHA,0.35

3.47.2 :1Q:CENTerfreq

i A& =X

=l

ZLIRE I/Q FHI R PO,

IQ:CENTerfreq<di0MAIER>< B>
<th0MAR>= FIMAR, ZSHNEREEEEREIEFEMR.
<B{y>:={Hz, kHz, MHz, GHz}. BHABLIZHMHZL ‘HZ",

IQ:CENTerfreq?
<thMRE> (B Hz &7R)

REDPOERA 1kHz:
IQ:CENTerfreq 1000Hz
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3.47.3 :1Q:SAMPlerate

O RzA& =

Bl

ZnLIRE 1/Q BIRHER

IQ:SAMPlerate<FEHER><BE{>
<EHR> = IHR, ZSHNERCEEEREIEFM®.
<B{]>:={Hz, kHz, MHz, GHz}. B\ BN E#%L “Hz"

IQ:SAMPlerate?

<XHE> (B Hz %£77)

WEFRHERA 100kHz:
AQ:SAMPlerate 100000
o

AQ:SAMP 100kHz

3.47.4 :1Q:SYMBolrate

i A& =X

5l

ZnTHTIRE I/IQ NS E

IQ:SYMBolrate <ff 5 F><8{i>
<FSE> = FSER, ZSHNEYCRBEEREEFM.
<B{[>:={S/s, kS/s, MS/s}, BRINBMNEHFSSFF “S/s”

IQ:SYMBolrate?
<fFSH> ([ Sis £R)

BREMFSEAL 1IMS/s:
AQ:SYMB 1MS/s

3.47.5 :1Q:AMPLitude

ZnRIRE IQRE.

IQ:AMPLitude <ig{E><B\>
<ig{E> = BE., ZSHNERCCRBERLEIEFEMR.
<B{i>:={Vrms, mVrms, dBm}, BHABRM 2R, AR “Vrms”,
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EHIEE IQ:AMPLitude?

0 Rz AE = <fg{&> (F/RA Vrms.)

Bl RE 1Q B1R{E(sqrt(12+Q?)) 4 0.2Vrms:
AQ:AMPL 0.2

3.47.6 :1Q:IQADjustment:GAIN

ik RS EFRE IQ EERETRET | 5 QBItLHl.
B IQ:IQADjustment:GAIN <igzstb><8 (>

<{BILE> =15 Q BB,
<8 7> = {dB).

EiEE IQ:IQADjustment:GAIN?
O RzA& =0 <i@# > (ARSI dB k7R)
N RE 1/Q 8918z LEH1 79 0.1dB:

[1Q:IQADjustment:GAIN 0.1

3.47.7 :1Q:IQADjustment:IOFFset

ik WHSET | BENREE.
wmeEE IQ:IQADjustment:IOFFset <{R &><8 >

<RE> = NREE
<BAI>:={V, mV, uv}, FARMZREE V",

EiEEE IQ:IQADjustment:IOFFset?
Rt <RE>(ETH V)
B RE | BRESR 1mV:

:1Q:IQADjustment:IOFFset TmV
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3.47.8 :1Q:IQADjustment:QOFFset

O RzA& =

Bl

<R Q BENRBE.

IQ:IQADjustment:QOFFset <{m & ><81{i>
<lRE> = QNREBE.
<B{I>:={V, mV, uV}, BUABNERE, V",

IQ:IQADjustment:QOFFset?
<WE>FA V £7R)

BKE QHREN-1MV:
AQ:IQAD:QOFF -0.001

3.47.9 :1Q:IQADjustment:QSKew

i

wEE

EREE
i A& =X

5l

Za B IEMHE R Q BAARET | 7 Q BENBENLA,

IQ:IQADjustment:QSKew <>
<RE>= AE. BURE,

IQ:IQADjustment:QSKew?
<AE>(EREFRTR)

REQRAENRN1°:
:1Q:IQADjustment:QSKew 1.0

3.47.10 :1Q:TRIGger:SOURce

1%

i A& =0

ZmQIRE /Q AR,

IQ:TRIGger:SOURce <fif & /&>
<t & E>:={INTernal, EXTernal, MANual}, Efh INTernal 2
NERfRA, EXTernal A5MEBA%%&, MANual AF A,

IQ:TRIGger:SOURce?

<R & R>
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B REMKFRNARRA
IQ:TRIGger:SOURce INTernal

3.47.11 :IQ:WAVEIload:BUILtin

R S AT MNAEREY R DIER 1/1Q K,
wmIEE IQ:WAVEIload:BUILtin <i&f &>

<KER>: = {TROKFE)

BWIER IQ:WAVEIload?
0 RzAE =0 BUILtin|USERstored <& &#R>
AR RE QIR AREKFL 2ASK:

AQ:WAVE:BUIL “2ASK”

2ASK 4ASK 8ASK BPSK 4PSK
8PSK DBPSK 4DPSK 8DPSK 8QAM
16QAM 32QAM 64QAM 128QAM 256QAM

3.47.12 :1Q:WAVEload:USERstored

i35 SR TFERFPEFEER DIER QK.
woEE #= 1: IQ:WAVEload:USERstored<;& &>

<K &m>= (RE AP EFHEEEE] .

#= 2: IQ:WAVEload:USERstored<i&{2>
<EE> = kBRAFPEME (Kith, NEFMHE, UR) PRUREKRE, 81F

XHZMEE}.
EHEE IQ:WAVEIload?
0 Rz AE =X BUILtin|USERstored <& &#R>
=B 1 ®E /Q KRB PEMKER wavel.arb:

1Q:WAVEload:USERstored wave1.arb
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2

~f 3

=~ 4

E1:

BE IIQ K AR P A FEME KR wavel.arb:
1Q:WAVEload:USERstored “wave1.arb”
gy IQ:WAVEload:USERstored “Local/wave1.arb”

RE 1/Q KK AMEIFE KR wavel.arb:
1Q:WAVEload:USERstored “net_storage/wave/wave1i.arb”

’RE IIQ KR A U 876K wavel.arb:
JAQ:WAVEload:USERstored “U-diskO/ wave/wave1.arb”

1) BENWERNSISIEBEXERE, FI0: “ net_storage/wave/wavel.arb ”;

“U-disk0/ wave/wavel.arb”, BT BRRESENHESTESE,

2) AEEBEREANRMIER, RANEEZBINA wav 54,

3) SDG6000X MNZkEH EEMEIEEEREEXHFE (Local/lEasylQ_arb) T, REXHEE

KR/NSH.arb

EEI/E 2: T;EJ.LTD

WL EAR SDG R Ak,

BRIES SDG SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X 6000X-E 7000A
USERstored x %I x I %L1 I %2

3.47.13 :1Q:FrequencySampling

1S

0 RzA& =X

=l

IR E I/Q REXR

:1Q: FrequencySampling <sampling>
< sampling >:= {1000-1250000000}. B{iA “Hz",

:IQ:FrequencySampling?
EF S RIRER
:1Q:FrequencySamplingLimit?
B IRERFETCE

<sampling>
MAX, <max_sampling>, MIN, < min_sampling >

RE 1/Q FHZE A 2000000 Hz
:1Q:FrequencySampling 2000000
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3.48 XHEHGS (X SDG7000A)

3.48.1 MMEMory:DELete

1235 Zon < BT RS E XX
mIEE MMEMory:DELete <&#{>

<BH>=XHER (BBMFEHEIR)

~Hl B %12 9" Local/1000pts.bin” B9 3 44 :
MMEMory:DELete “Local/1000pts.bin”

3.48.2 MMEMory:RDIRectory

1::3% Zon < A T RS B S
mIEE MMEMory:RDIRectory <&#{>

<BH>=XHER (BFRIFXMHREIR)

Bl MR ST A2 B& 127 “Local” & H test BT :
MMEMory:RDIRectory “Local/test”

3.48.3 MMEMory:MDIRectory

0% Zan S T2 ERENN X
W REE MMEMory:MDIRectory <&#1>

<BH>=XHER (BSBRFXMHXEIR)

B M “Local’ BB THIZ 9 test BISC 443k :
MMEMory:MDIRectory “Local/test”
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3.48.4 MMEMory:CATalog

1P

Sp
A
i
P

I
&
B
P

i A& =X

5l

ZH LA TERRERZE THNEMXHMXH R EEEERE

BERZE TS XHRXX XL
MMEMory:CATalog? <&#{>
<S> =XMHKERE

MMEMory:CATalog: <&#{ 1>7<2#{ 2>
<&#{ 1>:={(DATA:ARBitrary),(STATe:XMLanguage)}
<BH 2> = HRER

RRAFEKRN, EARTFAN
"XHE, SRR, XHERN

EE " Local"B&#E THIPTA X0 3443k
MMEMory:CATalog? “Local”

EE “Local’lEZETH“arb” = “ARB” FERMNE:
MMEMory:CATalog:DATA:ARBitrary? “Local”

EE“Local"BBR T  xml” 5 “XML" /54314
MMEMory:CATalog:STATe:XMLanguage? “Local”

3.48.5 MMEMory:COPY

1S

R

N7

LEas <L E Bl — a3k

MMEMory:COPY <&#{>

<B#>= "RXHHNERE", "BmRERT .

SHI3M: RXHRENERERIESBREERR

SRR RXHREEFRIENAZN BB RS REXEER

S #| #1279 “Local/test/1000pts.bin" B34 HFEMEZE “Local/1000pts.bin”
MMEMory:COPY “Local/test/1000pts.bin”,”Local/1000pts.bin”

S HIE& 27 Local/sre” B9 344/ 344 2 H K5 s = “Local/copy/” X 4
MMEMory:COPY “Local/src”, "Local/copy”
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3.48.6 MMEMory:MOVE

3% RSB — PG X LR AT
WIEE MMEMory:MOVE <&#§>

<BH>= RXHERNERR", "BIREE"
st IRXE BN BRERE FRIEGER
BNk RXHEEE SBREXAXNBEREERA LR RIEGER

EEEX
O R4 0
Pl 12 " Local/test/1000pts.bin” B HEEI B2

“Local/1000pts.bin”
MMEMory:MOVE “Local/test/1000pts.bin”,”Local/1000pts.bin”

B L& Z A Local/sre” B3 HEEEREA “Locallcopy/” T
MMEMory:MOVE “Local/src”, "Local/copy/”

3.48.7 MMEMory:SAVE:XML

1P HHSREFE—D xml BEEXHRFABRHIEEHERE
wiEE MMEMory:SAVE: XML <&#{>

<BH>= {REER, 8BEXHBNER].
EREE
i A& =X

i {R1F test.xml STEZ A

MMEMory:SAVE:XML "Local/test.xml" 2t
MMEMory:SAVE:XML "test.xml"

{R7F test.xml 2R &I 6E &
MMEMory:SAVE:XML "net_storage/test.xml"

1275 test.xm| XHE U &
MMEMory:SAVE:XML "U-diskO/test.xml"
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3.48.8 MMEMory:LOAD:XML

EREE
i G =

Bl

LS MECARZ B EBEME— xml BB

MMEMory:LOAD:XML <£#>
<B#>= (B, SFEXHENEE].

MM ANE test.xml 344

MMEMory:LOAD:XML "Local/test.xml" 2t
MMEMory:LOAD:XML "test.xml"

MR EEFRERNZ test.xml 344
MMEMory:LOAD:XML "net_storage/test.xml"

M U #10% test.xml 324
MMEMory:LOAD:XML "U-diskO/test.xml"

3.48.9 MMEMory:TRANsfer

1%

wREE

EWEE
i A& =X

N7

a2 T A0X B E X HEIE RIS B2 T8 EM bin XX

MMEMory:TRANsfer <Z#{> #{data}
<BH>= {REERE, 8EBE. XHEREER)
{data} =B KENKE+HUIRRKE+ ZH#FIEHE

REHRERENKEN 1, HFEKERN 4 NEURERI A TE wave.bin
MMEMory:TRANsfer "Local/wave1.bin"#14ABCD

KEHRRENKER 1, HRRKERN 4 (HIER U £ T 6 wavel.bin
MMEMory:TRANsfer "U-diskO/wave1.bin",#14ABCD

REHRRENKEAN 1, HFEKERN 4 NERINEFERETH
wave1.bin
MMEMory:TRANsfer "net_storage /wave1.bin"#14ABCD
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4 ERIER

AETRNESRERZINRE XS IR, BRI, RETLIT BN E E X REK

X, HEELTETIIHNG LIRSS IRIEH.

i TRERSVNESHFHREXHERL

B SDG SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 1000X 6000X 6000X-E 7000A
bin y y y y y y y y
csv y y y y y
dat y y y y y
mat y
awg y
hop y
wav y
arb y y
4.1 bin

bin XHREN_#H, XHEATMESZ TR

HNBEFE (BFEE-32768~32767), AZFFH

fRig, sdg SAXHE, REFHRINGEE, fiR. KEELS, ERBESHFERRABERL.

BiE: TRERENE bin XHKE
symm | SDC SDG SDG SDG SDG SDG SDG SDG
800 1000 2000X 5000 | 1000X | 6000X-E | 6000X | 7000A
4B~16 | 32KB~ | 4B~16 | 4B~16 | 4B~40 | 4B~512
<length> 32KB 32KkB MB 1024KB MB MB MB M
BIEBF | 32768 | -32768~ | -32768 | -32768~ | -32768 | -32768~ | -32768 | -32768
o] ~32767 | 32767 | ~32767 | 32767 | ~32767 | 32767 | ~32767 | ~ 32767
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4.2 csv/dat

csv 5 dat XHERB R text, REXFFH CSV XHNALEBERBRERFEIERHES .

1. csv AEMERRAZEIUTHR, TJUAESHNERR, ELRBEUTRR, SHREHK

R, BI—1T, PURITRE

SR 1::D%)

amp,value B AR E
offset,value BB mE
frequency,value B ESRER
data length,value BRHNEKE

2. HIERHES—AL—1T. URUTOMFFEZ—FEARBIRNR (IRRFLH—1T), BE

IEXHIEZA.

Second,Volt
xpos,value
Time,Ampl

Second,Value

csv AR RGBT :

(s el I 6 R IV Y Vo

data length 16384
freguency 1000
amp 2
offset 0
phase 0
XpOos value

1 0

2 0.000383

csv XX EMERER, RRBHIER, HE datiEl
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dat X EIREREIEWN T :

1 Source, CH1

2 Second, Value

3 -1.0000000000E-04,-3.764706E-02
.9995800000E-05,-3.764T706E-02
.9999600000E-05,-4.7T05882E-02
.95595400000E-05,-6.11T7T64TE-02
.9895200000E-05,-4.705882E-02
.9595000000E-05,-6.11764TE-D2
.9598800000E-05,-2.82352%E-02
.9598600000E-05,-4.235294E-02
.9558400000E-05.-3.764706E-02

I
|
L

|
LY I ¥ I ¥ B B ¥ B Tt B ¥ )

4.3 mat

1. mat X EE
MAT R —MEXEIEH 128 FHHIXMLEREE (mat_head), M MNEIEETTARN

a) XHLERRMTEMRAERR, R FXE endian_indicator, KRERXZFF IM &R

typedef struct
{

char descriotive[116];
char data_offset[8];

uint16 version; 115t mat SR EREFRRAS
char endian_indicator[2]; MEA IMEE MI, RRK/NHER

}cfg_mat_header_t;

b) BMIERTERLE—MHIRLIMER (data_head, 788 F15), AFHBHIEETH
SRANFTH. BERE, EREFEFER.

IR AN T ERRRR:

typedef struct

{
u32 data_type; IMEW A CFG_MI_MATRIX

u32 array_len;
u32 array_flag_data_type;
u32 array_flag_data_len;

u32 array_flag_data_1;
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u32 array_flag_data_2;

u32 dimensions_array_data_type;
u32 dimensions_array_data_len;
u32 dimensions_array_data_1;
u32 dimensions_array_data_2;
u32 array_name_data_type;

u32 array_name_data_len;

char array_name_data[32]; ///RiEERSHIFLELEA XX _time F & XX_data
u32 data_tag_data_type; IEOEIE X ERR KR

u32 data_tag_data_len; G B8R XEHRAT /N

tmatlab_data_head_t;

Hoh XX_data_type FRnEHERE, XN EWN THEE:

typedef enum

{
CFG_MI_INT8=1, //8 bit, signed
CFG_MI_UINTS, /8 bit, unsigned
CFG_MI_INT16, //16-bit, signed
CFG_MI_UINT16, //16-bit, unsigned
CFG_MI_INT32, //32-bit, signed
CFG_MI_UINT32, //32-bit, unsigned
CFG_MI_SINGLE, /N\EEE 754 single format
CFG_MI_RESERVED1,
CFG_MI_DOUBLE, //=9, IEEE 754 double format

CFG_MI_RESERVED2,
CFG_MI_RESERVED3,

CFG_MI_INT64, //=12, 64-bit, signed

CFG_MI_UINT®64, //64-bit, unsigned

CFG_MI_MATRIX, //MATLAB array
CFG_MI_COMPRESSED, //Compressed Data

CFG_MI_UTFS, //Unicode UTF-8 Encoded Character Data
CFG_MI_UTF186, //Unicode UTF-16 Encoded Character Data
CFG_MI_UTF32, //Unicode UTF-32 Encoded Character Data

}cfg_mat_data_type t;
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2. matlab SHE).mat XEFNAEERT, FRUTARNRENFEEELAFTF. FERX

FRDEIRERNX S, HEEER double, RZEUREF A single

EEE R oE © me €] (2)
Lo amwen | gy (S gme & ()
DR~ QEORE o oam ORERR e mm o mree
{ pERIAR - (gEERe - = < lliealel ~  ~ -
== B SIMULINK B =
ator ) Deskiop » mat
4
MATLAB *  MATLAB #ifl MAT-File fligli
5
RS MAT-file GEFFIERL
Py EUTHR SIS MAT-fle
HEHEER O MATLAR fe2 7.3 SUEEHES (2L 7.3 UGS
#eFED 64 FL, EEAMET 268
= ) MATLAB ks 7 SIEREA (G 7 FEmtR)
ST SPHRESEEA Unicode FR6E
RS
P — @ MATLAB J&z 5 SIEEREA(I v6 FERlE)
= TS RO TEOER B 53
=1
MAT-File
=
mitEeE
Java 875
GUIDE
=5
22
=]
=2
i
IfE
Simulink
Computer Vision System Toolbox
o
Tool
LTE System Toolbox he
1 ne LT i =0

4.4 awg
Awg SR B A text, Awg XES AT DERS :
1. sequence IREFER. tJ81F (ELMA) LATFE, iR sequence 188, A TFEREBAZ

WA, ROBHFERAZMXEER, RONSERBFRGFINSHAR. WIJESROFR, SR

FREWZEE,

amplitude_scale,value sequence B, Value={0~1 BZ =%},

run_mode,mode iz47#E, mode = { countinuous , tcontinuous , burst , step ,
advance }

burst_count,value BRALA B AIBK Y B4, Value=%4#(,

timer_interval,value E 2R At A BB ERNEE, Value=iZ R,

trigger_mode,mode fiiZ L. mode={ button , timer, external }

burst_hold_type,type BRI burst Y= R EBFEEE, type ={ Zero , Start Value , End
Value }

trigger_edge,edge HhERftA BTAIAL AR BRI, edge={ raise, fall }

interp_mode,mode HEE LR Mode = {zero_hold, linear, sinc, sinc_27, sinc_13}
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increasing_strategy,value

decreasing_strategy,value

mark_skew,value

file_type,SDS

start_play_segment,value

#RIEREE ., value={interpolation , return_zero , hold_last ,
multiplication }

MIESREE . value={ decimation , cut_tail , cut_head }

maker_skew BJ{E, Value=iZ =%

MRS H awg XHRE . ((NURIRESHN .awg XHEBIFER). W
FERFER, RERMRNREXHRN.avg XHEEBERT.
BWHEIRER ., value=8%, HIRBIFE, sequence EMNE—NTERFF
Lt

2. segment RER. RERE segement §—17, FBHZELLESHE, ENRER

segment_N FFsL, Hoh N AEHS, MO0 FRKRNM 1,

RERERIRI, RIFEEEESFE file_name RKHH#f,

B 1. €7 file_name F&, B—EIMFFRESTISHNSHR5E, BT

segment_0,file_name,2_stairup_ram.bin,offset,0,amplitude,4,cfg_len,32768,repetition,1,goto,

0,goto_mode,next,marker_switch,1,marker_pos,0,segment_numb,0,segment_store_addr,0,wait_

event,none

goto_mode B{ETI A : next, item,

wait_event BJ{ET] A : none, button, timer, external,

B 2. X file_name 2K, B—EIMFFHETSHNE (E2H2). BAUWT:

segment_0,C1_seg00001.csv,-0.047059,4.141177,50000,1,-1,next,0,0

BFBHAX:

%5 (segment_0), X4 (C1_seg00001.csv), i (-0.047059), 1EE (4.141177), =

#7 (50000), EERH (1), BERS (1, AAE—TSHBEENN next), BEE (next) ,

marker_switch (0), marker_pos (0)
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45 hop

hop XHE R TFEIMAFIINNME., XERADN=ZDEBEREFE=1FRE, DHITFMH: BEUR
RR, WMERER, ARIIER, XHERBA text, TUFHRIE.

Hop XHFB=THURR, HMTHEM, B—1TEME—SHEHEE.

B—ITAXERAS: Ver:1.0

BT AR RFRIRAS : FreqListVer:1.0

BT HRERRNEIREISINC: freq_list_start

TRBINRRBEIRE

REMERRUERIRCLER: freq_list_end

ETREMERER, SRTIREK, GHNHRRER—F, ARXBFARAE, WT:

OrderListVer:1.0 -- SAERERRAS

order_list_start -- SIRBEEREIIFEERIGIRC

order_list_end - SR BRIEREIRERIRIC

AvoidListVer:1.0 -- SZEFIRERAS

avoid_list_start -- ST IRELHIRL AR

avoid_list_end -- KT IRELIRERIRC

HIERDPEBITHIEIEUESE,

36N

Ver:1.0

FregListVer:1.0
freg list start
1,l=+08

2,5e+06
3,5.25253e+06
freqg list_end

OrderListVer:1.0
order list start
1,1

2,2

3,3
order_list end
AvoidListVer:1.0
avoid list start
le+06,1.1e+06
22406, 22406
Se+06, 5e+06
avold list end
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4.6 wavlarb

wav/arb X4 1Q BR X, wav/arb XHHSLEMER (header) 5iRFEIRE (data) WAMERD
., header 2 text #iFE., ML HIER ZHEIEUE,

header WMLAF & “IQData,” R, MXHRIAZIFFFE “IQData,”, 2 text BB
B, F/$ “IQData,” ZEHE T HHIEKRE AR,

REREME wav/arb X4, =M heade ZEATXREF (key_str) #HiTHENT, MR THE
LEXEFHE header PAEHE, WHERFKRAKNEHESZ. IRBSRNER, SEKAR
B, "key_strvalue’ R AN — AR ER, BABMRERZBEUESHE, UTE— wav/arb

MA4EY header L, RARESBTHNEXRFEIX

FileType,lQ,Version,2.0,FileName,test. ARB,DataSourceType,PN9,SymbolLength,512,Symbo
IRate,1000000,ModulationType,16QAM,FilterType,RootCosine,FilterBandwidth,0,FilterAlpha,0.5,
FilterLength,32,0verSampling,2,ActualSampleLength,512,SampleRate,2000000.000000,RMS,0.
684953707203608,DatalLength,1024,IQData,

FileType XAHEE (1Q)
Version RS
DataSourceType

SymbolLength REKE
SymbolRate (SRS
ModulationType UEEE i
FilterType RS R
FilterBandwidth

FilterAlpha RERE
FilterLength R KE

OverSampling TEH#ER

ActualSampleLength
SampleRate KR
DataLength

RMS

IQData
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5 RERY

AEPEET—ERERM. BIXLERF, ROTLITHMEER VISA 5(E sockets, HES

7/

ETHHNGLIINMESHZE, BY TENGF, ROIUFLRESNA,

51 VISA KA

5.1.1 VC++x8l
| Win7 32 L%, Visual Studio

R 75)@EE USBTMC 1 TCP/IP Bl SR, & NI-VISA L&iX “IDN?" @3<REN

1. #TFF Visual Studio 344, #E— VC++ win32 console project,

2. REFEANI-VISA ENRERE, HAAERMMEESE, ARABSHHE:
a) B
£ NI-VISA 288124k visa.h. visatype.h. visa32.lib X, BE1E45F VC++INHHNRIE

RTHFMBE D, 7 projectname.cpp X4 LRI T AT :

#include "visa.h"

#pragma comment(lib,"visa32.lib")

b) #hA:
mi"project>>properties", 1EEMXIEEAMERE c/c++---General’d, ¥ “Additional Include
Directories " TREIE &R & A NI-VISA B0 R K & 2 (% W : C:\Program Files\IVI

Foundation\VISA\WinNT\include), W1 B~
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iteRead Property Pages

Confi paration: |A=u--tn-lm;) *| Platforsm: |hctive Fin3Z) x Confi paration Manager. ..

‘23 Confi puration Properti
General
Debugging
= ety

% General
Optimization
Fraprocassor
Code Generation

Browse Informat

Advanced
Command Line

3 Linker

) Browse Information

1 Build Events

£ Custom Build Step

0 Web Daployment

Additional Include Directorie C:\Program Filexz\IVI Foundation\¥ISA

Resolve #using References

Debug Information Format Program Database for Edit & Continue
Suppress Startup Banner Tas (nologe)

Warning Level Level 3 (F73)

Datact B4-bit Fortability Iss Tes (/WpBd)

Treat Warnings As Errors Wo

Addi tiensl TneludeDirectories
Specifies one or more directories to add to the include path: use semi-
colon delimited list if more than one. GIlpath])

0E Cancel | | Help

AR MXIFEZLMEIR" Linker---General " , 3% “Additional Library Directories” IREEIRE A

NI-VISA B9 28842, (5130 : C:\Program Files\IVI Foundation\VISA\WinNT\include), 1T B Ff~:

USETEC

23 Configuration Properti
General
Debugging
i+
23 Linker
% General
Ingut
Datugging
Systen
Optimization
Embedded IOL
Advanced
Coamand Line
(2 Browse Information
(£ Build Events
(£ Caston Build Step
(2 ¥eb Deployment

iteRead Property Pages

Dutput File 5 (OutDir) /USBTEC_¥r:teEead exe
Show Frograss Hot Sat

Version

Ensble Incremental Linking Tes (/INCRENENTAL)

Suppress Startup Barmer He

Ignore Inmport Library He

Register Dutput Ho

Additional Library Directorie C:VFProgras Files\IVI Foundation\VISA

Output File
Override the default cutput file mame. G/OUT: [£ila])

0K Cancel Help

E3)

Configuration: [Active Debug) > | Platform: IAe\iw(ﬁm) > Cgnfigaration Manager. ..

EEMIIEEAMIERR Linker---Command Line" , % “Additional” IRAYEIZE A visa32.lib,

WTERR:

USH

iteRead Property Pages

Configuration: Ilctiw Mabug) | Platform: |Active (Fin32) 'I Configuration Manager. ..

‘23 Confi quration Froperti
General
Debugging
ac/oe
3 Linker
General
Tnput
Debugging
System
Optimization
Eabedded IDL
Advanced
% Conmand Line
[ Browse Information
C3 Build Events
) Custon Build Step
(23 ¥eb Deployment

411 Options:

/OUT : “Dabug/USETIC ¥ri teRead exe” /INCEEMENTAL /HOLDGO

/PUE: “Debug/USBTHC ¥riteRead pdb” /SUBSYSTEN: CONSOLE

lkernal32. 11b user3Z, lib gdi32. lib winspool. 1ib comdlg3Z, lib

Mdb \% i‘: shell32 1ib ole32 1ib oleant32 1ib wuid lib odbe32 lib
odbecp

Addi tional Optiems:

wiza3Z. lib

0E Cancel | | Help
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£ projectname.cpp {4 _EFRAN visa.h 3Xf4:

#include<visa.h>

4REg:

USBTMC:

int Usbtmc_test()
{

[* This code demonstrates sending synchronous read & write commands */
/* to an USB Test & Measurement Class (USBTMC) instrument using */

/* NI-VISA */

[* The example writes the "*IDN?\n" string to all the USBTMC */
/* devices connected to the system and attempts to read back */
/* results using the write and read functions. */

[* The general flow of the code is  */

I Open Resource Manager */

I Open VISA Session to an Instrument */
r* Write the Identification Query Using viPrintf */

I Try to Read a Response With viScanf */

r* Close the VISA Session */

[FEER Rk R |

ViSession defaultRM,;
ViSession instr;
ViUInt32 numlinstrs;
ViFindList findList;
ViStatus status;
charinstrResourceString[VI_FIND_BUFLEN];
unsigned charbuffer[100];
int i
[** First we must call viOpenDefaultRM to get the manager
*handle. We will store this handle in defaultRM.*/
status=viOpenDefaultRM (&defaultRM);
if (status<VI_SUCCESS)
{
printf ("Could not open a session to the VISA Resource Manager'\n");

return  status;
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/* Find all the USB TMC VISA resources in our system and store the number of

resources in the system in numinstrs. */

status = viFindRsrc (defaultRM, "USB?*INSTR", &findList, &numlnstrs,
instrResourceString);

if (status<Vl_SUCCESS)

{

printf ("An error occurred while finding resources.\nPress 'Enter' to continue.");
fflush(stdin);
getchar();
viClose (defaultRM);
return  status;
}
/** Now we will open VISA sessions to all USB TMC instruments.
* We must use the handle from viOpenDefaultRM and we must
* also use a string that indicates which instrument to open. This
* is called the instrument descriptor. The format for this string
* can be found in the function panel by right clicking on the
* descriptor parameter. After opening a session to the
* device, we will get a handle to the instrument which we
* will use in later VISA functions. The AccessMode and Timeout
* parameters in this function are reserved for future
* functionality. These two parameters are given the value VI_NULL.*/
for (i=0; i<int(numlnstrs); i++)
{
if (i> 0)
{
viFindNext (findList, instrResourceString);
}
status = viOpen (defaultRM, instrResourceString, VI_NULL, VI_NULL, &instr);
if (status<VI_SUCCESS)
{
printf ("Cannot open a session to the device %d.\n", i+1);
continue;
}
/** At this point we now have a session open to the USB TMC instrument.
* We will now use the ViPrintf function to send the device the string "*IDN?\n",
* asking for the device's identification. */

char * cmmand ="*IDN?\n";
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status = viPrintf  (instr, cmmand);
if (status<Vl_SUCCESS)

{
printf ("Error writing to the device %d.\n", i+1);
status = viClose (instr);
continue;

}

/** Now we will attempt to read back a response from the device to
* the identification query that was sent. We will use the viScanf

* function to acquire the data.

* After the data has been read the response is displayed.*/

status = viScanf(instr, "%t", buffer);

if (status<VI_SUCCESS)

{
printf ("Error reading a response from the device %d.\n", i+1);
}
else
{
printf ("\nDevice %d: %s\n", i+1 , buffer);
}

status = viClose (instr);

}

/** Now we will close the session to the instrument using
* viClose. This operation frees all system resources.
status = viClose (defaultRM);

printf("Press 'Enter' to exit.");

fflush(stdin);

getchar();

return O;

}

int _tmain(int argc, _TCHAR* argv[])
{
Usbtmc_test();

return O;

}
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et C:3Documentsz and Settingz\Peter.Chen'\Hy Document=s3\¥Viszual S5tudio Proje...

Device 1: Biglent Technologies.SDGAA32K . SDG6RAI1V3I458F.2.81.81.27R7

Press "Enter’ to exit.

b) TCP/IP:

int TCP_IP_Test(char *plP)
{
char outputBuffer[VI_FIND_BUFLEN];
ViSession defaultRM, instr;
ViStatus status;
/* First we will need to open the default resource manager. */
status = viOpenDefaultRM (&defaultRM);
if (status<VI_SUCCESS)
{

printf("Could not open a session to the VISA Resource Manager'\n");
}
/* Now we will open a session via TCP/IP device */
char head[256] ="TCPIPO::";
char tail[] ="::INSTR";
strcat(head,plP);
strcat(head,tail);
status = viOpen (defaultRM, head, VI_LOAD_CONFIG, VI_NULL, &instr);
if (status<VI_SUCCESS)
{
printf ("An error occurred opening the session\n");
viClose(defaultRM);
}
status = viPrintf(instr, "*idn?\n");
status = viScanf(instr, "%t", outputBuffer);
if (status<VI_SUCCESS)

{

151



SDG R4 F

printf("viRead failed with error code: %x \n",status);

viClose(defaultRM);
}
else
{
printf ("\nMesseage read from device: %*s\n", 0,outputBuffer);
}

status = viClose (instr);
status = viClose (defaultRM);
printf("Press 'Enter' to exit.");
fflush(stdin);

getchar();

return O;

int _tmain(int argc, _TCHAR* argv[])

{
printf("Please input IP address:");
char ip[256];
fflush(stdin);
gets(ip);
TCP_IP_Test(ip);
return O;

}

BITE

et C:\Documents and Settingzs\Peter.Chen\Hy Document=z\¥isual S5tudio Proje...

Please input IP address:18.11.13.238

Messeage read from device: Siglent Technologies SDG6A32E . SDG6XB3I1YI458F.2.81 .01
27R?

Press "Enter’ to exit.
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5.1.2 VB xRl

R : Windows7 32 L% %, Microsoft Visual Basic 6.0

k. o508 USBTMC 1 TCP/IP iBE{ESiR, FH1E NI-VISA £&iX “*IDN?" ©<EKEN

REER,
TEB:

1. #TFF Visual Basic 34, HE—MrENNARFRE.
®REIFA NI-VISA EIRB KR : =i Existing tab of Project>>Add Existing ltem, £ NI-VISA

LEIRZ T "include"S 4 b &K visa32.bas SEFHFMZI Y. TEFAR:
Add Nodule PIX

Haw Existing I
Laok in: I._] include ﬂ &= cF B9~

visadZ. bas
vppiype. bas

File narme: [wiza3Z. bas Open (@3
Files of type: |Basic Files 0% bas) LI ara) j
Help gt |

I~ Den’ + show this dialog in the fatuwrs

2. RS

a) USBTMC:

PrivateFunction Usbtmc_test() AsLong

' This code demonstrates sending synchronous read & write commands
"to an USB Test & Measurement Class (USBTMC) instrument using
"NI-VISA

' The example writes the "*IDN?\n" string to all the USBTMC

" devices connected to the system and attempts to read back

' results using the write and read functions.

' The general flow of the code is

Open Resource Manager

Open VISA Session to an Instrument

Write the Identification Query Using viWrite
Try to Read a Response With viRead
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' Close the VISA Session
Const MAX_CNT = 200

Dim defaultRM AsLong

Dim instrsesn AsLong

Dim numinstrs AsLong

Dim findList AsLong

Dim retCount AsLong

Dim status AsLong

Dim instrResourceString AsString * VI_FIND_BUFLEN
Dim Buffer AsString * MAX_CNT

Dim i Asinteger

' First we must call viOpenDefaultRM to get the manager
"handle. We will store this handle in defaultRM.

status = viOpenDefaultRM(defaultRM)
If (status < VI_SUCCESS) Then

resultTxt.Text = "Could not open a session to the VISA Resource Manager!"

Usbtmc_test = status
ExitFunction
EndIf

' Find all the USB TMC VISA resources in our system and store the
' number of resources in the system in numinstrs.
status = viFindRsrc(defaultRM, "USB?*INSTR", findList,
instrResourceString)

If (status < VI_SUCCESS) Then
resultTxt. Text = "An error occurred while finding resources."
viClose(defaultRM)
Usbtmc_test = status

ExitFunction

EndIf

" Now we will open VISA sessions to all USB TMC instruments.
' We must use the handle from viOpenDefaultRM and we must
' also use a string that indicates which instrument to open. This
'is called the instrument descriptor. The format for this string

' can be found in the function panel by right clicking on the

numinstrs,
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' descriptor parameter. After opening a session to the
' device, we will get a handle to the instrument which we
"will use in later VISA functions. The AccessMode and Timeout
' parameters in this function are reserved for future
' functionality. These two parameters are given the value VI_NULL.
Fori =0 To numinstrs
If (i>0) Then

status = viFindNext(findList, instrResourceString)
Endlf

status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, instrsesn)

If (status < VI_SUCCESS) Then

resultTxt.Text = "Cannot open a session to the device " + CStr(i + 1)
GoTo NextFind
EndIf

' At this point we now have a session open to the USB TMC instrument.
' We will now use the viWrite function to send the device the string "*IDN?",
' asking for the device's identification.
status = viWrite(instrsesn, ""IDN?", 5, retCount)

If (status < VI_SUCCESS) Then

resultTxt. Text = "Error writing to the device."

status = viClose(instrsesn)
GoTo NextFind
EndIf

' Now we will attempt to read back a response from the device to
' the identification query that was sent. We will use the viRead
' function to acquire the data.
' After the data has been read the response is displayed.

status = viRead(instrsesn, Buffer, MAX_CNT, retCount)
If (status < VI_SUCCESS) Then

resultTxt. Text = "Error reading a response from the device." + CStr(i + 1)

Else
resultTxt. Text = "Read from device: " + CStr(i + 1) + " " + Buffer
EndIf
status = viClose(instrsesn)
Nexti
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' Now we will close the session to the instrument using
' viClose. This operation frees all system resources.
status = viClose(defaultRM)
Usbtmc test=0

EndFunction

b) TCP/IP:

PrivateFunction TCP_IP_Test(ByVal ip AsString) AsLong
Dim outputBuffer AsString * VI_FIND_BUFLEN

Dim defaultRM AsLong

Dim instrsesn AsLong

Dim status AsLong

Dim count AsLong

' First we will need to open the default resource manager.
status = viOpenDefaultRM(defaultRM)
If (status < VI_SUCCESS) Then
resultTxt.Text = "Could not open a session to the VISA Resource Manager!"
TCP_IP_Test = status
ExitFunction
EndIf

" Now we will open a session via TCP/IP device
status = viOpen(defaultRM, "TCPIPO:" + ip + ":INSTR", VI_LOAD_CONFIG,
VI_NULL, instrsesn)
If (status < VI_SUCCESS) Then
resultTxt. Text = "An error occurred opening the session"
viClose(defaultRM)
TCP_IP_Test = status
ExitFunction
EndIf

status = viWrite(instrsesn, "IDN?", 5, count)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error writing to the device."
EndlIf
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status = viRead(instrsesn, outputBuffer, VI_FIND_BUFLEN, count)
If (status < VI_SUCCESS) Then
resultTxt. Text = "Error reading a response from the device." + CStr(i + 1)
Else
resultTxt.Text = "read from device:" + outputBuffer
EndIf
status = viClose(instrsesn)
status = viClose(defaultRM)
TCP_IP_Test=0

EndFunction

Button control code:

PrivateSub exitBtn_Click()
End
EndSub
PrivateSub tcpipBtn_Click()
Dim stat AsLong
stat = TCP_IP_Test(ipTxt.Text)
If (stat < VI_SUCCESS) Then
resultTxt. Text = Hex(stat)
EndIf
EndSub
PrivateSub usbBtn_Click()
Dim stat AsLong
stat = Usbtmc_test
If (stat < VI_SUCCESS) Then
resultTxt. Text = Hex(stat)
EndIf
EndSub
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1B1T4

= Foral =13

USETMC

|1D. 11.13.215

read from device:Siglent

Technelogies, SIG2042K, SCEGHE, 1. 01.01. 191

Exit

5.1.3 MATLAB R

#E: Windows 7 32 i % MATLAB R2013a

k. 758 USBTMC 1 TCP/IP iBiE{ESiR, FH1E NI-VISA £.&iX “*IDN?" ©<$EKENH

1. TH MATLAB ¥, HEXHmBER., AR D, BB REX A :
"D\USBTMC_TCPIP_Demo",
2. mik7E Matlab FREH File>>New>>Script SIZ— M= M X5,

3. 4Rig:

a) USBTMC:

function USBTMC _test()

% This code demonstrates sending synchronous read & write commands
% to an USB Test & Measurement Class (USBTMC) instrument using

% NI-VISA

%Create a VISA-USB object connected to a USB instrument
vu = visa('ni','USBO0::0xF4ED::0xEE3A::sdg2000x::INSTR");

%Open the VISA object created
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fopen(vu);

%Send the string "*IDN?",asking for the device's identification.
fprintf(vu,IDN?");

%Request the data
outputbuffer = fscanf(vu);

disp(outputbuffer);
%Close the VISA object
fclose(vu);

delete(vu);

clear vu;

end

BITER:

Command Yindow
»» USBIMC_test
Siglent Technologies, SDGE2102E, sdg2000=, 2. 01.01. 23E3

Jx > |

b) TCP/IP:

E—1NZ A TCP_IP_Test BIEK:

function TCP_IP_test()
% This code demonstrates sending synchronous read & write commands
% to an TCP/IP instrument using NI-VISA

%Create a VISA-TCPIP object connected to an instrument
Y%configured with IP address.
vt = visa('ni',[ TCPIP0::','"10.11.13.32","::INSTR']);

%Open the VISA object created
fopen(vt);
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%Send the string "*IDN?",asking for the device's identification.
fprintf(vt,”"IDN?");

%Request the data
outputbuffer = fscanf(vt);

disp(outputbuffer);

%Close the VISA object
fclose(vt);
delete(vt);

clear vi;

end

BITER:

Command YWindow
»» TCP_IP test
Siglent Technologies, SDG2102¥E, sdz2000x, 2. 01. 01, 23R3

Jx > |

5.1.4 LabVIEW Rl

#E: Windows 7 32 i £ %, LabVIEW 2011

iR : 7 5EE USBTMC 1 TCP/IP iBia{E SR, F1E NI-VISA L&iX “*IDN?" &K Ef

1. fJFF LabVIEW 244, FHEIZ—1 VIXHK,

2. HIEG, AERIERFAE, AEEFPEZEHRM VISA BREZ. #EiRAA. HiREHU
KBRS HUERAT o

3. {IHEERE.AE VISA RREIR, FERHE BN VISA Palette thi AN T5IT08E:

VISA Write. VISA Read. VISA Open #1 VISA Close,
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4. WMTEEEE):

Read buffer
- 256
eturn count

VISA resource name

(B e e
% b
L& W

5. MVISA BRZIIRPEFRERBFEHBITER.

USBO:OxFAEC:OxEE38:0123456789INSTR

FEBlh, VIFTHT—1 USBTMC i&&EM VISA RiF, HEIEES*IDN? &<, UIKEIE
MImE{E., HFAEBETKE, VIEXHE VISARiE,
6. & TCP/IP 5iR&EBERMT USBTMC, BRIRFER VISA SR VISA ZRHIRE
ARE 110, LabVIEW BUNRENFE 10, ARBETH R, ARG NRERKE hiEiE “Synchronous 1/0
Mod >>Synchronous” PASLII[E S 5 A\ EEEHE .

7. BRETEEERE:

Read buffer
2% Return count

b error out
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8. A IP itz iTiEE.,

IP address
10.11.9.230

Read buffer

Siglent Technologies, SDG2042X,SDG2XBA3150009,2.01.01.08

Return count

56

error in ( no error } error out

status UES status code
i QHD | HO

source source

5.1.5 Python2 ;=
Environment: Python2.7, PyVISA1.4

(IBEREK Python27 &% PyVISA, B Mit F3REX PYWISA £ ES:
https://pyvisa.readthedocs.io/en/stable/getting.html)
iR : £ Python BFIAFE— 8 MREMERIER (0x1000, 0x2000, 0x3000, 0x4000,

0x5000, 0x6000, 0x7000, Ox7ff) FREKIEFERFHN “wavel.bin”, REKELKEXIRE, &

B MNEEEBUZ R HAREFEA “wave2.bin”,

THEMANASE:

#!/usr/bin/env python2.7
-*- coding: utf-8 -*-

import visa
import time

import binascii

#USB resource of Device
device_resource = "USBO0::0xF4EC::0x1101::#15::INSTR"

#Little endian, 16-bit2's complement
wave_points = [0x0010, 0x0020, 0x0030, 0x0040, 0x0050, 0x0060, 0x0070, Oxff7f]

def create_wave_file():
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create a file
f = open("wave1.bin", "wb")
for a in wave_points:
b = hex(a)
b = b[2:]
len_b = len(b)
if (0 ==len_b):
b ='0000'
elif (1 ==len_b):
b='000"+b
elif (2 ==len_b):
b='00"+b
elif (3 ==len_b):
b="'0"+b
¢ = binascii.a2b_hex(b) #Hexadecimal integer to ASCii encoded string
f.write(c)

f.close()

def send_wawe_data(dev):

send wave1.bin to the device

f = open("wave1.bin", "rb") #wave1.bin is the waveform to be sent

data = f.read()

print 'write bytes:' len(data)

dev.write("C1:WVDT
WVNM,wave1,FREQ,2000.0,AMPL,4.0,0FST,0.0,PHASE,0.0,WAVEDATA,%s" % (data)) #'X"
series (SDG1000X/SDG2000X/SDG6000X/X-E)

dev.write("C1:ARWV NAME,wave1")

f.close()

def get_wave_data(dev):

get wave from the devide
f = open("wave2.bin", "wb") #save the waveform as wave2.bin
dev.write("WVDT? user,wave1") #'X" series
(SDG1000X/SDG2000X/SDG6000X/X-E)
time.sleep(1)
data = dev.read()
data_pos = data.find("WAVEDATA,") + len("WAVEDATA,")
print data[0:data_pos]
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wave_data = data[data_pos:]
print 'read bytes:',len(wave_data)
f.write(wave_data)

f.close()

if _name__ =='_main__"
device = visa.instrument(device_resource, timeout=5000, chunk_size = 40%*1024)
create_wave_file()
send_wawe_data(device)

get_wave_data(device)

by LR -

SIGLENT M 100usf Delay:0.00s

5.1.6 Python3 ;=

Environment: Python3.6.5, PyVISA 1.9

#!/usr/bin/env python3.6.5
# -*- coding: utf-8 -*-

import visa
import time

import binascii

#USB resource of Device
device_resource = 'USBO0::0xF4EC::0x1102::SDG7ABAQ5R0010::INSTR'
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#Little endian, 16-bit2's complement
wave_points = [0x0080, 0x0070, 0x0060, 0x0040, 0x0050, 0x0060, 0x0070, Oxff7f,0x0050]

def create_wave_file():

create a file
f = open("wave1.bin", "wb")
for a in wave_points:
b = hex(a)
b = b[2:]
len_b = len(b)
if (0 == len_b):
b ='0000'
elif (1 ==len_b):
b='000"+b
elif (2 ==len_b):
b='00"+b
elif (3 ==len_b):
b="'0"+b
¢ = binascii.a2b_hex(b) #Hexadecimal integer to ASCii encoded string
f.write(c)

f.close()

def send_wawe_data(dev):

send wave1.bin to the device

f = open("wave1.bin", "rb") #wave1.bin is the waveform to be sent

data = f.read()

print (‘'write bytes:%s'%len(data))

dev.write("C1:WVDT
WVNM,wave1,FREQ,2000.0,AMPL,4.0,0FST,0.0,PHASE,0.0,WAVEDATA,%s" % (data)) #'X"
series (SDG1000X/SDG2000X/SDG6000X/X-E)

dev.write("C1:ARWV NAME,wave1")

f.close()

def get wave_data(dev):

get wave from the devide
f = open("wave2.bin", "wb") #save the waveform as wave2.bin
dev.write("WVDT? user,wave1") #'X" series

(SDG1000X/SDG2000X/SDG6000X/X-E)
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time.sleep(1)

data = dev.read()

data_pos = data.find("WAVEDATA,") + len("WAVEDATA,")
print (data[0:data_pos])

wave_data = data[data_pos:]

print ('read bytes:%s'%len(wave_data))
f.write(wave_data)

f.close()

if _name__=='_main__"
rm=visa.ResourceManager()
device =rm.open_resource(device_resource, timeout=50000, chunk_size =
24%1024*1024)
create_wave_file()
send_wawe_data(device)

#get_wave_data(device)

5.1.7 Python3(Digital)

Environment: Python3.6.5, PyVISA 1.9

#!/usr/bin/env python3
-*- coding: utf-8 -*-

import pyvisa as visa
import time

import binascii

# resource of Device
device_resource ='USB0::0xF4EC::0x1102::SDG7ACBC5MO0005::INSTR'

d7 ='000011110000" # Data stream of ch7 in digital
d6 ='101010101010" # Data stream of ch6 in digital
d5='010101010101" # Data stream of ch5 in digital
d4 ='110011001100" # Data stream of ch4 in digital
d3 ='000000111111"  # Data stream of ch3 in digital
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d2 ='111000111000" # Data stream of ch2 in digital

d1="001100110011" # Data stream of ch1 in digital

d0 ="110011001100" # Data stream of chO in digital

other ='00000000" # The last 8ch datais 0

wave_points =[]

fori7, 6, i5, i4, i3, i2, i1, i0 in zip(d7, d6, d5, d4, d3, d2, d1, d0):
a=i7T+i6+i5+i4 +i3 +i2 +i1 +i0 + other

wave_points.append(int(a, 2))

def create_wave_file():

create a file
f = open("wave1.bin", "wb")
for a in wave_points:
b = hex(a)
b = b[2:]
len_b = len(b)
if (0 == len_b):
b ='0000'
elif (1 ==len_b):
b='000"+b
elif (2 ==len_b):
b='00"+b
elif (3 ==len_b):
b="'0"+b
¢ = binascii.unhexlify(b) # Hexadecimal integer to ASCii encoded string
f.write(c)

f.close()

def send_wave_data(dev):

send wave1.bin to the device
f = open("wave1.bin", "rb") # wave1.bin is the waveform to be sent

data = f.read().decode("latin1")

print(‘'write class:', type(data))

print(‘'write bytes:', len(data))

dev.write_termination ="

dev.write("DIG:WVDT WVNM,digital, WAVEDATA,%s" % (data), encoding='"latin1')

f.close()
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return data

if _name__=='_main__"
rm = visa.ResourceManager()

device = rm.open_resource(device_resource, timeout=50000, chunk_size=24 * 1024 *

1024)
create_wave _file()
send = send_wave_data(device)
print('Done")

5.2 Sockets p BRI

5.2.1 Python iRl

Python H— BT /10 socket & ARRKBIMEER, ETF sockets &S HY Python AT F

FRAFHRTETHANNEES,

. Windows 7 32 i %%, Pythonv2.7.5
Description: JH— socket, KiIXZ—NEEHRIEHBEIRHIT 10 REX I socket, TE: ZF

) SCPI Sr LEIFRFELALL “\n” FFF (#817) FRERE,

TEHZHARNAE:

#!/usr/bin/env python
#-*- coding:utf-8 —*-

H#

T

# The short script is a example that open a socket, sends a query,

# print the return message and closes the socket.
#H

T

import socket  # for sockets
import sys # for exit

import time # for sleep
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+H*

remote_ip ="10.11.13.40" # should match the instrument’s IP address
port = 5025 # the port number of the instrument service
count=0
def SocketConnect():
try:
#create an AF_INET, STREAM socket (TCP)
s = socket.socket(socket.AF_INET, socket.SOCK_STREAM)
except socket.error:
print ('Failed to create socket.")
sys.exit();
try:
#Connect to remote server
s.connect((remote_ip , port))
except socket.error:
print (‘failed to connect to ip ' + remote_ip)

return s

def SocketQuery(Sock, cmd):

try :
#Send cmd string
Sock.sendall(cmd)
time.sleep(1)

except socket.error:
#Send failed
print (‘"Send failed')
sys.exit()

reply = Sock.recv(4096)

return reply

def SocketClose(Sock):
#close the socket
Sock.close()
time.sleep(.300)

def main():
global remote_ip

global port
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global count

# Body: send the SCPI commands *IDN? 10 times and print the return message
s = SocketConnect()
for i in range(10):
qStr = SocketQuery(s, b IDN?\n")
print (str(count) + ":: " + str(qStr))
count = count + 1
SocketClose(s)

input('Press "Enter" to exit')

if _name__=='_main__

proc = main()

‘% D:\Python2Ty\python. exe -|d ﬂ
B

: Siglent Technologies.SDG6A52HE . #15.6.81.
:: Siglent Technologies . SDGOBS2E H#15.6.81.
:: Siglent Technologies,.SDG6@S2ZK . #15.6.81.
= Siglent Technologies , SDG6AS2HE , #15.6.81.
:: Siglent Technologies.SDGAAS2E . #15.6.81.
: S8diglent Technologies , SDGOEAS2E  #15.6.81.

:: Siglent Technologies , SDGEAS2H . #15.6.81.

:: 8iglent Technologies . SDG6B52X. #15.6.81.

: 8iglent Technologies.SDG6B52X.H#15.6.81.
:: Siglent Technologies . SDGEAS2H . #15.6.81.

Press "Enter" to exit
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ARWV ___ ArbWaVe

BSWV  BaSic WaVe
BTWV _ BursTWaVe
BUZZ BUZZer

CHDR Comm HeaDeR
COUP __ COUPIing
CMBN  CoMBiNe

FCNT _ FreqCouNTer

HARM _HARMonic

I

IQ:CENTIQ:CENTerfreq
IQ:SAMPIQ:SAMPlerate
1Q:SYMBIQ:SYMBolrate
IQ:AMPLIQ:AMPLitude
IQ:IQAD:GAINIQ:IQADjustment:GAIN
1Q:1QAD:I0FFsetlQ:IQADjustment:IOFFset
1Q:IQAD:QOFFsetlQ:IQADjustment: QOFFset
1Q:IQAD:QSKIQ:IQADjustment:QSKew
IQ:TRIG:SOURIQ:TRIGger:SOURce
IQ:WAVE:BUILIQ:WAVEIload:BUILtin
IQ:WAVE:USERIQ:WAVEIload:USERstored
IVNT _INVERT
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L
LAGG _ LAnGuaGe

M

MDWYV __ MoDulateWaVe
MODE MODE

N

NBFM  NumBer ForMat

OUTP__ OUTPut

PACP  ParaCoPy

ROSC ROSCillator

S

SCFG _Sys CFG

SCSV _ SCreen_SaVe

SWWV__ SweepWaVe

SYNC SYNC

STL  Storelist
SYST:COMM:LAN:IPADSYSTem:COMMunicate:LAN:IPADdress
SYST:COMM:LAN:SMASSYSTem:COMMunicate:L AN:SMASk
SYST:COMM :LAN:GAT  SYSTem:COMMunicate:LAN:GATeway
SRATE SampleRATE

w

WVDT  WVDT

\Y
VOLTPRTVOLTPRT

VKEY  VirtualKEY
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